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B.Com. DEGREE EXAMINATION, APRIL 2025 

Fifth Semester 

Commerce 

CORPORATE ACCOUNTING  

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Write a short note on issue of shares at Premium. 

 ¤Ÿª¯zvÀ £[SPÎß öÁÎ±k SÔzx J¸ SÔ¨¦ u¸P. 

2. Write a short note on the insurance policy method of 
redemption of debentures. 

 PhÜmk¨ £zvμ[PøÍ «m£uØPõÚ Põ¨¥mkU öPõÒøP 
•øÓ £ØÔ J¸ ]Ö SÔ¨¦ u¸P. 

3. What do you mean by Weighted Time Ratio? 

 PnUQh¨£mh ÷|μ ÂQu® GßÓõÀ GßÚ? 

4. What do you mean by “sales ratio”? Give any four items of 
expenses which are to be apportioned on the basis of sales 
ratio. 

 “ÂØ£øÚ ÂQu®” GßÓõÀ GßÚ? ÂØ£øÚ ÂQuzvß 
Ai¨£øh°À £Qº¢uÎUP¨£h ÷Ási¯ ö\»ÄPÎÀ 
H÷uÝ® |õßS ö\»ÄPøÍ uμÄ®. 

Sub. Code 
22BCO5C1 
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5. What is the purpose of the Profit and Loss Appropriation 
Account? 

 C»õ£® ©ØÖ® |mh JxURmkU PnUQß ÷|õUP® GßÚ? 

6. Define Divisible Profits in company accounting. 

 {ÖÁÚzvß PnUQ¯¼À ÁSUPUTi¯ »õ£zøu 
Áøμ¯ÖUPÄ®. 

7. What do you mean by net payment method? 

 {Pμ Pmhn •øÓ GßÓõÀ GßÚ? 

8. What is “capital reserve”? 

 “‰»uÚ C¸¨¦” GßÓõÀ GßÚ? 

9. What do you mean by “secured creditors”? 

 “£õxPõ¨£õÚ PhÜmhõÍºPÒ” GßÓõÀ ¯õº? 

10. Define : contributory. 

 Áøμ¯øÓ : Põsm›¤³mh›. 

 Part B  (5 × 5 = 25) 

Answer all questions choosing either (a) or (b). 

11. (a) How will you determine the minimum fresh issue of 
shares to be made while redemption  

  (i)  at par;  

  (ii)  at premium and  

  (iii)  at discount. 
  £[SPÎß «m¤ß÷£õx SøÓ¢u£m\ ¦v¯ 

öÁÎ±møh ¤ßÁ¸® JÆöÁõ¸ `Ç¼¾® GÆÁõÖ 
wº©õÛ¨¥ºPÒ? 

  (i) Cøn Âø»°À 

  (ii) ¤Ÿª¯zvÀ 

  (iii) uÒÐ£i°À. 

Or 
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 (b) The balance sheet of Ext Ltd. as on 31 March 2011 
was as follows : 

Liabilities Amount Assets Amount 

Share Capital :   Sundry Assets 10,95,000 

6,000 Equity Shares of Bank Balance 4,20,000 

Rs. 100 Each Fully Paid 6,00,000   

3,000 Redeemable     

Preference Shares   

of Rs. 100 Each 3,00,000   

General reserve 2,40,000   

Profit and Loss A/c 1,50,000   

Sundry Creditors 2,25,000    

 15,15,000   15,15,000

  On that date, the preference shares were redeemed 
at par. You are required to pass journal entries and 
also prepare balance sheet soon after the 
redemption. 

  Ext Ltd.&Cß C¸¨¦{ø» 31 ©õºa 2011 AßÖ 
¤ßÁ¸©õÖ C¸¢ux : 

ö£õÖ¨¦PÒ öuõøP ö\õzxPÒ öuõøP 

£[S ‰»uÚ® :   £À÷ÁÖ   

6,000 ÷|ºø© £[SPÒ ö\õzxUPÒ 10,95,000 

¹. 100 (JÆöÁõßÖ®   Á[Q C¸¨¦ 4,20,000 
•Êø©¯õP ö\¾zu¨£mhx) 6,00,000   

3,000 «möhkUPUTi¯     

•ßÝ›ø©¨ £[SPÒ    

JÆöÁõßÖ® ¹.100 3,00,000   

ö£õx C¸¨¦ 2,40,000   

C»õ£ ©ØÖ® |mh P/S 1,50,000   

£Ø£» PhÜ¢÷uõº 2,25,000    

 15,15,000   15,15,000
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  SÔ¨¤mh A¢uz ÷uv°À, •ßÝ›ø©¨ £[SPÒ 
öÁÎ°h¨£mh A÷u Âø»°À «möhkUP¨£mhÚ. 
SÔ¨÷£mk¨ £vÄPøÍ²®, «mP¨£mh¤ß EÒÍ 
C¸¨¦{ø»U SÔ¨ø£²® u¯õº ö\´¯Ä®. 

12. (a) What are the necessary journal entries to be passed 
when the same set of books is continued? 

  A÷u ¦zuP[PÎß öuõS¨ø£z öuõh¸®÷£õx, £vÄ 
ö\´¯ ÷Ási¯ SÔ¨÷£mk £vÄPÒ ¯õøÁ? 

Or 

 (b) Thambu Ltd. was registered on 1 October 2009 to 
acquire the running business of Shetty & Co. with 
effect from 1 April 2009. The following was the 
profit and loss account to the company as on  
31 March 2010 : 

Particulars Amount Particulars Amount 

To Office Expenses 70,000 By Gross  3,00,000

To Formation Expenses       Profit b/d  

      (Written off) 20,000   

To Stationery and Postage 10,000   

To Selling Expenses 90,000   

To Director’s Fees 30,000   

To Net Profit 80,000   

 3,00,000  3,00,000

  You are required to prepare a statement showing 
profit earned by the company in the pre and post 
incorporation periods. The total sales for the year 
took place in the ratio of 1:2 before and after 
incorporation, respectively. 
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  Thambu Ltd. GßÓ {ÖÁÚ©õÚx Shetty & Co. GßÓ 
ÁoP ìuõ£zøu 1 H¨μÀ 2009 •uÀ Cønzx  
1 AU÷hõ£º 2009 AßÖ £vÄ ö\´¯¨£mhx. 31 
©õºa 2010 AßÖ {ÖÁÚzvß C»õ£® ©ØÖ® |mhU 
PnUS ¤ßÁ¸©õÖ : 

ÂÁμ[PÒ öuõøP ÂÁμ[PÒ öuõøP

A¾Á»P ö\»ÄPÐUS 70,000  3,00,000

E¸ÁõUP ö\»ÄPÒ     

(÷£õUöPÊu¨£mhx) 20,000   

GÊxö£õ¸Ò ©ØÖ® 
u£õÀPÐUS 

10,000   

ÂØ£øÚ ö\»ÄPÐUS 90,000   

C¯USÚ›ß Fv¯® 30,000   

{Pμ C»õ£® 80,000   

 3,00,000  3,00,000

  Cøn¨£uØS •¢øu¯ ©ØÖ® ¤¢øu¯ Põ»[PÎÀ 
{ÖÁÚ®Dmi¯ »õ£zøuU Põmk® AÔUøPø¯ 
u¯õ›UPÄ®. BskUPõÚ ö©õzu ÂØ£øÚ¯õÚx 
•øÓ÷¯ 1:2 GßÓ ÂQuzvÀ CønUP¨£kÁuØS 
•ß¦® ¤ß¦® |h¢ux. 

13. (a) From the following information Prepare the Profit 
and Loss Account and Balance Sheet of Bright Ltd. 
for the year ending 31st March, 2024 : 

                                           Rs. 

  Sales     25,00,000 

  Purchases    15,00,000 

  Wages    2,00,000 

  Depreciation on Machinery 1,00,000 

  Administrative Expenses 1,50,000 

  Provision for Bad Debts   30,000 

  Long-term Loans   5,00,000 
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  Equity Share Capital   10,00,000 

  General Reserve    1,00,000 

  Machinery (Net of Depreciation)  8,00,000 

  Inventory     3,00,000 

  Sundry Debtors    4,00,000 

  Cash at Bank    1,50,000 

  ¤ßÁ¸® uPÁ¼À C¸¢x 31 ©õºa 2024 AßÖ 
•iÁøh²® BsiØPõÚ Bright Ltd. Cß C»õ£® 
©ØÖ® |mhU PnUS ©ØÖ® C¸¨¦{ø»U 
SÔ¨¤øÚ u¯õ›UPÄ®. 

                                                                                         ¹. 

  ÂØ£øÚ     25,00,000 

  öPõÒ•uÀ    15,00,000 

  Fv¯®    2,00,000 

  C¯¢vμ[PÒ «uõÚ ÷u´©õÚ® 1,00,000 

  {ºÁõPa ö\»ÄPÒ   1,50,000 

  ÁõμõU PhßPÐUPõÚ JxURk  30,000 

  }sh Põ» PhßPÒ   5,00,000 

  ÷|ºø© £[S ‰»uÚ®   10,00,000 

  ö£õx C¸¨¦    1,00,000 

  {Pμ ÷u´©õÚ® (C¯¢vμ[PÒ)  8,00,000 

  C¸¨¦     3,00,000 

  £À÷ÁÖ PhÚõÎPÒ   4,00,000 

  Á[Q°À £n®    1,50,000 

Or 
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 (b) List out each components of Balance Sheet  
(As per the format given by Company act 2013). 

  {ÖÁÚa \mh® 2013 ÁÇ[Q¯ ÁiÁø©¨¤ß£i 
C¸¨¦{ø»U SÔ¨¤ß JÆöÁõ¸ TÖPøÍ²® 
£mi¯¼k[PÒ. 

14. (a) A Ltd. is absorbed by B Ltd., the consideration being 
the take over of liabilities; the payment of cost of 
absorption as a part of purchase consideration not 
exceeding Rs. 30,000 (actual cost Rs. 22,000); the 
payment of the debentures of Rs. 1,75,000  
(Rs.1,92,500) at a premium of 10% in 12% 
debentures issued at par; and the payment of Rs. 15 
per share in cash and allotment of 15% preference 
share of Rs. 10 each and 5 equity shares of Rs. 10 
each fully paid for every 2 shares in A Ltd. The 
number of shares of the vendor company are 
3,00,000 of Rs. 10 each fully paid. You are required 
to calculate the purchase consideration as per 
Accounting Standard-14 assuming it is an 
absorption in the nature of purchase. 

  A Ltd. GßÓ {ÖÁÚ® B Ltd. {ÖÁÚzuõÀ 
Áõ[P¨£kQÓx. C¢uU Áõ[Su¾UPõÚ £º÷\ì 
Pßêh÷μåß R÷Ç SÔ¨¤h¨£mkÒÍÁõÖ EÒÍx. 

  ö£õÖ¨¦PøÍ (liabilities) GkzxUöPõÒÁx. 

  Áõ[Su¾UPõÚ ö\»ÂÚzøu £›^»øÚ°ß J¸ 
£Sv¯õPa ö\¾zxÁx, AÚõÀ ¹. 30,000 I «ÓU 
Thõx (A\À ö\»Ä ¹. 22,000). 

  ¹.1,75,000 ©v¨¦ÒÍ PhÜmk¨£zvμ[PøÍ 
(debentures) 10% •øÚ©zxhß 12% PhÛmk 
£zvμ[PÍõP ÁÇ[SuÀ ({Pμ©õP ¹. 1,92,500). 

  A Ltd. {ÖÁÚzvß JÆöÁõ¸ 2 £[SPÐUS® R÷Ç 
EÒÍøÁ ÁÇ[P¨£k® : 

  ¹. 15 öμõUP©õP (Cash) 

  ¹. 10 ©v¨¦ÒÍ 15% •ßÝ›ø© £[S (Preference 
Share) JßÖ 
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  ¹.10 ©v¨¦ÒÍ 5 CUÂmi £[SPÒ (Equity  Share) 
•Êø©¯õP ö\¾zu¨£mh {ø»°À ÁÇ[P¨£k®. 

  A Ltd. {ÖÁÚzvß ö©õzu £[S 3,00,000 (¹. 10 
©v¨¦ÒÍøÁ, •Êø©¯õP ö\¾zu¨£mhøÁ) 

  }[PÒ £º÷\ì Pßêh÷μåøÚ PnUQh ÷Ásk® 
GÚ ÷PmP¨£mkÒÏºPÒ. 

Or 

 (b) Raj Co. Ltd. has the following shares as a part of its 
share capital : 

  (i) 20,000 10% Preference shares of Rs. 100 each 
fully paid 

  (ii) 1,00,000 Equity shares of Rs. 5 each fully paid 

  (iii)  40,000 Equity shares of Rs. 10 each, Rs. 7.50 
called and paid up The Company has decided 
to alter the share capital as follows : 

   (1) To sub-divide the preference shares into 
shares of Rs. 10 each. 

   (2) To consolidate the equity shares of Rs. 5 
each into shares of Rs. 10 each. 

   (3) To convert the partly paid-up equity 
shares into fully paid-up shares of  
Rs.7.50 each, with necessary legal 
sanctions. Journalize the alterations. 

  μõä ÷Põ. ¼ªöhm Auß £[S ‰»uÚzvß J¸ 
£Sv¯õP ¤ßÁ¸® £[SPøÍU öPõskÒÍx : 

  (i) 10% 20,000 (•ßÝ›ø©¨ £[SPÒ) ¹.100 
JÆöÁõßÖ® •Êø©¯õP ö\¾zu¨£mhx 

  (ii) 1,00,000 ÷|ºø© £[SPÒ ¹. 5 JÆöÁõßÖ® 
•Êø©¯õP ö\¾zu¨£mhx 

  (iii) 40,000 ÷|ºø© £[SPÒ ¹. 10 u»õ, (¹.7.50 
öPõkUP¨£mkÒÍx)  

   {ÖÁÚ® £[S ‰»uÚzøu ¤ßÁ¸©õÖ ©õØÓ 
•iÄ ö\´xÒÍx : 
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   (1) •ßÝ›ø©¨ £[SPøÍ ¹. 10 ©v¨¦ÒÍ 
£[SPÍõP¨ ¤›UP 

   (2) ¹.5 ©v¨¦ÒÍ DUÂmi £[SPøÍ ¹.10 
©v¨¦ÒÍ £[SPÍõP J¸ø©¨£kzxuÀ 

   (3) £Sv ö\¾zu¨£mh DUÂmi £[SPøÍ, 
÷uøÁ¯õÚ \mh AÝ©vPÐhß ¹.7.50 
©v¨¦ÒÍ •Êø©¯õP ö\¾zu¨£mh 
£[SPÍõP ©õØÖuÀ. 

   SÔ¨÷£mk¨ £vÄPøÍz u¸P.  

15. (a) The following particulars relate to a limited 
company which went into voluntary liquidation : 

  Preferential Creditors Rs. 1,00,000  

  Unsecured Creditors Rs. 2,32,000  

  6% Debentures Rs. 1,20,000 

  The assets realized Rs. 3,20,000. The expenses of 
liquidation amounted to Rs. 6,000. and the 
liquidator’s remuneration was agreed at 2 2

1 % on the 

amount realized and 2% of the amount paid to 
unsecured creditors including the preferential 
creditors. Show the liquidator’s final statement of 
account. 

  ¤ßÁ¸® ÂÁμ[PÒ ußÚõºÁ Pø»¨¦US ö\ßÓ 
Áøμ¯ÖUP¨£mh {ÖÁÚzxhß öuõhº¦øh¯x. 

  •ßÝ›ø© PhßuõμºPÒ ¹. 1,00,000  

  ¤øn¯©ØÓ PhßuõμºPÒ ¹. 2,32,000  

  6% Phß £zvμ[PÒ ¹. 1,20,000 

  ö\õzxUPÒ ¹.3,20,000&US ö£Ó¨£mhx. Pø»¨¦ 
ö\»ÄPÒ ¹.6,000 BS®. ©ØÖ® Pø»¨£õÍ¸US 

Fv¯® ©Ö©v¨¥mk öuõøP°À 2 2
1 % ©ØÖ® 

•ßÝ›ø© PhÚõÎPÒ Em£h ¤øn¯©ØÓ 
PhÚõÎPÐUS ö\¾zu¨£mh öuõøP°À 2% GÚ 
öPõkUP¨£h ÷Áskö©Ú J¨¦UöPõÒÍ¨£mhx. 
Pø»¨£õÍ›ß PnUS AÔUøPø¯U PõmkP. 

Or 
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 (b) A company has an average capital employed of  
Rs. 10,00,000, with a normal rate of return of 12%. 
The Company’s actual net profit for the year is 
Rs.1,20,000. Using the super profit method, 
calculate the goodwill of the company based on the 
given information. 

  J¸ {ÖÁÚzvß \μõ\› ‰»uÚ® ¹. 10,00,000, 
\õuõμn Á¸Áõ´ ÂQu® 12%. {ÖÁÚzvß 
Esø©¯õÚ {Pμ »õ£® ¹.1,20,000 BS®. 
÷©ßø©¯õÚ »õ£ •øÓø¯¨ £¯ß£kzv, 
öPõkUP¨£mh uPÁ¼ß Ai¨£øh°À {ÖÁÚzvß 
|Øö£¯º ©v¨ø£ PnUQk[PÒ. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. A company offered 5,000 shares of Rs. 10 each, at a 
discount of 10%, to the public for subscription. Money was 
payable as follows: Rs. 4 on application, Rs. 3 on 
allotment, Balance as and when called up. Applications 
were received for 4,000 shares. The final call had not yet 
been made. All applicants paid application and allotment 
moneys. During the year the company made a net profit 
of Rs. 15,000. It decided to write off the discount of  
Rs. 2,000 out of the profit for the year. You are requested 
to prepare the necessary ledger accounts and show how 
the items would appear in the company’s balance sheet. 

 J¸ {ÖÁÚ® 5,000 £[SPøÍ J¸ £[QØS ¹.10 u»õ 
GßÖ, 10% uÒÐ£i°À öÁÎ°mhx. £n® ¤ßÁ¸©õÖ 
ö\¾zu¨£h ÷Põμ¨£mhx : 

 ¹. 4 Âsn¨£zvØS, ¹.3 JxURmiß÷£õx, «u•ÒÍ 
£n® AøÇU¤ß÷£õx, 4,000 £[SPÐUS 
Âsn¨£[PÒ ö£Ó¨£mhÚ. CÖv AøÇ¨¦ CßÝ® 
ö\´¯¨£hÂÀø». AøÚzx Âsn¨£uõμºPÐ® 
Âsn¨£® ©ØÖ® JxURk £nzøu ö\¾zvÚº. A¢u  
BsiÀ {ÖÁÚ® {Pμ »õ£® ¹.15,000 \®£õvzxÒÍx. 
uÒÐ£i ¹£õø¯ »õ£zvÀ 2,000 Gkzx C»õ£zv¼¸¢x 
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÷£õUöPÊu •iÄ ö\´¯¨£mhx. BskUPõÚ 
÷uøÁ¯õÚ ÷£÷μmk PnUSPøÍz u¯õº ö\´x, 
{ÖÁÚzvß C¸¨¦{ø»U SÔ¨¤À ÂÁμ[PÒ GÆÁõÖ 
÷uõßÖ® Gß£øuU Põs¤US©õÖ ÷PmkU 
öPõÒÍ¨£kQÕºPÒ.  

17. Doss Ltd. was formed with a nominal capital of  
Rs. 20,00,000 consisting of 1,00,000 equity shares of  
Rs. 20 each and 6,000 preference shares of Rs. 100 each to 
acquire on 1st April 2011, the business of Yoga & Co. 
Yoga’s balance sheet as on 31 March 2011 was as follows : 

Liabilities Amount Assets Amount 

Capital A/c :   Land and Buildings 5,00,000

Yoga & Co. 9,00,000 Plant and Machinery 3,00,000

Trade Creditors 2,50,000 Stock 2,00,000

Overdraft (Bank) 1,00,000 Debtors 2,50,000

  12,50,000  12,50,000

 The Company took over all the assets and assumed all 
the liabilities and the consideration was fixed at  
Rs. 13,00,000. 

 In computing this figure, Land and Buildings were valued 
at Rs. 7,00,000; Plant and Machinery at Rs. 2,00,000; 
Stock at Rs. 1,90,000; and debtors at book value subject to 
an allowance of 5% to cover bad debts. 

 The transfer of the bank overdraft to the company was 
agreed by the bank on condition that debentures for  
Rs. 1,50,000 were issued to the bank as collateral 
security. 

 The purchase price was settled by issue of 50,000 equity 
shares of Rs. 20 each at par, 2,000 preference shares of 
Rs. 100 each and the balance being paid in cash. Doss 
Ltd. paid the preliminary expendes of Rs. 20,000. You are 
required to prepare liquidator final statement of the 
books of Doss Ltd. 
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 Doss Ltd. {ÖÁÚ® ¹. 20,00,000 ö£¯μÍÄ ‰»uÚzxhß 
E¸ÁõUP¨£mhx. CvÀ JÆöÁõßÖ® ¹.20 ©v¨¦øh¯ 
1,00,000 ÷|ºø© £[SPÒ ©ØÖ® JÆöÁõßÖ® ¹.20 
©v¨¦øh¯ 6,000 •ßÝ›ø© £[SPÒ ¹. 100 EÒÍÚ. 
C¢u {ÖÁÚ® 1 H¨μÀ 2011 AßÖ Yoga & Co. {ÖÁÚzvß 
Â¯õ£õμzøu Áõ[SÁuØPõP E¸ÁõUP¨£mhx. Yoga & Co. 
{ÖÁÚzvß CÖv{ø»U SÔ¨¦ 31 ©õºa 2011 AßÖ 
¤ßÁ¸©õÖ C¸¢ux. 

ö£õÖ¨¦PÒ öuõøP ö\õzxUPÒ öuõøP 

‰»uÚ PnUS :   {»® ©ØÖ® Pmih[PÒ 5,00,000

÷¯õPõ & ÷Põ. 9,00,000 Bø» ©ØÖ® C¯¢vμ[PÒ 3,00,000

ÁºzuP PhÜmhõÍºPÒ 2,50,000 £[SPÒ 2,00,000

Á[Q ÷©ÀÁøμ¨£ØÖ 1,00,000 PhÚõÎPÒ 2,50,000

  12,50,000  12,50,000

 {ÖÁÚ® AøÚzx ö\õzxUPøÍ²® ©ØÖ® AøÚzx 
ö£õÖ¨¦PøÍ²® øP¯P¨£kzv ¹.13,00,000&US HØÖU 
öPõshx. {»® ©ØÖ® Pmih[PÎß ©v¨¦ ¹.7,00,000, 
Bø» ©ØÖ® C¯¢vμ[PÒ ¹.2,00,000, \μUS ¹.1,90,000 
©ØÖ® ¦zuP ©v¨¤À PhÚõÎPÒ PhßPøÍ AøhUP 5% 
öPõk¨£ÚÄUS Em£mhx. 

 Á[Q ÷©ÀÁøμ¨£ØøÓ {ÖÁÚzvØS ©õØÖÁuØS 
1,50,000 ¤øn¯¨ £zvμ©õP Á[QUS ÁÇ[P¨£mh 
÷Ásk® GßÓ {£¢uøÚ²hß Á[Q J¨¦UöPõshx. 

 C¢u £›©õØÓzvß Áõ[S® Âø» 50,000 DUÂmi 
£[SPÒ ¹.20 JÆöÁõßÔøÚ²®, 2,000 •ßÝ›ø© 
£[SPÒ ¹.100 JÆöÁõßÔøÚ²®, ©ØÖ® «u•ÒÍ 
öuõøP £n©õP ö\¾zu¨£kÁuõP wº©õÛUP¨£mhx. 
uõì ¼ªöhm ¹.20,000 •ßÝ›ø© ö\»ÄPøÍ 
ö\¾zv¯x. uõì ¼ªöhm ©ØÖ® ÷¯õPõ & ÷Põ.  
¦zu[PÎÀ GÊu ÷Ási SÔ¨÷£mk £vÄPøÍ u¸P.  
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18. From the following particulars furnished by Elegant Ltd., 
prepare the Balance Sheet as on 31st March 2014 as 
required by 2013 Part I, Schedule III 2013 of the 
Companies Act, 

  Rs. Rs. 

Equity Share Capital (Face 
value of Rs. 100 each) 

50,00,000

Call in Arrears 5,000

Land and Building 27,50,000

Plant and Machinery 26,25,000

Furniture 2,50,000

General Reserve 10,50,000

Loan from State Financial 
Corporation 

7,50,000

Stock : 

Raw materials 2,50,000

Finished Goods 10,00,000 12,50,000

Provision for Taxation 3,40,000

Sundry Debtors 10,00,000

Advances 2,13,500

Proposed Dividend 3,00,000

Profit and Loss Account 5,00,000

Cash in Hand 1,50,000

Cash at Bank 12,35,000

Preliminary expenses 66,500

Unsecured Loan 6,05,000

Sundry Creditors  

(for Goods and Expenses) 10,00,000
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 The following additional information is also provided for 
10,00,000 : 

 (a) Preliminary expenses included Rs. 25,000 Audit 
pocket expenses paid to the Auditors Rs. 3,500. 

 (b)  10,000 Equity shares were issued for consideration 
other than cash.  

 (c)  Debtors of Rs. 2,60,000 are due for more than 6 
months.  

 (d)  The cost of the Assets were: Building Rs. 30,00,000, 
Plant and Machinery Rs. 35,00,000 and Furniture  
Rs. 3,12,500 

 (e)  The balance of Rs. 7,50,000 in the Loan Account 
with State Finance Corporation is inclusive of  
Rs. 37,500 for Interest Accrued but not Due. The 
loan is secured by hypothecation of Plant and 
Machinery. 

 (f)  Balance at Bank includes Rs. 10,000 with Global 
Bank Ltd., which is not a Scheduled Bank. 

 G¼Psm ¼ªöhm ÁÇ[Q¯ ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x 
31, ©õºa 2014 CÀ C¸¨¦{ø»U SÔ¨ø£z u¯õ›UPÄ®. 
(2013 B® Bsiß {ÁÚ[PÒ \mh® 2013 Cß £Sv I 
AmhÁøn III Cß £i) 

  ¹. ¹. 

÷|ºø© £[S (‰»uÚ® •P 
©v¨¦ ¹.100) 

50,00,000

{¾øÁz öuõøP°À 5,000

{»® ©ØÖ® Pmih®  27,50,000

Bø» ©ØÖ® C¯¢vμ[PÒ 26,25,000

©μa\õ©õßPÒ 2,50,000

ö£õx C¸¨¦ 10,50,000

SFC {ÖÁÚzvhª¸¢x 
Phß 7,50,000



S–7059 

  

  15

  ¹. ¹. 

£[S : 

‰»¨ö£õ¸mPÒ 2,50,000

•iUP¨£mh ö£õ¸mPÒ 10,00,000 12,50,000

Á› Âv¨¦UPõÚ HØ£õk 3,40,000

£Ø£» PhÚõÎPÒ 10,00,000

•ß£n® 2,13,500

•ßö©õÈ¯¨£mh 
DÄzöuõøP 

3,00,000

»õ£ |èhU PnUS 5,00,000

øP°À £n® 1,50,000

Á[Q°À £n® 12,35,000

 66,500

Bμ®£ ö\»ÄPÒ 6,05,000

£õxPõ¨£ØÓ Phß 

£À÷ÁÖ Phß ÁÇ[S|ºPÒ  10,00,000

(ö£õ¸mPÒ ©ØÖ® 
ö\»ÄPÐUS) 

 ¤ßÁ¸® TkuÀ uPÁÀPÐ® ÁÇ[P¨£mkÒÍÚ  
¹. 10,00,000 

 (A) •uÛø» ö\»ÄPÒ ¤ßÁ¸ÁÚÁØøÓ EÒÍhUQ¯x, 
uoUøP Pmhn® ¹.25,000 ©ØÖ® uoUøP¯õÍºPÐUS 
ÁÇ[£¨£k® ö\»ÂÚ[PÐUPõP ¹.3,500 

 (B) ©Ö£¯ÛÀ £nzøuz uÂμ 10,000 ÷|ºø© £[SPÒ 
ÁÇ[P¨£mhÚ 

 (C) 6 ©õu[PÐUS® ÷©»õP PhÚõÎPÎhª¸¢x Áμ 
÷Ási¯ öuõøP ¹.2,60,000 
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 (D) ö\õzxUPÎß Âø», Pmih® ¹. 30,00,000, Bø» 
©ØÖ® C¯¢vμ[PÒ ¹. 35,00,000, ©μa\õ©õßPÒ  
¹.3,12,500 

 (E) State Finance Corporation Ehß {¾øÁ°À EÒÍ 
¹.7,50,000 Phß PnUQß öuõøP°À ¹.37,500 
TkuÀ Ámi Em£h EÒÍx, Cx CßÝ® 
ö\¾zu¨£hÂÀø». C¢u Phß Bø» ©ØÖ® 
C¯¢vμ® CÁØÔß ‰»® £õxPõUP¨£mkÒÍx. 

 (F) Á[Q°À C¸¨¦z öuõøP°À S÷Íõ£À Á[Q 
¼ªöhmiÀ ¹.10,000 Ah[S®, Cx J¸ 
AmhÁøn¨£kzu¨£mh Á[Q AÀ». 

19. Explain the various methods of internal reconstruction 
with model journal entries. 

 EÒ «Ð¸ÁõUP® £À÷ÁÖ •øÓPøÍ ©õv› SÔ¨÷£mk 
£vÄPÐhß ÂÍUPÄ®. 

20. What is “liquidation”? Explain the various ways of 
winding up of a company emplacing the legal provisions 
in each such case. 

 “{ÖÁÚ Pø»¨¦” GßÓõÀ GßÚ? Auß ÁøPPøÍU TÔ 
JÆöÁõ¸ ÁøP°¾® J¸ {ÖÁÚzøu •iÄUSU 
öPõskÁ¸ÁuØPõÚ £À÷ÁÖ \mh ÁÈPøÍ ÂÍUS[PÒ. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What is cost sheet? 

 AhUP ö\»Äz uõÒ GßÓõÀ GßÚ? 

2. List out the objectives of preparing cost sheet. 

 AhUP ö\»Äz uõøÍz u¯õ›¨£uØPõÚ ÷|õUP[PøÍ 
£mi¯¼kP. 

3. Give an account of EOQ. 

 (EOQ) ]UPÚ öPõÒ•uÀ AÍÄ PnUøPU öPõk. 

4. Define material control. 

 ö£õ¸Ò Pmk¨£õmøh Áøμ¯ÖUP. 

5. Write a short note on job evaluation. 

 ÷Áø» ©v¨¥k SÔzx J¸ ]Ö SÔ¨ø£ GÊxP. 

6. Brief about merit rating. 

 uSv ©v¨¥k £ØÔ _¸UP©õP TÖ. 
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7. State the basis of apportionment for the following 
overheads : 

(a) Power 

(b) Sundry Expenses. 
 ¤ßÁ¸® ÷©Øö\»ÄUPõÚ JxURmiß Ai¨£øhø¯U 

SÔ¨¤hÄ® :  

 (A) ªß\õμ® 

 (B) ªuªg]¯ ö\»ÄPÒ. 

8. What do you mean by absorption of overheads? 
 ö£õxa ö\»ÄPÎß EÔg_Áuß ‰»® GßÓõÀ GßÚ? 

9. How do you treat abnormal cost? 
 A\õuõμn ö\»øÁ }[PÒ GÆÁõÖ øP¯õÐuÀ £ØÔ 

TÖP. 

10. What is equivalent production? 
 \©©õÚ EØ£zv GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Describe the classification cost. 
  AhUP ö\»Âß ÁøP¨£õmiøÚ ÂÁ›UPÄ®. 

Or 

 (b) Explain the advantages of cost accounting. 
  AhUP ö\»ÄU PnUQ¯¼ß |ßø©PøÍ ÂÍUSP. 

12. (a) The following information pertaining to a firm is 
available :  

Annual consumption 12,000 units (360 days)

Cost per unit Re. 1 

Cost per order Rs. 12 

Inventory carrying cost 20% p.a. 

  Calculate inventory levels. 
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  J¸ {ÖÁÚ® öuõhº£õÚ ¤ßÁ¸® uPÁÀPøÍ 
QøhUQßÓÚ : 

Bsk ~PºÄ 12,000 A»SPÒ (360 |õmPÒ)

A»S JßÖUS ö\»Ä ¹. 1 

Bøn JßÖUS ö\»Ä ¹. 12 

\μUS _©¢x ö\À¾® ö\»Ä 20% p.a. 

  C¸¨¦{ø»PøÍU PnUQk[PÒ. 

Or 

 (b) Compute the re-order and maximum stock levels 

from the following data :  

Normal consumption 300 units per day

Maximum consumption 420 units per day

Minimum consumption 240 units per day

Re-order period 10 to 15 days 

Normal Re-order period 12 days 

Re-order quantity 3600 units 

  ¤ßÁ¸® uμÄPÎ¼¸¢x ©Ö Á›ø\ ©ØÖ® 
AvP£m\ £[S {ø»PøÍ PnUQk[PÒ : 

\õuõμn ~PºÄ J¸ |õøÍUS 300 A»SPÒ 

AvP£m\ ~PºÄ |õÒ JßÖUS 420 A»SPÒ 

SøÓ¢u£m\ ~PºÄ |õÒ JßÖUS 240 A»SPÒ 

©Ö Bøn Põ»® 10 - 15 |õmPÒ

\õuõμn ©Ö Bøn Põ»® 12 |õmPÒ 

©Ö Bøn AÍÄ 3600 A»SPÒ
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13. (a) Mr. Mohan works in a factory where the following 
particulars apply :  

Normal rate per hour Rs. 7.50 

Normal piece rate 20% more of time rate

Expected output 20 units per hour 

  Mr. Mohan produces 157 units in a 8 hour day. 
Calculate his wages for the day on  

  (i) Time basis and 

  (ii) Piece basis. 

  v¸ ÷©õPß J¸ öuõÈØ\õø»°À £o¦›QÓõº, 
A[S ¤ßÁ¸® ÂÁμ[PÒ ö£õ¸¢x® : 

\õuõμn Âø» J¸ ©o ÷|μzvØS ¹. 7.50 

C¯À£õÚ E¸¨£i Ãu® (T¼) 20% AvP ÷|μ®

Gvº£õºUP¨£k® öÁÎ±k J¸ ©o ÷|μzvØS 20 A»SPÒ 

  v¸. ÷©õPß J¸ |õÎÀ 8 ©oUS ÷|μzvÀ 157 
A»SPÒ EØ£zv ö\´QÓõº. A¢u |õÐUPõÚ AÁμx 
Fv¯zøu PnUQkP.  

  (i) ÷|μ Ai¨£øh°À ©ØÖ® 

  (ii) E¸¨£i Ãu® (T¼) Ai¨£øh°À. 

Or 

 (b) From the following data, calculate labour turnover 
under replacement method and flux method :  

Number of employees at the beginning of the month 200

Number of employees at the end of the month 240

Number of employees resigned 20

Number of employees discharged 5

Number of employees replaced 18
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  ¤ßÁ¸® uμÄPÎ¼¸¢x, ©õØÖ •øÓ ©ØÖ® 
©õÖuÀ •øÓ RÌ öuõÈ»õÍº _ÇØ]ø¯ PnUQkP. 

©õuzvß öuõhUPzvÀ FÈ¯ºPÎß GsoUøP 200
©õu CÖv°À FÈ¯ºPÎß GsoUøP 240
£oÂ»PÀ ö\´u FÈ¯ºPÎß GsoUøP 20
£o}UP® ö\´¯¨£mh FÈ¯ºPÎß GsoUøP 5
£o¯©ºzu¨£mh FÈ¯ºPÎß GsoUøP 18

14. (a) State the different methods of classification of 
Overheads. 

  ÷©Øö\»ÄUPøÍ ÁøP¨£kzxÁuØPõÚ £À÷ÁÖ 
•øÓPøÍU SÔ¨¤kP. 

Or 

 (b) Mention the basis of apportioning the following 
overheads. 

(i) Time office expenses 

(ii) Fire insurance 

(iii) Stores service 

(iv) Electricity power 

(v) Recreation expenses 

(vi) General department expenses 

  ¤ßÁ¸® ÷©Øö\»ÄUPøÍ ¤›¨£uØPõÚ 
Ai¨£øhø¯U SÔ¨¤hÄ®.  

  (i) ÷|μ A¾Á»P ö\»ÄPÒ 

  (ii) w Põ¨¥k 

  (iii) ÷\ª¨¦ ÷\øÁ 

  (iv) ªß\õμ \Uv 

  (v) ö£õÊx÷£õUS ö\»ÄPÒ 

  (vi) ö£õxzxøÓa ö\»ÄPÒ 
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15.  (a) Compute the cost per unit of output of a process 
account from the following 

Input : 10,000 units – Rs. 10,000 

  Materials – Rs. 12,000 

  Labour Rs. 14,000 

  Manufacturing expenses – Rs. 4,000 

  Output – 9400 units 

  Value of normal wastage – Rs. 8 per 100 units 
  J¸ ö\¯À•øÓ PnUQß öÁÎ±miß J¸  

A»S AhUP ö\»øÁ ¤ßÁ¸ÁÚÁØÔÀ C¸¢x 
PnUQkP :  

EÒÏk : 10,000 A»SPÒ – ¹. 10,000  

ö£õ¸mPÒ – ¹. 12,000  

EøÇ¨¦ ¹. 14,000  

EØ£zva ö\»Ä – ¹. 4,000  

öÁÎ±k – 9400 A»SPÒ  

\õuõμn PÈÄPÎß ©v¨¦ – 100 A»SPÒ u»õ ¹. 8 

Or 

 (b) Calculate equivalent production from the following. 

  Opening stock – 5000 units (60% complete) 

  Units brought into process : 25,000 

  Transferred to next process : 20,000 completed units 

  Closing stock 10,000 units (40% complete) 
  ¤ßÁ¸ÁÚÁØÔ¼¸¢x \©©õÚ EØ£zvø¯U 

PnUQkP.  

  öuõhUP £[S – 5000 A»SPÒ (60% {øÓÄ)  

  ö\¯À£õmiØS öPõsk Áμ¨£mh A»SPÒ : 25,000  

  Akzu ö\¯À•øÓUS ©õØÓ¨£mhx : 20,000 
•iUP¨£mh A»SPÒ  

  CÖv £[S 10,000 A»SPÒ (40% {øÓÄ) 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. From the following particulars, prepare a cost sheet 
during the year ended 31 December 2013 :  

Particulars Rs. 

Cost of raw materials consumed 25,000

Advertising 1,000

Depreciation on plant and machinery 1,500

Factory salaries 6,000

Legal expenses 300

Supervisor’s salary 5,500

Factory rates and insurance 1,000

Carriage outwards 1,500

Direct labour 20,000

Bad debts 300

Office stationary 200

Rent of factory 2,500

Office salary 10,000

Commission on sales 4,000

Audit fees 300

Income tax 1,500

Donation to charitable institutions 500

Purchase of new plant 10,000

 Classify the above expenses under various heads of cost, 
showing separately the total expenditure under each 
head. 
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 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x, 31 i\®£º 2013 Ehß 
•iÁøh¢u Bsiß AhUP ö\»Äz uõøÍz u¯õ›UPÄ® : 

ÂÁμ[PÒ ¹. 

£¯ß£kzu¨£k® ‰»¨ö£õ¸mPÎß Âø» 25,000

ÂÍ®£μ® 1,000

Bø» ©ØÖ® C¯¢vμ[PÒ «uõÚ ÷u´©õÚ® 1,500

öuõÈØ\õø» Fv¯® 6,000

\mha ö\»ÄPÒ 300

÷©Ø£õºøÁ¯õÍº \®£Í® 5,500

öuõÈØ\õø» Pmhn[PÒ ©ØÖ® Põ¨¥k 1,000

Ási \zu® 1,500

÷|μi EøÇ¨¦ 20,000

ÁõμõU PhßPÒ 300

A¾Á»P GÊxö£õ¸Ò 200

öuõÈØ\õø» ÁõhøP 2,500

A¾Á»P \®£Í® 10,000

ÂØ£øÚUS Pªåß 4,000

uoUøP Pmhn[PÒ 300

Á¸©õÚ Á› 1,500

öuõsk {ÖÁÚ[PÐUS |ßöPõøh 500

¦v¯ G¢vμz uÍÁõh[PÒ öPõÒ•uÀ 10,000

 ÷©ØTÔ¯ ö\»ÄPøÍ £À÷ÁÖ ö\»ÄPÎß RÌ 
ÁøP¨£kzxP, JÆöÁõ¸ uø»¨¤ß RÊ® ö©õzu 
ö\»ÂÚ[PøÍ uÛzvÛ¯õPU PõmkP. 



S–7060 

  

  9

17. XY Ltd. purchased and issued the materials in the 
following order :  

Date 
2013 
Mar. 

Particulars Units Rs. 
Per 
unit 

1 Purchased 300 3

2 Purchased 500 4

4 Issued 500 -

6 Purchased 700 4.50

7 Issued 700 -

9 Purchased 300 5

 Prepare a stores ledger under  

 (a) FIFO method and  

 (b) Weighted average price method. 

 XY Ltd. öPõÒ•uÀ ©ØÖ® ÁÇ[P¨£mhx ¤ßÁ¸® 
Á›ø\°À : 

÷uv 
2013 
©õºa 

ÂÁμ[PÒ A»SPÒ ¹. J¸ 
³ÛmkUS

1 öPõÒ•uÀ 300 3

2 öPõÒ•uÀ 500 4

4 ÁÇ[P¨£mhx 500 -

6 öPõÒ•uÀ 700 4.50

7 ÁÇ[P¨£mhx 700 -

9 öPõÒ•uÀ 300 5

 (A) FIFO •øÓ ©ØÖ® 

 (B) Gøh²ÒÍ \μõ\› Âø» •øÓ BQ¯ÁØÔß RÌ J¸ 
PøhPÎß £v÷Ák u¯õ›UPÄ®. 
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18. Explain the various methods of labour remuneration and 
also describe any two incentive plans. 

 öuõÈ»õÍº Fv¯zvß £À÷ÁÖ •øÓPøÍ ÂÍUQ, 
H÷uÝ® Cμsk FUPz vmh[PøÍ²® ÂÁ›UPÄ®. 

19. Calculate the overheads applicable to production 
departments A and B. There are also two service 
Departments X and Y. X renders service worth 12,000 to 
Y and the balance to A and B as 3 : 2. Y renders service to 
A and B 9 : 1.  

Floor Space (Sq. feet) 5,000 4,000 1,000 2,000

Assets (Rs. in Lakh) 10 5 3 1 

H.P. of machines 1,000 500 400 100 

Number of workers 100 50 50 25 

Light points 50 30 20 20 

 Expenses are : Depreciation – Rs. 1,90,000; Rent, Rates, 
etc. – Rs. 36,000; Insurance – Rs. 15200; Power –  
Rs. 20,000; Canteen expenses – Rs. 10,800; Electricity – 
Rs. 4,800. 

 EØ£zv xøÓPÍõÚ A ©ØÖ® B&US ö£õ¸¢uUTi¯ 
TkuÀ ö\»ÄPøÍU PnUQk[PÒ. GUì ©ØÖ® K´ BQ¯ 
Cμsk ÷\øÁz xøÓPÐ® EÒÍÚ. X 12,000 ©v¨¦ÒÍ 
÷\øÁø¯ Y US ÁÇ[SQÓx ©ØÖ® A ©ØÖ® B US 3 : 2 
GÚ C¸¨¦ EÒÍx. Y Gß£x A ©ØÖ® B 9 : 1 US ÷\øÁ 
ö\´QÓx. 

uøμ¨£Sv (Sq. feet) 5,000 4,000 1,000 2,000

ö\õzxUPÒ (¹. »m\zvÀ) 10 5 3 1 

H.P. C¯¢vμ[PÒ 1,000 500 400 100 

öuõÈ»õÍºPÎß GsoUøP 100 50 50 25 
JÎ ¦ÒÎPÒ 50 30 20 20 

 ö\»ÄPÒ : ÷u´©õÚ® & ¹. 1,90,000; ÁõhøP, ÂQu[PÒ 
÷£õßÓøÁ & ¹. 36,000; Põ¨¥k & ¹. 15,200; ªß\õμ® & 
¹. 20,000; EnÁP ö\»ÄPÒ & ¹. 10,800; ªß\õμ® &  
¹. 4,800. 
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20. A product requires three distinct processes and after 
third process, the product transferred to finished stock. 
Prepare process accounts from the following information :  

 Process 1 Process 2 Process 3

 Rs. Rs. Rs. 

Direct material 3,000 1,500 1,000 

Direct wages 2,500 2,000 2,500 

Direct expenses 500 100 500 

 The overhead expenses for the period Rs. 1,400 were 
apportioned to the process accounts on the basis of wages. 
Production during the period was 500 units. 

 J¸ u¯õ›¨¦US ‰ßÖ uÛzxÁ©õÚ ö\¯À•øÓPÒ 
÷uøÁ¨£kQßÓÚ, ‰ßÓõÁx ö\¯À•øÓUS¨ ¤ÓS, 
u¯õ›¨¦ •iUP¨£mh £[SPÐUS ©õØÓ¨£kQÓx. 
¤ßÁ¸® uPÁÀPÎ¼¸¢x ö\¯À•øÓ PnUSPøÍz 
u¯õ›UPÄ® : 

 ö\¯À•øÓ 1 ö\¯À•øÓ 2 ö\¯À•øÓ 3

 ¹. ¹. ¹. 

÷|μi ö£õ¸Ò 3,000 1,500 1,000 

÷|μi Fv¯® 2,500 2,000 2,500 

÷|μi ö\»ÄPÒ 500 100 500 

 ¹. 1,400 Põ»zvØPõÚ ÷©À{ø»a ö\»ÄPÒ Fv¯zvß 
Ai¨£øh°À ö\¯À•øÓ PnUSPÐUS JxUP¨£mhÚ, 
C¢uU Põ»PmhzvÀ EØ£zv 500 A»SPÍõP C¸¢ux. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is an agreement? With examples. 

 J¨£¢u® GßÓõÀ GßÚ? Euõμn[PÐhß GÊxP. 

2. What is a promise? With examples. 

 ÁõUSÖv GßÓõÀ GßÚ? Euõμn[PÐhß GÊxP. 

3. Define a contract of indemnity. 

 CÇ¨¥mk J¨£¢uzøu Áøμ¯Ö. 

4. What is a contract of guarantee? 

 EzuμÁõu J¨£¢u® GßÓõÀ GßÚ? 

5. What is gratuitous bailment? 

 C»Á\ áõ«ß GßÓõÀ GßÚ? 

6. Define pledge. 

 EÖvö©õÈø¯ Áøμ¯ÖUPÄ®. 

Sub. Code 
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7. Who may be an agent? 

 ¯õº •PÁμõP C¸UP»õ®? 

8. What is delegation of authority? 

 AvPõμ¨ ¤μv{vzxÁ® GßÓõÀ GßÚ? 

9. What is meant by bill of lading? 

 ¤À BL¨ ÷»i[ GßÓõÀ GßÚ? 

10. What is “Caveat Emptor”? 

 “÷PÂ¯m G®¨hº” GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11.  (a) When can an offer and its acceptance be revoked? 
Give examples. 

J¸ \¾øP ©ØÖ® Auß HØÖUöPõÒÍÀ G¨÷£õx 
v¸®£¨ ö£Ó¨£k®? Euõμn[PÒ öPõk[PÒ.  

Or 

 (b) Explain the legal rules regarding consideration. 

  P¸zvÀ öPõÒÁx öuõhº£õÚ \mh ÂvPøÍ 
ÂÍUSP. 

12.  (a) Distinguish between contract of indemnity and 
contract of guarantee. 

CÇ¨¥mk J¨£¢uzvØS® EzuμÁõu J¨£¢uzvØS® 
Cøh°»õÚ ÷ÁÖ£kzxP. 

Or 

 (b) Explain the rights of subrogation. 

  uøh°ß E›ø©PøÍ ÂÍUSP. 
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13.  (a) Explain the termination of bailment. 

  áõ«ß •iøÁ ÂÍUSP. 

Or 

 (b) Explain the rights and duties of the pawnor and the 
pawnee. 

  AhS ö£Ö£Áº ©ØÖ® AhS øÁ¨£Á›ß E›ø©PÒ 
©ØÖ® Phø©PøÍ ÂÍUSP. 

14.  (a) Explain the extent of an agent’s authority. 

  J¸ •PÁ›ß AvPõμzvß AÍøÁ ÂÍUSP. 
  

Or 

 (b) Explain the requisites of valid ratification. 

  ö\À¾£i¯õS® J¨¦u¾UPõÚ ÷uøÁPøÍ ÂÍUSP. 

15.  (a) Explain the essential of a contract of sale. 

  ÂØ£øÚ J¨£¢uzvß Azv¯õÁ]¯zøu ÂÍUSP.  

Or 

 (b) How are goods classified under the Sale of Goods 
Act.  

  \μUS ÂØ£øÚ \mhzvß RÌ ö£õ¸mPÒ GÆÁõÖ 
ÁøP¨£kzu¨£kQßÓÚ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the classification of contracts according to 
enforceability, formation. 

A©»õUP®, E¸ÁõUP® BQ¯ÁØÔß £i J¨£¢u[PÎß 
ÁøP¨£õmøh ÂÍUSP. 
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17. Explain the types of guarantee. 

 EzuμÁõu ÁøPPøÍ ÂÍUSP. 

18. Explain the classification of bailment. 

¤øn°ß ÁøP¨£õmøh ÂÍUSP. 

19. Explain the types of agencies. 

Göáß]PÎß ÁøPPøÍ ÂÍUSP. 

20. Distinction between sale and agreement to sell. 

ÂØ£øÚ ©ØÖ® ÂØ£øÚ J¨£¢u® Cøh÷¯ 
÷ÁÖ£kzxP. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Write a short note on Central Board of Direct Tax 
(CBDT). 

 ©zv¯ ÷|μi Á› Áõ›¯® (CBDT) £ØÔ¯ SÔ¨¦ GÊxP. 

2. What are the characteristics of a good tax system? 

 J¸ |À» Á› •øÓø©°ß ]Ó¨£®\[PÒ GßÚ? 

3. What is the meaning of “Agricultural Income”? 

 “ÂÁ\õ¯ Á¸©õÚ®” GßÓõÀ GßÚ? 

4. What is “Residential Status” under Income Tax? 

 Á¸©õÚ Á›°ß RÌ “Si²›ø© {ø»” Gß£uß ö£õ¸Ò 
GßÚ? 

5. How is the provision of Interest Free Loan valued? 

 Ámi CÀ»õ Phß ÁÇ[PÀ GÆÁõÖ ©v¨¥k 
ö\´¯¨£kQÓx? 

Sub. Code 
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6. What is Standard Rent? 

 {ø»¯õÚ ÁõhøP (Standard Rent) GßÓõÀ GßÚ? 

7. Define “Business” under the Income Tax-Act. 

 Á¸©õÚ Á› \mhzvß RÌ “ÁoP®” Gß£uß Áøμ¯øÓ 
GßÚ? 

8. What is the difference between “Short-Term Capital 
Gain” and “Long-Term Capital Gain”? 

 “SÖQ¯ Põ» ‰»uÚ Buõ¯®” ©ØÖ® “}sh Põ» ‰»uÚ 

Buõ¯®” BQ¯ÁØÖUQøh÷¯¯õÚ Âzv¯õ\® GßÚ? 

9. What is the meaning of “Set-Off and carry forward of 
Losses” in income tax? 

 Á¸©õÚ Á›°À “|èhzøu DkPmkÁx ©ØÖ® AuøÚ 

¤ß÷ÚõUQ öPõsk ö\À¾uÀ” GßÓõÀ GßÚ? 

10. How is Speculation Loss treated? 

 FPÁoPzvÀ HØ£mh |èh® GÆÁõÖ Á› {ºn°zu¼À 
|hzu¨£kQÓx? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Write a short note on Income Tax Administration in 
India. 

  C¢v¯ Á¸©õÚ Á› {ºÁõP® £ØÔ¯ SÔ¨¦ GÊxP. 

Or 

 (b) What are the powers and functions of the Central 
Board of Direct Taxes? 

  ©zv¯ ÷|μi Á› Áõ›¯zvß AvPõμ[PÒ ©ØÖ® 
ö\¯À£õkPÒ GßÚ? 
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12. (a)  Compute taxable income of Mr. Pratham for 

assessment year 2024-25 under old regime from the 

following information: 

 Rs. 

Income from salary (Gross) 12,00,000

Income from House Property 1,08,000

Income from other sources 56,200

Deduction under Section 80C 1,56,000

Deduction under Section 80D 24,000

Tax Deducted at Source 89,000

  RÌPsh uPÁÀPÎß Ai¨£øh°À v¸. ¤μu® 

AÁºPÎß 2024-25 ©v¨¥mk BsiØPõÚ £øÇ¯ 

•øÓ°À Á›US Em£mh Á¸©õÚzøuU PnUQkP :  

 ¹. 

\®£Í Á¸©õÚ® (ö©õzu®) 12,00,000

Ãmka ö\õzx Á¸©õÚ® 1,08,000

©ØÓ ‰»[PÎ¼¸¢x Á¸©õÚ® 56,200

¤›Ä 80C°ß RÌ PÈÄ 1,56,000

¤›Ä 80D°ß RÌ PÈÄ 24,000

Buõ¯ Á› Â»UP¨£mh öuõøP 89,000

Or 

 (b) Discuss the different categories of residential status 

under the Income Tax Act. 

  Á¸©õÚ Á› \mhzvß RÌ Si²›ø© {ø»°ß 
ÁøPPøÍ ÂÍUSP. 
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13. (a) Write a short note on :  

  (i)  Gratuity  

  (ii)  Leave Encashment on Retirement  

  (iii)  Commuted Pension. 
  ¤ßÁ¸® JÆöÁõßøÓ £ØÓÔ²® ]Ö SÔ¨¦ u¸P : 

  (i)  £oUöPõøh 

  (ii)  K´ÄUPõ» Âk¨¦¨ £n®  

  (iii)  £Sv K´Åv¯® 

Or 

 (b) Miss. Renu is appointed as a lecturer in the grade 
8,000-275-8, 550-325-11, 800 on 1st June 2016 at 
initial pay Rs. 9,200. Compute her total basic pay 
for the previous year 2023-2024. 

  ö\ÀÂ ÷μq 1&® áúß 2016 AßÖ ¹. 9,200 •uÀ 
¹. 8,000-275-8, 550-325-11, 800 \®£Í Á›ø\°À 
Â›Äøμ¯õÍμõP {¯ªUP¨£mhõº. 2023-2024 
•¢øu¯ BsiØPõÚ AÁμøh¯ Ai¨£øh 
\®£Ízøu PnUQkP.  

14. (a) Mr. Rohan purchased a Plot on 15th June 2021 for 
Rs. 1,70,000. This plot was sold by him on 15th  June 
2023 for Rs. 2,25,000. Transfer expenses were  
Rs. 1,000. Compute capital gain for the assessment 
year 2024-25. 

  v¸. ÷μõíß 15&® áúß 2021 AßÖ ¹. 1,70,000US 
J¸ {»zøu Áõ[QÚõº. Cøu 15&® áúß 2023 
AßÖ  
¹. 2,25,000US ÂØÓõº. C¢u ÂØ£øÚUPõP ¹. 1,000 
ö\»Âmhõº. 2024-25 ©v¨¥mk BsiØPõÚ ‰»uÚ 
C»õ£zøuU PnUQkP.  

Or 

 (b) Explain the treatment of depreciation and how it 
affects business profits. 

  ÷u´©õÚ ©v¨¥k £ØÔ²®, Cx ÁoP C»õ£zvÀ 
GÆÁõÖ £õv¨ø£ HØ£kzxQÓx Gß£øu²® 
ÂÍUSP. 
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15. (a) Compute Gross Total Income after Set-Off and 
Carry forward Losses for Mr. Shiv for the previous 
year 2023-24 from the following Information: 

 Amount
(In Rs.) 

Salary received 1,78,000

Rent received from House A 36,000

House B used for his own residence 

(Interest on housing loan paid for House B) 14,200

Long term Capital gain on sale of building 39,000

Long Term Capital Loss of Jewelry 13,000

Winning from Lottery 28,000

Loss from Horse race Business 16,000

Short term Capital Loss 16,000

  v¸. ]Æ AÁºPÎß 2023-24 •¢øu¯ BsiØPõÚ 
ö©õzu Á¸©õÚzøu PnUQkP. |èhzøu 
DkPmkÁx ©ØÖ® AuøÚ •ß÷ÚõUQ öPõsk 
ö\À¾u¾hß. 

 Amount
(In Rs.) 

\®£Í Á¸©õÚ® 1,78,000

Ãk A--&C¼¸¢x ÁõhøP Á¸©õÚ® 36,000

Ãk&B ö\õ¢u £¯ß£õmiØUS 

(ÃmkUPhß B Ámi ö\¾zv¯ öuõøP) 14,200

Pmhh® ÂØÓvÀ }sh Põ» ‰»uÚ C»õ£® 39,000
|øP ÂØÓvÀ }sh Põ» ‰»uÚ |èh® 13,000
»õmh›°À öÁßÓ öuõøP 28,000
Svøμ¨ £¢u¯zvÀ HØ£mh |èh® 16,000
SÖQ¯ Põ» ‰»uÚ |èh® 16,000

Or 
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 (b) Find out the Tax Payable in the following situations 
assuming that assessee does not opt for new tax 
regime under section 115BAC and total income 
includes income of Rs. 40,000 being winning from 
the lottery: 

  (i)  Mr. Pratham has total income of Rs. 5,20,000 

  (ii)  Mr. Jay has total income of Rs. 10,20,000 

  ¤ßÁ¸® {ø»ø©PÎÀ ©v¨¤h¨£k® BsiØPõÚ 
Á›ø¯ PnUQkP. ¦v¯ Á› •øÓø©ø¯ ¤ß£ØÓ 
÷Áshõ®. ÷©¾® ö©õzu Á¸©õÚzvÀ ¹£õ´ 

40,000 »õmh› AizuvÀ Qøhzu £n® GßÖ  
P¸xP : 

  (i)  v¸. ¤μu® – ö©õzu Á¸©õÚ® ¹. 5,20,000 

  (ii)  v¸. öá´ –  ö©õzu Á¸©õÚ® ¹. 10,20,000 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the different types of income tax assessments 
with examples. 

 Á¸©õÚ Á› ©v¨¥miß ÁøPPøÍ GkzxUPõmkPÐhß 
ÂÍUSP. 

17. (a)  Mr. Ganesh, an Indian citizen, went first time to 
Singapore on 5th September 2022. Determine his 
residential Status for the assessment year 2024-25. 

 (b) Mr. Jeyanth, who is a foreigner, came to India for 
the first time on June 15, 2019. During the financial 
years 2019-20, 2020-21, 2021-22, 2022-23 and  
2023-24 he stayed in for 120 days, 120 days and  
84 days respectively. Determine his residential 
status for the assessment year 2024-25. 
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 (c)  Mrs. Kusum is engaged in a business at Australia. 
She owns a house at Udaipur where she uses to 
reside continuously for 5 months from last 16 years. 
During the previous year, due to some reason, she 
could reside in India at her Udaipur residence only 
from 1st May, 2023 to 20th June, 2024. Determine 
her residential status for the assessment year  
2024-25.  

 (d)  Mr. Lee, a foreign Cricketer, come to India for  
110 days every year since financial year 2012-13. 
Find out his residential status for the assessment 
year 2024-25. 

 (A) v¸. P÷nè C¢v¯ Si©Pß, AÁº 5&® ö\¨h®£º 

2022 •uß•uß •øÓ¯õP ][P¨§¸US ö\ßÓõº. 

2024-25 ©v¨¥mk BsiØPõÚ AÁμx Si²›ø© 
{ø»ø¯z wº©õÛUPÄ®. 

 (B) v¸. öá¯¢z AÁº J¸ öÁÎ|õmhÁº 15&® áüß 

2019 •uÀ C¢v¯õ Á¢uõº. 2019-20 •uÀ 2023-24 
Áøμ°»õÚ BskPÎÀ AÁº •øÓ÷¯ 120, 120 
©ØÖ® 84 |õmPÒ u[Q²ÒÍõº. 2024-25 ©v¨¥mk 
BsiØPõÚ AÁμx Si²›ø© {ø»ø¯z 
wº©õÛUPÄ®. 

 (C) v¸©v. Séú® Bìv÷μ¼¯õÂÀ ÁoP® 

|hzxQÓõº. AÁº 16 BskPÍõP JÆöÁõ¸ 

Bsk® 5 ©õu[PÒ Eu´§›À u[SQÓõº. BÚõÀ 

2023-24 •¢øu¯ BsiÀ, AÁº 1&® ÷© 2023 •uÀ 

20--&® áüß 2024 Áøμ C¢v¯õÂÀ C¸¢xÒÍõº. 
AÁμx Si²›ø© {ø»ø¯z wº©õÛUPÄ®. 

 (D) v¸. ½ J¸ öÁÎ|õmk Q›UöPm Ãμº, 2012-13 
{v¯õsi¼¸¢x JÆöÁõ¸ Bsk® 110 |õmPÒ 

C¢v¯õ Á¢xÒÍõº. 2024-25 ©v¨¥mk BsiØPõÚ 
AÁμx Si²›ø© {ø»ø¯z wº©õÛUPÄ®. 
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18. Write a short note on :  

 (a)  House Rent Allowance  

 (b)  Rent Free Accommodation  

 (c) Medical Facility  

 (d)  Entertainment Allowance 

 ¤ßÁ¸® JÆöÁõßøÓ £ØÔ²® Â›ÁõP GÊxP : 

(A) Ãmk ÁõhøP £i 

 (B) ÁõhøP°À Si°¸¨¦ Á\v 

 (C) ©¸zxÁ Á\v 

 (D) ©QÌa] £i  

19. Dr. Tuktak acquired a house property for 21,00,000 on 

June 1, 1987. The following expenses were incurred by 

him on this house property: 

  Rs. 

(a) Cost of construction of one room on roof in 

1995-96 1,34,000

(b) Cost of construction one more room in 

2003-04 on roof 3,64,000

(c) Major Alteration in property in 2012-13 3,04,000

 Fair market value of the property on April 1, 2001 is 

6,24,000. The house property was sold by Dr. Tuktak on 

June 10, 2023 for Rs. 99,74,000 after incurring transfer 

expenses 34,000. Calculate amount of capital gains for 

the assessment year of 2024-25. CII for 2003-04, 2012-13 

and 2023-24 are 109, 200 and 348 respectively. 
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hõUhº. xUhõU áüß 1, 1987 AßÖ 21,00,000 ¹£õ´US 
J¸ ÃmiøÚ Áõ[QÚõº. C¢u Ãk GÝ® ö\õzvÀ AÁº 
¤ßÁ¸® ö\»ÄPøÍa ö\´uõº : 

  ¹. 

(A) 1995-96 CÀ ©õi°À J¸ AøÓø¯U 
PmkÁuØPõÚ ö\»Ä 1,34,000

(B) 2003-04 CÀ ©õi°À ©ØÖö©õ¸ 
AøÓø¯U PmkÁuØPõÚ ö\»Ä 3,64,000

(C) 2012-13 CÀ ö\õzvß ©μõ©zx ©ØÖ® 
£μõ©›¨¤À BÚ HØ£mh ö£›¯ ö\»Ä 

3,04,000

 H¨μÀ 1, 2001 AßÖ ö\õzvß {¯õ¯©õÚ \¢øu ©v¨¦ 
6,24,000. C¢u Ãmka ö\õzøu hõUhº. xUhõU áüß 

10, 2023 AßÖ 34,000 ¹£õ´ £›©õØÓa ö\»ÄPÒ ö\´x 

¤ÓS ¹. 99,74,000US ÂØÓõº. 2024-25 ©v¨¥mk 

BsiØPõÚ ‰»uÚ Buõ¯zøu PnUQk[PÒ. 2003-04, 
2012-13 ©ØÖ® 2023-24 B® BskPÐUPõÚ CII 
•øÓ÷¯ 109, 200 ©ØÖ® 348 BS®. 

20. Mr. A. Submits the following information. 

 (a) Income from salary (Computed) Rs. 10,50,000 

 (b) Income from House Property (Computed)  
Rs. 2,50,000 

 (c) Interest on Bank Fixed Deposit Rs. 45,000 

 (d) Winning from House Race Rs. 70,000 

 (e) Life Insurance Premium Paid Rs. 70,000 

 (f) Contribution to PPF Rs. 30,000 

 (g) Rent paid towards residential House Rs. 12,000 
P.M. (He does not own house) 

  Mr. A is physically handicapped person with severe 
disability. Compute his total Income for the  
A.Y. 2023-24. 
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 v¸. A ¤ßÁ¸® uPÁÀPøÍa \©º¨¤UQÓõº. 

 (A) \®£Ízv¼¸¢x Á¸©õÚ® (PnUQh¨£mhx)  
¹. 10,50,000 

 (B) Ãmka ö\õzxUPÎ¼¸¢x Á¸©õÚ® 
(PnUQh¨£mhx)  
¹. 2,50,000 

 (C) Á[Q {ø»¯õÚ øÁ¨¦z öuõøPUPõÚ Ámi  
¹. 45,000 

 (D) Ãmk¨ £¢u¯zvÀ öÁØÔ ö£ØÓÁº ¹. 70,000 

 (E) B²Ò Põ¨¥mk ¤Ÿª¯® ¹. 70,000 

 (F) PPF £[PÎ¨¦ ¹. 30,000 

 (G) Si°¸¨¦ ÃmiØS ö\¾zu¨£mh ÁõhøP ¹. 12,000 
¤.G® (AÁ¸US ö\õ¢u©õP Ãk CÀø») 

v¸. H Pkø©¯õÚ FÚ•ØÓ EhÀ FÚ•ØÓ |£º 
2023-24 B© BskUPõÚ AÁμx ö©õzu 
Á¸©õÚzøuU PnUQk[PÒ. 

  
———————— 
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AUDITING 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is meant by Errors? 

 ¤øÇPÒ GßÓõÀ GßÚ? 

2. State the meaning of periodical audit. 

 Põ»•øÓ uoUøP°ß ö£õ¸Ò u¸P. 

3. Write a short note on audit note book 

 uoUøP SÔ¨¦ ¦zuP® & ]Ö SÔ¨¦ GÊxP. 

4. What is an internal check system? 

 APa ÷\õuøÚ Aø©¨¦ GßÓõÀ GßÚ? 

5. How would you vouch the cash book? 

 öμõUP Hmøh GÆÁõÖ \õßÓõ´Ä ö\´Áõ´? 

6. What document would you vouch for sale of fixed assets? 

 {ø»a ö\õzxUPÒ ÂØ£øÚUS GßÚ BÁn[PøÍ 
\õßÓõ´Ä ö\´Áõ´? 
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7. Give the meaning of verification of Assets. 

 ö\õzxUPøÍ \›£õºzu¼ß ö£õ¸Ò u¸P. 

8. What is verification of liabilities? 

 ö£õÖ¨¦PøÍ \›£õºzuÀ GßÓõÀ GßÚ? 

9. Define the term ‘Negligence’. 

 A»m]¯® GßÓ £uzøu Áøμ¯Ö. 

10. Write a note on liability of a company auditor towards 
third parties. 

 öÁÎ |£¸US {ÖÁÚ uoUøP¯õÍ›ß ö£õÖ¨¦ SÔzx 
GÊxP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the advantages of an audit? 

  Kº uoUøP°ß |ßø©PÒ ¯õøÁ? 

Or 

 (b) Differentiate auditing and investigation. 

  uoUøP°¯ø» ¦»ß Â\õμøn°¼¸¢x 
÷ÁÖ£kzxP. 

12. (a) What are the points to be noted while preparing 
audit programme? 

  uoUøP ö\¯À vmh® u¯õ›US® ÷£õx PÁÛUP 
÷Ási¯øÁ ¯õøÁ? 

Or 

 (b) Explain internal check with regard to purchase and 
sales. 

  öPõÒ•uÀ ©ØÖ® ÂØ£øÚUPõÚ APa÷\õuøÚ 
•øÓø¯ ÂÍUSP. 
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13. (a) Point out the importance of vouching. 

  \õßÓõ´Âß •UQ¯zxÁzøu SÔ¨¤kP. 

Or 

 (b) Discuss the points to be borne in mind while 
vouching cash receipt. 

  öμõUP μ^øu EÖv¨£kzx® ÷£õx ©ÚvÀ öPõÒÍ 
÷Ási¯ Âå¯[PøÍ¨ £ØÔ ÂÁõvUPÄ®. 

14. (a) Describe the verification and valuation of liabilities. 

  ö£õÖ¨¦PøÍ ©v¨¥k ©ØÖ® \›£õºzuø» ÂÁõv. 

Or 

 (b) Explain the auditors position as regards valuation 
of assets. 

  ö\õzxUPøÍ ©v¨¥k ö\´²®÷£õx 
uoUøP¯õÍ›ß {ø»ø¯ ÂÁ›. 

15.  (a) Give a note on misfeasance. 

  w[QøÇzuÀ £ØÔ ]Ö SÔ¨¦ u¸P. 

Or 

 (b) Explain the criminal liabilities of an auditor with a 
example of case law. 

  Kº GkzxUPõmkhß uoUøP¯›ß SØÓÂ¯À 
ö£õÖ¨¤øÚ ÂÁ›. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss various types of errors and frauds. 

 ¤øÇPÒ ©ØÖ® ÷©õ\iPÎß ÁøPPøÍ ÂÁ›. 

17. What are the objectives of internal check? 

 APa ^μõ´Âß ÷|õUP[PÒ ¯õøÁ?  
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18. What is vouching? How would you vouch the trade 
transactions? 

 \õßÓõ´Ä Gß£x ¯õx? Áõo£ |hÁiUøPPøÍ GÆÁõÖ 
\õßÓõ´Ä ö\´Áõ´? 

19. How stock will be valued in auditing? What are the 
methods of valuation of stock? 

 \μUQ¸¨ø£ GÆÁõÖ uoUøP ö\´Áõ´? \μUQ¸¨ø£ 
©v¨¥k ö\´¯ £¯ß£kzx® £À÷ÁÖ •øÓPÒ GßÚ? 

20. Explain the various liabilities of an auditor. 

 Kº uoUøP¯õÍ›ß £À÷ÁÖ ö£õÖ¨¦PøÍ ÂÍUSP. 

———————— 



  

S–7064   

B.Com. DEGREE EXAMINATION, APRIL 2025 

Sixth Semester 

Commerce 

Elective – SPECIAL ACCOUNTS  

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Bank. 

 Á[Qø¯ Áøμ¯ÖUPÄ®. 

2. What is Reserve Fund? 

 C¸¨¦ {v GßÓõÀ GßÚ? 

3. What is Life Insurance? 

 B²Ò Põ¨¥k GßÓõÀ GßÚ? 

4. What is General Insurance? 

 ö£õx Põ¨¥k GßÓõÀ GßÚ? 

5. What is Capital Account? 

 ‰»uÚ PnUS GßÓõÀ GßÚ? 

6. What is Depreciation? 

 ÷u´©õÚ® GßÓõÀ GßÚ? 
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7. Define Holding Company. 
 øÁzv¸US® {ÖÁÚzøu Áøμ¯ÖUPÄ®. 

8. What do you mean by Subsidiary Company? 
 xøn {ÖÁÚ® GßÓõÀ GßÚ? 

9. Define Voyage. 
 £¯nzøu Áøμ¯ÖUPÄ®. 

10. What is Port Charge? 
 xøÓ•P Pmhn® GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) The Trail Balance of the Nedungadi Bank Ltd., as 
on 30th June 2014 shows the following balances. 

Particulars Rs. 
Interest and discount 45,40,600 
Rebate on bills discounted 01-07-2013 4,750 
Bills discounted and purchased 3,37,400 

  The unexpired discount as on 30-06-2014 is 
estimated to be Rs. 5,560. Draft necessary adjusting 
entries and calculate the amount of interest and 
discount to be credited to Profit and Loss a/c. 

  áüß 30, 2014 {»Áμ¨£i, ö|k[Pi Á[Q 
¼ªöhmiß £õøu C¸¨¦ ¤ßÁ¸® {¾øÁPøÍU 
PõmkQÓx. 

ÂÁμ[PÒ ¹. 
Ámi ©ØÖ® uÒÐ£i 45,40,600 
¤ÀPÎÀ uÒÐ£i uÒÐ£i 01-07-2013 4,750 
¤ÀPÒ uÒÐ£i ö\´¯¨£mk Áõ[P¨£mhÚ 3,37,400 

  30.06.2014 AßÖ Põ»õÁv¯õPõu uÒÐ£i ¹. 5,560 
÷uøÁ¯õÚ \› ö\´uÀ EÒÏkPøÍ ÁøμÄ ö\´x, 
»õ£® ©ØÖ® CÇ¨¦ P/S US ÁμÄ øÁUP¨£k® 
Ámi ©ØÖ® uÒÐ£i°ß AÍøÁU PnUQk[PÒ.  

Or 
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 (b) From the following information prepare the profit 

and loss a/c of ABC Bank Ltd. for the year ended on 

31.03.2020 in the prescribed form. 

Particulars Rs. 

Interest on loan 2,59,000 

Interest on fixed deposits 2,75,000 

Rebate on bills discounted required 49,000 

Commission 8,200 

Establishment 54,000 

Discount on bills discounted 1,95,000 

Interest on cash credit 2,23,000 

Interest on current account 42,000 

Rent and taxes 18,000 

Interest on overdraft 1,54,000 

Director’s fees 3,000 

Auditor’s fees 1,200 

Interest on savings bank deposits 68,000 

Postage and telegrams 1,400 

Printing and stationery 2,900 

Sundry charges 1,700 

  Bad debts to be written off amounted to Rs. 40,000. 

Provision for taxation may be made at 55%. 

  Balance of profit from last year was Rs. 1,20,000. 

The directors have recommended a dividend of  

Rs. 20,000 for the shareholders. 
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  31.03.2020 AßÖ •iÁøh¢u BsiØPõÚ H¤] 

÷£[U ¼ªöhmiß »õ£® ©ØÖ® |èhzøu  

¤ßÁ¸® uPÁ¼¸¢x £›¢xøμUP¨£mh £iÁzvÀ 

u¯õº ö\´¯Ä®. 

ÂÁμ[PÒ ¹. 

PhÝUPõÚ Ámi 2,59,000 

{ø»¯õÚ øÁ¨¦PÐUPõÚ Ámi 2,75,000 

¤ÀPÎÀ uÒÐ£i ÷uøÁ 49,000 

uÒÐ£i 8,200 

{ÖÄuÀ 54,000 

¤ÀPÎÀ uÒÐ£i  1,95,000 

£n ÁμÄ «uõÚ Ámi 2,23,000 

|h¨¦U PnUQÀ Ámi 42,000 

ÁõhøP ©ØÖ® Á› 18,000 

AvP¨£ØÖ «uõÚ Ámi 1,54,000 

C¯US|ºPÒ Pmhn® 3,000 

uoUøP¯õÍº Pmhn® 1,200 

÷\ª¨¦ Á[Q øÁ¨¦PÐUPõÚ Ámi 68,000 

u£õÀ ©ØÖ® u¢v 1,400 

Aa]kuÀ ©ØÖ® GÊxö£õ¸Ò 2,900 

£À÷ÁÖ Pmhn[PÒ 1,700 

  ÷Ási¯ ÁõμõUPhßPÒ ¹. 40,000. Á›Âv¨¦UPõÚ 

HØ£õk 55% BP C¸UP»õ®. Ph¢u Bsk »õ£ 

C¸¨¦ ¹. 1,20,000. C¯US|ºPÒ iÂöhshõP  

¹. 20,000 £[SuõμºPÐUS. 
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12. (a) The Life Fund of a Life Insurance Company on  
31-03-2017 showed a balance of Rs. 54,00,000. 
However, the following items were not taken into 
account while preparing the Revenue a/c for  
2016-17. Ascertain the correct the fund balance. 

Particulars Rs. 
Interest and dividends accrued on investments 20,000 
Income tax deducted at source on the above 6,000 
Re-insurance claims recoverable 7,000 
Commission due on re-insurance premium paid 10,000 
Bonus in reduction of premiums 3,000 

  31.03.2017 AßÖ B²Ò Põ¨¥mk {ÖÁÚzvß 
B²Ò {v ¹. 54,00,000 GÆÁõÓõ°Ý®, 2016–17 
UPõÚ Á¸Áõ´ P/S ø¯z u¯õ›US® ÷£õx ¤ßÁ¸® 
E¸¨£iPÒ PnUQÀ GkzxUöPõÒÍ¨£hÂÀø». 
\›¯õÚ B²Ò {v C¸¨ø£ AÍÂkP.  

ÂÁμ[PÒ ¹. 
•u½miß «uõÚ Ámi ©ØÖ® DÄzöuõøP 20,000 
÷©ØTÔ¯ÁØÔß ‰»zvÀ Á¸©õÚ Á› PÈUP¨£mhx 6,000 
©Ö Põ¨¥mk ÷Põ›UøPPÒ v¸®£¨ ö£ÓUTi¯øÁ 7,000 
ö\¾zv¯ ©Ö Põ¨¥mk ¤Ÿª¯zvß «uõÚ Pªåß 10,000 
¤Ÿª¯[PøÍU SøÓ¨£vÀ ÷£õÚì 3,000 

Or 
 (b) The Life Assurance fund of a company on 31.3.2016 

was Rs. 29,00,000. Its net liability on that date was 
estimated to be Rs. 19,00,000 by the company’s 
actuary. The investments held by the company 
amounted to Rs. 1,60,00,000 against which the 
investment reserve stood at Rs. 2,50,000. The 
investments have to be written down by  
Rs. 3,50,000. The company declared a reversionary 
bonus of Rs. 20 per Rs. 1000 with the option to 
policy holders of bonus in cash at the rate of Rs. 8 
per Rs. 1,000. Total value of policies in force was  
Rs. 8 crores. 1/4 of the policy (in value) decided to 
receive the bonus in cash. The company estimated 
that its liability for income tax would be  
Rs. 1,60,000. Draft journal entries to record the 
above. 
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  31.3.2016 AßÖ J¸ {ÖÁÚzvß B²Ò Põ¨¥mk 
{v ¹. 29,00,000 AßÖ Auß {Pμ ö£õÖ¨¦ 
{ÖÁÚzvß BU_Á› ‰»® ¹. 19,00,000. {ÖÁÚ® 
øÁzv¸¢u •u½kPÒ ¹. 1,60,00,000 AuØS GvμõP 
•u½mk øP°¸¨¦ ¹. 2,50,000 •u½kPÒ  
¹. 3,50,000 {ÖÁÚ® v¸®£¨ö£Ö® ÷£õÚì ¹. 20 
¹£õ´US ¹. 1000, £õ¼]uõμºPÐUS ÷£õÚì 
öμõUP©õP ¹. 8 ¹. 1,000. |øh•øÓ°À EÒÍ 
£õ¼]PÎß ö©õzu ©v¨¦ ¹. 8 ÷Põi. £õ¼]°ß ¼ 
(©v¨¤À) ÷£õÚøé £n©õP¨ ö£Ó •iÄ 
ö\´¯¨£mhx. Á¸©õÚ Á›UPõÚ Auß ö£õÖ¨¦  
¹. 1,60,000. BP C¸US® GßÖ {ÖÁÚ® 
©v¨¤mkÒÍx. ÷©÷» EÒÍÁØøÓ £vÄ ö\´¯ 
SÔ¨÷£mk¨ £vÄPÒ ©ØÖ® ÷£÷μkU PnUS 
u¯õ›UPÄ®. 

13. (a) The pioneer Gas Company rebuilt and re-equipped 
part of their works at a cost of Rs. 15,00,000. The 
part of the old works thus superseded cost  
Rs. 9,00,000. Rs. 60,000 is realized by the sale of old 
materials and old materials valued Rs. 2,000 are 
used in the reconstruction and included in the cost 
of Rs. 15,00,000 mentioned above. The cost of labour 
and materials is 20% higher now than when the old 
works were constructed. Give journal entries and 
prepare the necessary ledger accounts. 

  •ß÷Úõi G›Áõ² {ÖÁÚ® ö\»ÂÀ u[PÒ 
£oPÎß J¸ £Svø¯ ¦Úμø©zx ©Ö^μø©zux.  
¹. 15,00,000. CÆÁõÖ •Ô¯iUP¨£mh £øÇ¯ 
£oPÎß £Sv ¹. 9,00,000, ¹. 60,000 £øÇ¯ 
ö£õ¸mPÒ ©ØÖ® £øÇ¯ ö£õ¸mPøÍ ÂØ£øÚ 
ö\´Áuß ‰»® ¹. 2,000 ¦Úμø©¨¦US 
£¯ß£kzu¨£mk ÷©÷» SÔ¨¤mkÒÍ ¹. 
15,00,000. £øÇ¯ ÷Áø»PÒ Pmh¨£mhøu Âh 
uØ÷£õx öuõÈ»õÍº ©ØÖ® ö£õ¸mPÎß Âø» 
20% AvP©õP EÒÍx. áºÚÀ EÒÏkPøÍ öPõkzx 
÷uøÁ¯õÚ ö»máº PnUSPøÍ u¯õº ö\´¯Ä®. 

Or 
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 (b) Explain the Natures of Features of Double 
Accounts. 

  CμmøhU PnUSPÎß A®\[PÎß ußø©PøÍ 
ÂÍUSP. 

14. (a) On 01-04-2018, S Ltd. has a subscribed share 
capital of Rs. 5,00,000 divided into 50,000 fully paid 
equity shares of Rs. 10 each. It had accumulated 
capital and revenue profits to the tune of  
Rs. 3,90,000 by the date when H Ltd acquired 80% 
of its shares for Rs. 9,00,000. The profit earned by  
S Ltd. amounted to Rs. 2,60,000 for the year ended 
31-03-2019 on which date S Ltd. issued by way of 
bonus, one fully paid equity share of Rs. 10 for every 
five equity shares held out of its per-acquisition 
profits. Calculate as on 31.3.2019, cost of control 
and minority interest just before the issue of bonus 
shares. 

  01.04.2018 AßÖ, Gì ¼ªöhm Cß \¢uõ £[S 

‰»uÚ® ¹. 5,00,000 •Êø©¯õP ö\¾zu¨£mh 

50,000 £[SPÍõP ¤›UP¨£mh JÆöÁõßÖ® ¹. 10. 
‰»uÚ® ©ØÖ® Á¸Áõ´ »õ£® ¹. 3,90,000 AßÖ 

Ga ¼ªöhm Auß 80% £[SPøÍ ¹. 9,00,000.  
Gì ¼ªöhm Dmi¯ »õ£® ¹. 2,60,000. 31.03.2019 
AßÖ •iÁøh¢u BsiØS Gì ¼ªöhm ÷£õÚì 
‰»® ÁÇ[P¨£mhx, J¸ •Êø©¯õP ö\¾zu¨£mh 
DUÂmi £[S JÆöÁõ¸ I¢x DUÂmi 
£[SPÐUS® Auß øP¯P¨£kzuÀ »õ£zvÀ 

C¸¢x ¹. 10 \©£[S C»Á\©õP ÁÇ[Q¯x.. 

   31.3.2019® AßÖ AhUPa ö\»ÂøÚ²® ©ØÖ® 
]Ö£õsø©°Ú›ß ©v¨¤øÚ²® C»Á\ £[SPÒ 
ÁÇ[S•ß PnUQkP.  

Or 
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 (b) Balances Sheets on 31.03.2019. 
Liabilities H Ltd S Ltd Assets H Ltd S Ltd 

 Rs. Rs.  Rs. Rs. 

Share 
capital  
Rs. 10 each 

2,50,000 1,00,000 Sundry assets 2,23,000 1,52,000

Reserves 50,000 25,000 100% shares  
in B Ltd. 

1,17,000 –

Creditors 40,000 30,000 Preliminary 
Expenses 

– 3,000

 3,40,000 1,55,000  3,40,000 1,55,000

  The shares of B Ltd. were acquired at Rs. 1,17,000 
on 31-03-2019. Prepare consolidated Balance Sheet 
as on 31-03-2019. 

  31.03.2019 AßÖ C¸¨¦{ø»PÒ. 

ö£õÖ¨¦PÒ Ga 
¼ªöhm

Gì 
¼ªöhm

ö\õzxUPÒ Ga 
¼ªöhm

Gì 
¼ªöhm

 ¹. ¹.  ¹. ¹. 

£[S ‰»uÚ® 
JÆöÁõßÖ® 

¹. 10 

2,50,000 1,00,000 £À÷ÁÖ 
ö\õzxUPÒ

2,23,000 1,52,000

C¸¨¦UPÒ 50,000 25,000 ¤ ¼ªöhm 

CÀ 100% 
£[SPÒ 

1,17,000 –

Phß 
öPõkzuÁºPÒ 

40,000 30,000 §ºÁõ[P 
ö\»ÄPÒ 

– 3,000

 3,40,000 1,55,000  3,40,000 1,55,000

   ¤ ¼ªöhm £[SPÒ 31.03.2019 AßÖ ¹. 1,17,000. 
31.03.2019 AßÖ J¸[QønUP¨£mh C¸¨¦{ø»z 
uõøÍz u¯õ›UPÄ®. 
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15.  (a) S.S. Latha sailed from Bombay port on 01-01-2002 
and arrived at Chennai port on 31-03-2002 Kochin 
port. The following good were loaded : 

   200 Tons and 40 Tons loaded at Bombay for 
Chennai and Kochin ports respectively. 100 Tons 
loaded at Kochin for Chennai port. 

   The freight charges were : 
  Bombay to Chennai – Rs. 1,500 per ton. 
  Bombay to Kochin – Rs. 1,000 per ton. 
  Kochin to Chennai – Rs. 800 per ton. 
  The freight is subject to 10% primage and 5% 

address commission. Calculate the freight, primage 
and address commission. 

   Gì.Gì. »uõ £®£õ´ xøÓ •PzvÀ C¸¢x 
01.01.2002 AßÖ P¨£¼À ¦Ó¨£mk 31.03.2002 
AßÖ öPõa] xøÓ•P® Á¢uøh¢uõº. ¤ßÁ¸® 
ö£õ¸mPÒ HØÓ¨£mhÚ. 

   ö\ßøÚ ©ØÖ® öPõa] xøÓ•P[PÐUS •øÓ÷¯ 
200hß ©ØÖ® 40 hß £®£õ°À HØÓ¨£mhx.  

  ö\ßøÚ xøÓ•PzvØS 100 hß öPõa]°À 
HØÓ¨£mhx. 

   \μUS Pmhn® : 

   £õ®÷£ to ö\ßøÚ – hß JßÖUS ¹. 1,500 

  £õ®÷£ to öPõa]ß – hß JßÖUS ¹. 1,000 

  öPõa]ß to ö\ßøÚ – hß JßÖUS ¹. 800. 

   \μUS 10% •ußø© ©ØÖ® 5% •PÁ› PªåÝUS 
Em£mhx. \μUS, •ußø© ©ØÖ® •PÁ› Pªåß 
PnUQkP. 

Or 

 (b) Write short notes on : 
  (i) Primage 
  (ii) Address commission 
  (iii) Freight 
   ]Ö SÔ¨¦PøÍ GÊxÄ® : 

   (i) •ußø© 

  (ii) •PÁ› Pªåß 

  (iii) \μUS 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. From the following figures taken from the books of Money 
Bank Ltd., prepare Account and Balance Sheet as on  
31-12-2017. 

Particulars Rs. in ‘000 
10,000 shares of Rs. 100 each Rs. 50 paid up 500 
Reserve fund investments 350 
Fixed deposits 950 
Savings bank deposits 3,000 
Current deposits 8,000 
Money at call and short notice 450 
Investments 2,500 
Interest accrued and paid 200 
Rent 20 
Salaries (including G.M’s Salary Rs. 24,000) 69 
Directors fees 6 
Provident fund contribution 5 
General expenses 10 
Profit & Loss a/c – 01-01-2017 200 
Bank drafts 310 
Unclaimed dividends 20 
Premises after depreciation upto 31-12-2016 
Rs. 1,00,000) 

1,200 

Cash 150 
Stock of stationery 10 
Cash with RBI 1,400 
Traveller’s cheques 500 
Balance with other banks 1,600 
Letters of credit 300 
Borrowed from banks 800 
Owing by foreign correspondents 100 
Interest and discounts 700 
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Particulars Rs. in ‘000 
Commission 50 
Bills discounted 600 
Loans 3,000 
Cash credits and overdrafts 4,000 
Bills for collection 140 
Acceptances on behalf of customers 200 
Dividend for 2016 50 
Branch adjustments (crs) 10 

 Rebate on bills discounted for unexpired term is  
Rs. 5,000. A provision for doubtful debts amounting to  
Rs. 30,000 is required. Create provision for taxation to 
the extent of Rs. 1,00,000. Charge 5% depreciation on 
premises on original cost. Travellers cheques paid 
amounted to Rs. 20,000. 

 ©o ÷£[U ¼ªöhm ¦zuP[PÎÀ C¸¢x GkUP¨£mh 
¤ßÁ¸® ¦ÒÎ ÂÁμ[PÎÀ C¸¢x, 31.12.2017 
÷uv°ß£i »õ£® ©ØÖ® CÇ¨¦ PnUS ©ØÖ® 
C¸¨¦{ø»ø¯ u¯õº ö\´¯Ä®. 

ÂÁμ[PÒ ¹. ‘000 
CÀ 

10,000 £[SPÒ ¹. 100 u»õ ¹. 50 
ö\¾zu¨£mhx  

500 

›ÁºÆ {v •u½kPÒ 350 
{ø»¯õÚ øÁ¨¦ 950 
÷\ª¨¦ Á[Q øÁ¨¦ 3,000 
uØ÷£õøu¯ øÁ¨¦zöuõøP 8,000 
AøÇ¨¤¾® SÖQ¯ AÔÂ¨¤¾® £n® 450 
•u½kPÒ 2,500 
Ámi vμmh¨£mk ö\¾zu¨£mhx 200 
ÁõhøP 20 

\®£Í® (G.M Cß \®£Í® ¹. 24,000 Em£h) 69 
C¯US|ºPÒ Pmhn® 6 
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Á¸[Põ» øÁ¨¦ {v £[PÎ¨¦ 5 
ö£õx ö\»ÄPÒ 10 

»õ£® ©ØÖ® CÇ¨¦ P/S – 01-01-2017 200 
Á[Q ÁøμÄPÒ 310 
÷Põμ¨£hõu DÄzöuõøP 20 

ÁÍõP® (÷u´©õÚzvØS¨ ¤ÓS 31-12-2016  
¹. 1,00,000) 

1,200 

£n® 150 
GÊxö£õ¸mPÎß C¸¨¦ 10 
›\ºÆ Á[Q°h® £n®  1,400 
£¯oPÎß Põ÷\õø»PÒ 500 
©ØÓ Á[QPÐhß C¸¨¦ 1,600 
 Phß Piu[PÒ 300 
 Á[QPÎÀ Phß ÁÇ[P¨£mhx 800 
öÁÎ|õmk {¸£ºPÒ Põμn©õP 100 
Ámi ©ØÖ® uÒÐ£iPÒ 700 
uÒÐ£i 50 
¤ÀPÒ uÒÐ£i 600 
PhßPÒ 3,000 
£n ÁμÄPÒ ©ØÖ® AvP¨£ØÖ 4,000 
Á`¼¨£uØPõÚ ¤ÀPÒ 140 
ÁõiUøP¯õÍºPÎß \õº£P HØÖUöPõÒÐuÀ 200 

2016UPõÚ DÄzöuõøP 50 

QøÍ \› ö\´uÀ (Crs) 10 

 Põ»õv¯õPõu Põ»zvØS uÒÐ£i ö\´¯¨£mh ¤ÀPÎÀ 

uÒÐ£i ¹. 5,000. \¢÷uPzvØS›¯ PhßPÐUPõÚ 

JxURk ¹. 30,000 ÷uøÁ¨£kQÓx. Á›Âv¨¦UPõÚ 

HØ£õkPøÍ ¹. 1,00,000. A\À Âø»°À ÁÍõPzvÀ 5% 
÷u´©õÚzøu Á`¼UPÄ®. £¯oPÐUPõÚ Põ÷\õø»PÒ 

¹. 20,000. 
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17. From the following figures appearing in the books of Fire 
Insurance division of a General company, show the 
amount of claim as it would appear in revenue account, 
by preparing schedule 2, claims incurred. 

Particulars Direct
Business 

Rs. 
(‘000) 

Re-
insurance 
Rs. (‘000) 

Claims paid during 2015-16 4,670 700 
Claims payable  
01.04.2015 

 
763 

 
87 

31.3.2016 812 53 
Claims received  – 230 
Claims  
01.04.2015 

 
– 

 
65 

31.03.2016 – 113 
Expenses of management  
(includes Rs. 35 thousand surveyors  
fees and Rs. 45 thousand legal expenses for 
settlement of claims) 

230 - 

 J¸ ö£õx {ÖÁÚzvß w¯øn¨¦U Põ¨¥mk¨ ¤›Âß 
¦zuP[PÎÀ ÷uõßÖ® ¤ßÁ¸® ¦ÒÎ ÂÁμ[PÎ¼¸¢x, 
Á¸Áõ´U PnUQÀ ÷uõßÖ® E›ø©÷Põμ¼À AÍÄ, 
AmhÁøn 2 Iz u¯õ›¨£uß ‰»®, ÷Põμ¨£mh 
E›ø©÷PõμÀPøÍU PõmhÄ®. 

ÂÁμ[PÒ ÷|μi 
ÁoP® ¹. 

(‘000) 

©Ö 
Põ¨¥k ¹. 

(‘000) 
2015-16 CÀ ö\¾zu¨£mh ÷Põ›UøPPÒ 4,670 700 
ö\¾zu ÷Ási¯ E›ø©÷PõμÀPÒ 

01.04.2015 
 

763 
 

87 
31.3.2016 812 53 
E›ø©÷PõμÀPÒ ö£Ó¨£mhÚ  – 230 
E›ø©÷PõμÀPÒ  

01.04.2015 
 

– 
 

65 
31.03.2016 – 113 
{ºÁõPa ö\»ÄPÒ  (¹. 35 B°μ® \º÷Á¯º 
Pmhn[PÒ ©ØÖ® E›ø©÷PõμÀPøÍz 

wº¨£uØPõÚ ¹. 45 B°μ® \mha ö\»ÄPÒ Em£h)

230 - 
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18. Explain about the Final Accounts prepared under Double 
Account System. 

 CμmøhU PnUS •øÓ°ß RÌ u¯õ›UP¨£mh CÖvU 
PnUSPÒ £ØÔ ÂÍUPÄ®. 

19. The balances sheets of X Ltd. and its subsidiary Y Ltd. as 
on 31-03-2016 are given below :  

Liabilities X Ltd. Y Ltd. Assets X Ltd. Y Ltd.

 Rs. Rs.  Rs. Rs. 

Equity shares of 
Rs.10 each 

6,00,000 2,00,000 Building 4,12,000 1,20,000

General reserve 3,80,000 8,000 Machinery 1,00,000 96,000
Profit and Loss A/c 3,20,000 1,44,000 Furniture 20,000 12,400
Sundry creditors 60,000 64,400 Stock 1,36,000 80,800
 Investment 4,48,000 —
 Debtors 1,12,000 63,200
 Cash 1,32,000 44,000

 13,60,000 4,16,400  13,60,000 4,16,400

 You are required to prepare consolidated balance sheet of 
X Ltd. and its subsidiary Y Ltd. as on 31-03-2016 together 
with the working notes after giving effect to the following 
relevant information. 

 (a) X Ltd. acquired 80% equity shares in Y Ltd. On  
01-07-2015 at a cost price of Rs. 4,48,000. 

 (b)  In the profit & loss account X Ltd. interim dividend 
declared by Y Ltd. on 01-07-2015 at the rate of 10% 
per annum is included. 

 (c)  Creditors of X Ltd. include an amounted of  
Rs. 24,000 in respect of purchase from Y Ltd. and 
stock of X Ltd. also includes stock at cost price of  
Rs. 12,000 purchased from Y Ltd. which sells the 
goods by adding 25% profit on the cost price. 

 On 01-04-2015 in the books of Y Ltd. profit & loss ac 
credit balance was Rs. 1,12,000 from which the company 
declared 10% interim dividend. During the year  
2015-2016 profit of the company was constant. 
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 31.03.2016 AßÖ X ¼ªöhm ©ØÖ® Auß xøn 
{ÖÁÚ©õP Y ¼ªöhm Cß C¸¨¦{ø»PÒ R÷Ç 
öPõkUP¨£mkÒÍÚ. 

ö£õÖ¨¦PÒ X 
¼ªöhm

Y 
¼ªöhm

ö\õzxUPÒ X 
¼ªöhm

Y 
¼ªöhm

 ¹. ¹.  ¹. ¹. 

DUÂmi £[SPÒ  
¹. 10 
JÆöÁõßÖ® 

6,00,000 2,00,000 Pmih[PÒ 4,12,000 1,20,000

ö£õx C¸¨¦ 3,80,000 8,000 C¯¢vμ[PÒ 1,00,000 96,000
»õ£® ©ØÖ® 
CÇ¨¦ P/S 

3,20,000 1,44,000 ©μa\õ©õßPÒ 20,000 12,400

£À÷ÁÖ Phß 
ÁÇ[S£ÁºPÒ 

60,000 64,400 £[S 1,36,000 80,800

 •u½kPÒ 4,48,000 —
 PhÚõÎPÒ 1,12,000 63,200
 £n® 1,32,000 44,000

 13,60,000 4,16,400  13,60,000 4,16,400

 31.3.2016 ÷uv°ß X ¼ªöhm ©ØÖ® Auß xøn 
{ÖÁÚ©õÚ Y ¼ªöhm BQ¯ÁØÔß J¸[Qøn¢u 
C¸¨¦{ø»U SÔ¨ø£ ¤ßÁ¸® öuõhº¦øh¯ 
uPÁÀPÐUSa ö\¯À£kzv¯ ¤ÓS ÷Áø» SÔ¨¦PÐhß 
}[PÒ u¯õ›UP ÷Ásk®. 

 (A) X ¼ªöhm, Y ¼ªöhm CÀ 80% DUÂmi £[SPøÍ 
Áõ[Q¯x 01-07-2015 AßÖ ¹. 4,48,000. 

 (B)  01.07.2015 AßÖ Y ¼ªöhm BÀ AÔÂUP¨£mh 
»õ£® ©ØÖ® CÇ¨¦U PnUQÀ X Ltd CøhUPõ» 
DÄz öuõøP BskUS 10% Ãu® 
÷\ºUP¨£mkÒÍx.  

 (C)  X ¼ªöhm  Cß PhÚõÎPÒ ¹. 24,000 Y ¼ªöhm  
©ØÖ® X ¼ªöhm  £[SPÎÀ C¸¢x Áõ[S® ÷£õx 
£[S Âø» Y ¼ªöhm  {ÖÁÚzvhª¸¢x  
¹. 12,000 Áõ[P¨£mhx. Cx Âø»°À 25% »õ£® 
÷\ºzx ö£õ¸mPøÍ ÂØQÓx.  

 01-04-2015 AßÖ Y ¼ªöhm  {ÖÁÚzvß »õ£® ©ØÖ® 
|èh® P/S  Phß C¸¨¦ ¹. 1,12,000 Av¼¸¢x 
{ÖÁÚ® 10% CøhUPõ» DÄzöuõøP AÔÂzux. 2015–
2016 B® BsiÀ {ÖÁÚzvß »õ£® {ø»¯õÚx.  
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20. S.S Jalaganga travelled from Chennai to Tokyo and back 
during the 1st Quarter of 2002. It carried 4,000 tons of 
Cargo in the onward journey, charged at Rs. 500 per ton. 
On the return journey 3,000 tons of goods were carried on 
which the freight was at Rs. 600 per ton. The rates of 
freight are subject to Surcharge of 10%. Primage of 5% on 
the total freight. (Exclusive of Surcharge) is agreed upon. 
The address commission is fixed at 4%. 

 You are required to compute : 

 (a) Freight charges on the trip 

 (b) Primage 

 (c) Address Commission 

 Gì.Gì. á»P[Põ 2002 B® Bsiß •uÀ Põ»õsiÀ 
ö\ßøÚ°¼¸¢x ÷hõUQ÷¯õÂØS¨ £¯n® ö\´uõº. Cx 
4,000 hß \μUSPøÍ Gkzxa ö\ßÓx. hß JßÖUS 500. 
v¸®¦® ÷£õx 3,000 hß \μUSPÒ öPõsk 
ö\À»¨£mhÚ, AvÀ \μUS ¹. 600 hß JßÖUS \μUS 
Pmhn[PÒ 10% TkuÀ PmhnzvØS Em£mhx. ö©õzu 
\μUSPÎÀ •ußø© 5% (AvP¨£m\® ¤μzv÷¯P©õP) 
J¨¦U öPõÒÍ¨£mhx •PÁ› Pªåß 4% BP 
{ºn°UP¨£mkÒÍx. }[PÒ PnUQh ÷Ásk®  

 (A) £¯nzvß ÷£õx \μUS Pmhn® 

 (B) •ußø© 

 (C) •PÁ› Pªåß 

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What is Management accounting? 

 ÷©»õsø© PnUQ¯À GßÓõÀ GßÚ? 

2. List any two advantages of management accounting. 

 ÷©»õsø© PnUQ¯¼ß H÷uÝ® Cμsk |ßø©PøÍ 
£mi¯¼kP. 

3. Mention any three limitations of ratio analysis. 

 ÂQu £S¨£õ´Âß H÷uÝ® ‰ßÖ Áμ®¦PøÍU 
SÔ¨¤kP. 

4. Define profitability and Solvency. 

 »õ£® ©ØÖ® PhøÚ Áøμ¯ÖUPÄ®. 

5. What are the causes of changes in working capital? 

 £o ‰»uÚzvÀ HØ£k® ©õØÓ[PÐUPõÚ Põμn[PÒ 
GßÚ? 
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6. List the four heads of sources and application of funds. 

 Buõμ[PÎß |õßS uø»¨¦PøÍ²® {vPÎß 
£¯ß£õkPøÍ²® £mi¯¼kP. 

7. Write about budget period. 

 £möám Põ»® £ØÔ GÊxP. 

8. What is master budget? 

 ©õìhº £möám GßÓõÀ GßÚ? 

9. What is variance analysis? 

 ©õÖ£õk £S¨£õ´Ä GßÓõÀ GßÚ? 

10. Define marginal costing. 

 ÂÎ®¦ Âø»ø¯ Áøμ¯Ö. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the importances of management 
accounting? 

  ÷©»õsø© PnUQ¯¼ß •UQ¯zxÁ® GßÚ? 

Or 

 (b) State the objectives of management accounting. 

  ÷©»õsø© PnUQ¯¼ß ÷|õUP[PøÍU 
SÔ¨¤hÄ®. 

12. (a) Explain the objectives of preparing financial 
statements. 

  {v{ø» AÔUøPPøÍ u¯õ›¨£uß ÷|õUP[PøÍ 
ÂÍUSP. 

Or 
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 (b) From the following information, prepare a Balance 

sheet. Show the workings. 

(i) Working capital Rs. 75,000 

(ii) Reserves and surplus Rs. 1,00,000

(iii) Bank overdraft Rs. 60,000 

(iv) Current ratio 1.75 

(v) Liquid ratio 1.15 

(vi) Fixed assets to proprietors funds 0.75 

(vii) Long-term liabilities Nil 

  ¤ßÁ¸® uPÁ¼¼¸¢x, C¸¨¦{ø»U SÔ¨ø£z 
u¯õ›UPÄ®. ö\¯À£õkPøÍU Põmk. 

(i) ö\¯À£õmk ‰»uÚ® ¹. 75,000 

(ii) øP°¸¨¦ ©ØÖ® E£› ¹. 1,00,000

(iii) Á[Q KÁº iμõL¨m ¹. 60,000 

(iv) uØ÷£õøu¯ ÂQu® 1.75 

(v) vμÁ ÂQu® 1.15 

(vi) E›ø©¯õÍºPÎß {vPÐUS {ø»¯õÚ ö\õzxUPÒ 0.75 

(vii) }shPõ» ö£õÖ¨¦PÒ  CÀø» 

13. (a) Calculate the net cash flow from financing activities 

from the following details: 

 Rs. 

Issue of debentures for cash 20,00,000

Long term loan from bank 5,00,000

Redemption of preference shares 6,00,000

Purchase of land 9,00,000
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  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x {v 
|hÁiUøPPÎ¼¸¢x {Pμ £n¨¦ÇUPzøuU 
PnUQk[PÒ. 

 ¹. 

£nzvØPõÚ Phß £zvμ[PøÍ ÁÇ[SuÀ 20,00,000

Á[Q°À C¸¢x }shPõ» Phß 5,00,000

•ßÝ›ø©¨ £[SPÎß «m¦ 6,00,000

{»® Áõ[SuÀ 9,00,000

Or 

 (b) Distinguish between fund flow and cash flow 
statements. 

  {v Kmh® ©ØÖ® £n¨¦ÇUP AÔUøPPøÍ 
÷ÁÖ£kzxP. 

14. (a) Explain the advantages of budgetary control. 

  £möám Pmk¨£õmiß |ßø©PøÍ ÂÍUSP. 

Or 

 (b) You are required to prepare selling overheads 
budget from the following estimates given below: 

  Advertisement Rs. 1,000  

  Salaries Rs. 1,000 

  Expenses of the sales department (fixed) Rs. 750 

  Salaries and D.A Rs. 300 

  Commission at 1% on sales effected. 

  Carriage outwards: estimated at 5% on sales 

  Agent commission : 6 ½ on sales 

  The sales during the period were estimated as 
follows: 

  Rs. 80,000 including agent’s sales Rs. 8,000  

  Rs. 90,000 including agent’s sales Rs. 10,000  

  Rs. 1,00,000 including agent’s sales Rs. 10,500. 
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  R÷Ç öPõkUP¨£mkÒÍ ¤ßÁ¸® ©v¨¥kPÎÀ 
C¸¢x ÂØ£øÚ°ß ÷©À{ø» £möámøh }[PÒ 
u¯õ›UP ÷Ásk®. 

  ÂÍ®£μ® ¹. 1,000  

  \®£Í® ¹. 1,000 

  ÂØ£øÚz xøÓ°ß ö\»ÄPÒ ({ø»¯õÚøÁ)  

¹. 750 

  \®£Í® ©ØÖ® D.A ¹. 300 

  ÂØ£øÚ°À 1% Pªåß 

  öÁÎ÷¯ ö\À¾® Ási : ÂØ£øÚ°À 5% GÚ 
©v¨¤h¨£mkÒÍx. 

  •PÁº Pªåß : ÂØ£øÚ°À 6 ½  

  C¢u Põ»PmhzvÀ ÂØ£øÚ ¤ßÁ¸©õÖ 

©v¨¤h¨£mhx : 

  •PÁº ÂØ£øÚ ¹. 8,000 Em£h ¹. 80,000 

  •PÁº ÂØ£øÚ ¹. 10,000 Em£h ¹. 90,000 

  •PÁº ÂØ£øÚ ¹. 10,500 Em£h ¹. 1,00,000 

15.  (a) You are required to calculate : 

  (i)  P.V. ratio  

  (ii)  Margin of safety  

  (iii) Sales  

  (iv)  Variable cost from the following figures: 

 Rs. 

Fixed cost 12,000

Profit 1,000

Break even sales 60,000
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  }[PÒ PnUQh ÷Ásk® : 

  (i)  ¤.Â ÂQu®  

  (ii)  £õxPõ¨¦ ÂÎ®¦  

  (iii) ÂØ£øÚ 

  (iv)  ¤ßÁ¸® ¦ÒÎ ÂÁμ[PÎÀ C¸¢x ©õÖ£k® 

Âø»: 

 ¹. 

{ø»¯õÚ ö\»Ä 12,000

»õ£® 1,000

¤÷μU DÁß ÂØ£øÚ 60,000

Or 

 (b) Determine the Break even point from the following 

particulars: 

 Rs. 

Fixed cost 1,50,000

Variable cost per unit 10

Selling price per unit  15

  ¤ßÁ¸® ÂÁμ[PÎÀ C¸¢x •ÔÄ ¦ÒÎø¯ 

wº©õÛUPÄ®. 

 ¹. 

{ø»¯õÚ ö\»Ä 1,50,000

J¸ ³ÛmkUS ©õÓUTi¯ Âø» 10

J¸ ³Ûm ÂØ£øÚ Âø» 15
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the various tools of management accounting. 

 ÷©»õsø© PnUQ¯¼ß £À÷ÁÖ P¸ÂPøÍ ÂÍUSP. 

17. Examine the relationship between solvency, liquidity and 
profitability ratios. 

 PhÚÎ¨¦, £n¨¦ÇUP® ©ØÖ® »õ£ ÂQu[PÐUS 
Cøh°»õÚ EÓøÁ ÂÍUSP. 

18. The comparative balance sheet of Mr. Ravi for the last 
two years were as follows: 
Liabilities 1998 1999 Assets 1998 1999 

 Rs. Rs.  Rs. Rs. 

Loan form wife – 20,000 Cash 11,000 15,000

Bills payable 12,000 8,000 Debtors 40,000 35,000

Creditors 25,000 52,000 Stock 25,000 30,000

Loan from bank 43,000 60,000 Machinery 20,000 14,000

Capital 66,000 34,000 Land & building 50,000 80,000

 1,46,000 1,74,000  1,46,000 1,74,000

 Additional information: 

 (a) Net loss for the year 1999 amounted to Rs.13,000 

 (b) During the year a machine costing Rs. 5,000 
(accumulated depreciation Rs. 2,000) was sold for 
Rs. 2,500. The provision for depreciation against 
machinery as on 31.12.1998 was Rs. 6,000 and on 
31.12.1999 Rs. 7,000. 

  From the above information, prepare cash flow 
statement. 
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 Ph¢u Cμsk BskPÍõP v¸. μÂ°ß J¨¥mk 
C¸¨¦{ø» ¤ßÁ¸©õÖ 

ö£õÖ¨¦PÒ 1998 1999 ö\õzxUPÒ 1998 1999 

 ¹. ¹.  ¹. ¹. 

Phß £iÁ® ©øÚÂ – 20,000 öμõUP® 11,000 15,000
ö\¾zu ÷Ási¯ 
¤ÀPÒ 

12,000 8,000 PhÚõÎPÒ 40,000 35,000

Phß öPõkzuÁºPÒ 25,000 52,000 C¸¨¦a\μUS 25,000 30,000

Á[Q°¼¸¢x Phß 43,000 60,000 C¯¢vμ[PÒ 20,000 14,000

‰»uÚ® 66,000 34,000 {»® ©ØÖ® 
Pmih® 

50,000 80,000

 1,46,000 1,74,000  1,46,000 1,74,000

 TkuÀ uPÁÀ : 

 (A) 1999 B® BskUPõÚ {Pμ CÇ¨¦ ¹. 13,000 

 (B) BsiÀ ¹. 5,000 (vμmh¨£mh ÷u´©õÚ®  
¹. 2,000) Âø»²ÒÍ J¸ C¯¢vμ® ¹. 2,500 US 
ÂØP¨£mhx. 31.12.1998 AßÖ C¯¢vμ[PÐUS 
GvμõÚ ÷u´©õÚzvØPõÚ JxURk ¹. 6,000 BPÄ®, 
31.12.1999 AßÖ ¹. 7,000 BPÄ® C¸¢ux. 

  ÷©÷» EÒÍ uPÁÀPÎ¼¸¢x, £n¨¦ÇUP 
AÔUøPø¯z u¯õ›UPÄ®. 

19. From the following particulars given below prepare a 
cash budget for the month June 1999: 

 (a) Expected sales: 

  April 99 – Rs. 2,00,000  

  May – Rs. 2,20,000  

  June – Rs. 1,90,000 

  Credit allowed to customers is two months and 50% 
of the sales of every month is on cash basis. 

 (b) Expected purchases: 

  May 99 – Rs. 1,20,000  

  June – Rs. 1,10,000 

  40% of the purchase of every month is on cash basis 
and the balance is on cash basis and the balance is 
payable next month. 
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 (c) Rs. 2,000 is payable as rent every month. 

 (d) Time lag in payment of overhead is ½ month. 

  Overhead For May Rs. 12,000 For June Rs. 11,000  

 (e) Depreciation for the year is Rs.12,000. 

 (f) Interest receivable on investment during June and 
Dec Rs. 3,000 each. 

 (g) Tax payable during April 99 Rs. 10,000. 

 (h) Estimated cash balance as on 1-6-99 is Rs. 42,500. 
 R÷Ç öPõkUP¨£mkÒÍ ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x áüß 

1999 ©õuzvØPõÚ £n ÁμÄ ö\»Äz vmhzøuz 
u¯õ›UPÄ®. 

 (A) Gvº£õºUP¨£k® ÂØ£øÚ : 

  H¨μÀ 99 & ¹. 2,00,000; ÷© & ¹. 2,20,000 

  áüß & ¹. 1,90,000 

  ÁõiUøP¯õÍºPÐUS AÝ©vUP¨£k® Phß Cμsk 
©õu[PÒ ©ØÖ® JÆöÁõ¸ ©õuzvß ÂØ£øÚ°À 
50% £n Ai¨£øh°»õÚx. 

 (B) Gvº£õºUP¨£k® öPõÒ•uÀ : 

  ÷© 99 & ¹. 1,20,000; áüß & ¹. 1,10,000 

  JÆöÁõ¸ ©õu•® Áõ[S® öuõøP°À 40% öμõUP 
Ai¨£øh°¾®, «vz öuõøP £n Ai¨£øh°¾®, 
«vz öuõøP £n Ai¨£øh°¾®, «v Akzu ©õu® 
ö\¾zu¨£k®. 

 (C) JÆöÁõ¸ ©õu•® ¹. 2,000 ÁõhøP¯õP ö\¾zu 
÷Ásk®. 

 (D) ÷©À{ø»¨ £n® ö\¾zxÁvÀ Põ» uõ©u® ½ ©õu® 

  ÷©À{ø» : ÷© ©õu® ¹. 12,000; áüß ©õu®  
¹. 11,000 

 (E) BsiØPõÚ ÷u´©õÚ® ¹. 12,000. 

 (F) áüß ©ØÖ® i\®£›À •u½miß «x ö£Ó¨£k® 
Ámi u»õ ¹. 3,000. 

 (G) H¨μÀ 99 CÀ ö\¾zu ÷Ási¯ Á› ¹. 10,000 

 (H) 1.6.99 AßÖ PnUQh¨£mh £n C¸¨¦ ¹. 42,500. 
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20. From the following information relating to Quick 
standards ltd., you are required to find out 

(a) P.V ratio 

 (b) Break even point 

 (c) Profit 

 (d) Margin of safety 
 Rs. 

Total fixed cost 4,500

Total variable cost 7,500

Total sales 15,000

 (e) Also calculate the volume of sales to earn profit of 
Rs. 6,000 

 ÂøμÄ uμ{ø»PÒ ¼ªöhm öuõhº£õÚ ¤ßÁ¸® 
uPÁÀPÎÀ C¸¢x, }[PÒ  

(A) ¤.Â. ÂQu® 

 (B) •ÔÄ ¦ÒÎ 

 (C) »õ£® 

 (D) £õxPõ¨¦ Áμ®ø£ }[PÒ Psk¤iUP ÷Ásk® 

 ¹. 

ö©õzu {ø»¯õÚ ö\»Ä 4,500

ö©õzu ©õÔ Âø» 7,500

ö©õzu ÂØ£øÚ 15,000

 (E) ¹. 6,000 »õ£® Dmh ÂØ£øÚ°ß AÍøÁ²® 
PnUQk[PÒ.  

  

  

 

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define the term “Factory” as per The Factories Act, 1948. 

 öuõÈØ\õø»PÒ \mh®, 1948Cß £i ‘‘öuõÈØ\õø»’’ GßÓ 
ö\õÀø» Áøμ¯ÖUP.  

2. What is the main objective of The Factories Act, 1948?  

 öuõÈØ\õø»PÒ \mh®, 1948Cß •UQ¯ ÷|õUP® GßÚ? 

3. Define “minimum wages” as per The Minimum Wages 
Act, 1948.  

 SøÓ¢u£m\ Fv¯a \mh®, 1948 Cß £i ‘‘SøÓ¢u£m\ 
Fv¯[PÒ’’ Gß£øu Áøμ¯ÖUP.  

4. List any two uses of the “General Funds” of a trade union 
as per The Trade Unions Act, 1926. 

 öuõÈØ\[P[PÒ \mh®, 1926Cß £i J¸ öuõÈØ\[Pzvß 
‘‘ö£õx {vPÎß’’ H÷uÝ® Cμsk £¯ß£õkPøÍ 
£mi¯¼kP.  

Sub. Code 
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5. Define “industrial dispute” as per The Industrial Disputes 
Act, 1947. 

 öuõÈÀ uPμõÖ \mh®, 1947 Cß £i ‘‘öuõÈÀ uPμõÖ’’ 
Gß£øu Áøμ¯ÖUP.  

6. Who is considered a “workman” under The Industrial 
Disputes Act, 1947? 

 öuõÈÀ uPμõÖ \mh®, 1947 Cß RÌ ‘‘÷Áø» ö\´£ÁμõP’’ 
Pμu¨£k£Áº ¯õº? 

7. Define “workman” under The Workmen’s Compensation 
Act, 1923. 

 öuõÈ»õÍº CÇ¨¥mka \mh®, 1923 Cß RÌ ‘‘÷Áø» 
ö\´£Áº’’ Gß£øu Áøμ¯ÖP.  

8. What is the primary objective of The Workmen’s 
Compensation Act, 1923?  

 öuõÈ»õÍº CÇ¨¥k \mh®, 1923 Cß •ußø© ÷|õUP® 
GßÚ? 

9. What is the Provident Fund Scheme under The 
Employees’ Provident Funds Act, 1952? 

 FÈ¯ºPÎß Á¸[Põ» øÁ¨¦ {v \mh®, 1952 Cß RÌ 
Á¸[Põ» øÁ¨¦ {v vmh® GßÓõÀ GßÚ? 

10. List any two benefits provided under The Employees’ 
State Insurance Act, 1948. 

 FÈ¯ºPÎß ©õ{»U Põ¨¥mka \mh®, 1948&ß RÌ 
ÁÇ[P¨£mh Cμsk |ßø©PøÍ¨ £mi¯¼kP.  

 Part B  (5 × 5 = 25) 

Answer all questions choosing either (a) or (b). 

11. (a) What is the primary objective of The Factories Act, 
1948? 

  öuõÈØ\õø»PÒ \mh®, 1948 Cß •ußø© ÷|õUP® 
GßÚ? 

Or 
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 (b) Who is responsible for enforcing The Factories Act, 
1948? 

  öuõÈØ\õø»PÒ \mh®, 1948I A©À£kzxÁuØS 
¯õº ö£õÖ¨¦? 

12. (a) What is procedure for fixing minimum wages under 
The Minimum Wages Act, 1948? 

  SøÓ¢u£m\ Fv¯a \mh®, 1948 Cß RÌ 
SøÓ¢u£m\ Fv¯zøu {ºn°US® |øh•øÓ 
GßÚ? 

Or 

 (b) What are the rights of registered trade unions under 
The Trade Unions Act, 1926. 

  öuõÈØ\[P \mh®, 1926 Cß RÌ £vÄ ö\´¯¨£mh 
öuõÈØ\[P[PÎß E›ø©PÒ GßÚ? 

13. (a) Examine the legal framework surrounding lay-offs 
and retrenchments as provided in The Industrial 
Disputes Act 1947. 

  öuõÈÀ uPμõÖPÒ \mh®, 1947 CÀ ÁÇ[P¨£mkÒÍ 
£o}UP[PÒ ©ØÖ® BmSøÓ¨¦PøÍa _ØÔ²ÒÍ 
\mh Pmhø©¨ø£ Bμõ´P.  

Or 

 (b) Explore the impact of The Industrial Disputes Act, 
1947 on employer-employee relations in India.  

  öuõÈÀ uPμõÖ \mh®, 1947 C¢v¯õÂÀ EÒÍ 
•u»õÎ&£o¯õÍº EÓÄPÎÀ HØ£kzv¯ uõUPzøu 
Bμõ²P.  

14. (a) Explain the nature and scope of The Workmen’s 
Compensation Act, 1923. 

  öuõÈ»õÍº CÇ¨¥mka \mh®, 1923 Cß ußø© 
©ØÖ® ÷|õUPzøu ÂÍUPÄ®.  

Or 

 (b) What are the key rules regarding the payment of 
compensation to workmen under the Act? 

  \mhzvß RÌ öuõÈ»õÍºPÐUS CÇ¨¥k 
ÁÇ[SÁuØPõÚ •UQ¯ ÂvPÒ GßÚ? 
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15. (a) What are the key preliminaries for the applicability 
of The Employees’ Provident Funds Act, 1952? 

  FÈ¯ºPÎß Á¸[Põ» øÁ¨¦ {va \mh®, 1952 
Cß ö£õ¸¢uUTi¯ •UQ¯ •ß÷Úõmh[PÒ 
¯õøÁ? 

Or 

 (b) What are the eligibility criteria for availing benefits 
under The Employees’ State Insurance Act, 1948? 

  FÈ¯ºPÎß ©õ{»U Põ¨¥mka \mh®, 1948 Cß RÌ 
|ßø©PøÍ¨ ö£ÖÁuØPõÚ uSv AÍÄ÷PõÀPÒ 
GßÚ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. What restrictions are placed on the employment of 
women under The Factories Act, 1948? 

 öuõÈØ\õø»PÒ \mh®, 1948ß RÌ ö£sPøÍ ÷Áø»US 
A©ºzxÁuØS GßÚ Pmk¨£õkPÒ ÂvUP¨£mkÒÍÚ? 

17. Describe the role of committees and advisory boards 
under The Minimum Wages Act, 1948.  

 SøÓ¢u£m\ Fv¯a \mh®, 1948Cß RÌ SÊUPÒ ©ØÖ® 
B÷»õ\øÚ Áõ›¯[PÎß £[øP ÂÁ›.  

18. Analyze the provisions related to strikes and lockouts 
under The Industrial Disputes Act, 1947.  

 öuõÈÀ uPμõÖPÒ \mh®, 1947 Cß RÌ ÷Áø» {Özu[PÒ 
©ØÖ® §mkuÀ öuõhº£õÚ ÂvPøÍ £S¨£õ´Ä 
ö\´¯Ä®.  

19. Under what circumstances is an employer liable to pay 
compensation under The Workmen’s Compensation 
Act, 1923?  

 öuõÈ»õÓº CÇ¨¥mka \mh®, 1923&ß RÌ G¢ua 
`Ì{ø»°À J¸ •u»õÎ CÇ¨¥k ö\¾zu ÷Ásk®? 

20. Discuss the role of the Employees’ State Insurance 
Corporation (ESIC) in administering the Act. 

 \mhzøu {ºÁQ¨£vÀ FÈ¯ºPÎß ©õ{» Põ¨¥mkU 
PÇPzvß (ESIC) £[øP¨ £ØÔ ÂÁõvUP.  

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What do you know about tax evasion? 
 Á› H´¨¦ £ØÔ E[PÐUS GßÚ öu›²®? 

2. Who is eligible to pay indirect tax? 
 ©øÓ•P Á› ö\¾zu uSv²øh¯Áº ¯õº? 

3. Give the meaning of GST. 
 âGìi°ß ö£õ¸øÍ u¸P.  

4. List the members of GST council. 
 âGìi PÄß]À EÖ¨¤ÚºPøÍ £mi¯¼k[PÒ.  

5. What is services? 
 ÷\øÁPÒ GßÓõÀ GßÚ? 

6. What is exempt supply? 
 Â»US ÁÇ[PÀ GßÓõÀ GßÚ? 

7. What do you know about inward supply? 
 EÒ÷|õUQ¯ Â{÷¯õP® £ØÔ E[PÐUS GßÚ öu›²®? 
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8. Who will do the special audit? 

 ]Ó¨¦ uoUøPø¯ ¯õº ö\´ÁõºPÒ? 

9. What is nontaxable supply?  

 Á› ÂvUP¨£hõu ÁÇ[PÀ GßÓõÀ GßÚ? 

10. Is an aggregator required to be registered under GST? 

 âGìi°ß RÌ J¸ vμmi £vÄ ö\´¯¨£h ÷Ásk©õ? 

 Part B  (5 × 5 = 25) 

Answer all the questions. 

11. (a) What are the different types of indirect taxes in 
India. 

  C¢v¯õÂÀ EÒÍ £À÷ÁÖ ÁøP¯õÚ ©øÓ•P 
Á›PÒ GßÚ? 

Or 

 (b) State the features of Indirect taxes. 

  ©øÓ•P Á›PÎß A®\[PøÍU SÔ¨¤hÄ®.  

12. (a) How GST eliminates the cascading effect? 

  âGìi GÆÁõÖ AkUPkUPõÚ ÂøÍøÁ }USQÓx? 

Or 

 (b) Write the principles of GST council. 

  âGìi PÄß]¼ß öPõÒøPPøÍ GÊx[PÒ.  

13. (a)  Mention the Cases where Input Tax Credit is not 
allowed. 

  EÒÏmk Á›U Phß AÝ©vUP¨£hõu ÁÇUSPøÍU 
SÔ¨¤hÄ®.  

Or 
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 (b) Write the meaning of Intra-State Supply and  
Inter-State Supply. 

  ©õ{»[PÐUS Cøh÷¯¯õÚ ÁÇ[PÀ ©ØÖ® 
©õ{»[PÐUS Cøh÷¯¯õÚ ÁÇ[PÀ BQ¯ÁØÔß 
ö£õ¸øÍ GÊuÄ®.  

14. (a) Differentiate nil rated supply and zero rated supply. 

  JßÖ® Cßø© ©v¨¤h¨£mh ÁÇ[PÀ ©ØÖ® 
§äâ¯ ©v¨¤h¨£mh Â{÷¯õPzøu 
÷ÁÖ£kzx[PÒ.  

Or 

 (b) Explain the provisions of compounding offences. 

  SØÓ[PøÍ Tmk® ÂvPøÍ ÂÍUS[PÒ.  

15. (a) What is the refund procedure in case of UGST? 

  ²âGìi ÁÇUQÀ £nzøuz v¸®£¨ ö£Ö® 
|øh•øÓ GßÚ? 

Or 

 (b) How can actual suppliers claim credit of this TCS? 

  C¢u TCS Cß Phß öuõøPø¯ Esø©¯õÚ 
ÁÇ[S£Áº GÆÁõÖ ÷Põμ»õ®? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Elaborate the Major Defects in the Structure of Indirect 
Taxes before GST in India.  

 C¢v¯õÂÀ âGìiUS •ß ©øÓ•P Á›PÎß 
Pmhø©¨¤À EÒÍ •UQ¯ SøÓ£õkPøÍ Â›ÁõPU 
TÖ[PÒ.  

17. Explain GST with its features and benefits. 

 âGìiø¯ Auß A®\[PÒ ©ØÖ® |ßø©PÐhß 
ÂÍUPÄ®.  
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18. Describe the provisions regarding levy of GST. 

 âGìi Á› Âv¨¦ öuõhº£õÚ ÂvPøÍ ÂÁ›UPÄ®.  

19. What are the general disciplines which are required to be 
followed for imposing penalty? 

 A£μõu® ÂvUP GßÚ ö£õxÁõÚ JÊUP[PøÍ¨ ¤ß£ØÓ 
÷Ásk®? 

20. Outline the classifications of exemptions under GST. 

 âGìi°ß RÌ Â»USPÎß ÁøP¨£õkPøÍ ÷PõimkU 
Põmk[PÒ.  

———————— 
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B.Com. DEGREE EXAMINATION, APRIL 2025 

First Semester 

Commerce 

ADVANCED ACCOUNTANCY - I 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. Give the meaning of the term Accounting. 

 PnUS¨ £vÂ¯À GßÓ £uzvØPõÚ Aºzu[PøÍ u¸P. 

2. What is Journal? 

 SÔ¨÷£k GßÓõÀ GßÚ? 

3. What is Enron of principle? 

 ÷Põm£õk ¤øÇ GßÓõÀ GßÚ? 

4. Write the meaning of Bank Reconciliation Statement. 

 Á[Q \›UPmk £mi¯À GßÓõÀ GßÚ? 

5. Define Depreciation. 

 ÷u´©õÚ® Áøμ Â»UPn® u¸P. 

6. What is Diminishing Balance method of depreciation? 

 SøÓ¢u ö\À C¸¨¦ ÷u´©õÚ® GßÓõÀ GßÚ? 

Sub. Code 
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7. What is non-trading organisation? 

 Â¯õ£õμ ÷|õUP©ØÓ Aø©¨¦ GßÓõÀ GßÚ? 

8. What is Trading account? 

 Â¯õ£õμ PnUS GßÓõÀ GßÚ? 

9. What is Red Ink Interest? 

 ]Á¨¦ø© Ámi GßÓõÀ GßÚ? 

10. What is average due date? 

 \μõ\› uÁøn |õÒ Gß£x GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b) 

11. (a) Explain the rules of accounting. 

  PnUQ¯¼ß ÂvPøÍ ÂÁ›. 

Or 

 (b) From the following balance of Mr. Karthik prepare 
trial balance. 

 Rs. 

Cash a/c 60,000

Karthik’s capital 80,000

Land 20,000

Purchases 65,000

Sales 60,000

Vinod A/c(Cr) 5,000

Discount (Dr) 10,000

Rent 5,000

Babu A/c(Cr) 15,000
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  ¤ßÁ¸® ÂÁμ[PÎÀ C¸¢x v¸ PõºzvUQß 
C¸¨£õ´øÁ u¯õ›UPÄ®. 

 ¹. 
öμõUP P/S 60,000
PõºzvUQß •uÀ 80,000
Ch® 20,000
öPõÒ•uÀ 65,000
ÂØ£øÚ 60,000
Â÷Úõz P/S (Á) 5,000
uÒÐ£i (£) 10,000
ÁõhøP 5,000
£õ¦ P/S (£) 15,000

12. (a) Prepare a Bank Reconciliation Statement from the 
following: 

  (i) Balance as per cash book (Dr) Rs. 12,500 

  (ii) Cheque issued but not presented Rs. 900 

  (iii) Bank charges Rs. 230 

  (iv) Cheques deposited but not collected Rs. 1,600 

  (v) Direct deposit by customer Rs, 1,850. 
  Á[Q \›Pmk® £mi¯ø» u¯õ›UPÄ® 

  (i) öμõUP Hmiß£i C¸¨¦ £ØÖ ¹. 12,500 

  (ii) Põ÷\õø»PÒ uμ¨£mk Á`¾US Áμõ©¼¸¨£x 
¹. 900 

  (iii) Á[QU Pmhn® ¹. 230 

  (iv) Á`»õPõu Á[Q°À ö\¾zv¯ Põ÷\õø»PÒ  
¹. 1,600 

  (v) J¸ ÁõiUøP¯õÍº Á[Q°À ÷|μõPa 
ö\¾zv¯x ¹. 1,850  

Or 

 (b) Explain errors of Omission and errors of 
Commission. 

  Âk¤øÇ ©ØÖ® ö\´¤øÇ BQ¯ÁØøÓ ÂÍUSP. 
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13. (a) Sugan company purchased on 1.1.2016 machinery 
for Rs. 9,000 and spent Rs. 1,000 its installation. 
After having used it for three year it was sold for 
 Rs. 8,500. Depreciation is to be provided every year 
at the rate of 10% per annum in the fixed 
installment method. Prepare machinery account for 
the three year ends on 31.1 2. every year 

  áÚÁ› 01, 2016 À _Pß {Ö©® ¹. 9,000 US J¸ 
C¯¢vμzøu öPõÒ•uÀ ö\´x Aøu {ÖÄÁuØS  
¹. 1,000 ö\»Ä ö\´ux ‰ßÖ Á¸h 
£¯ß£õmiØS¨¤ß ¹. 8,500 US AÆÂ¯¢vμ® 
ÂØP¨£mhx. {ø»zuÁøn •øÓ°À Á¸hzvØS 
10 \uÃu® ÷u´©õÚ® PnUQh¨£kQÓx. C¯¢vμ 
PnUS ‰ßÖ Á¸h[PÐUS u¯õ›UPÄ®. JÆöÁõ¸ 
Á¸h•® i\®£º 31À PnUS •iUP¨£kQÓx. 

Or 

 (b) Explain the characteristics of Depreciation. 

  ÷u´©õÚzvß £s¦PøÍ ÂÁ›UPÄ®. 

14. (a) From the following ledger balance prepare trading 
and profit and loss account for the year ending 
31.12.2017. 

 Rs.  Rs. 
Purchase 11,870 Rent 360
Sales 14,690 Trade expenses 300
B/P 1,350 Debtors 7,580
B/R 3,200 Creditors 1,250
Return 
outwards 

350 Discount 
allowed 

40

Return 
inwards 

450 Drawings 1,200

Salaries 850 Cash in hand 600
Bad debts 100 Stock on 

31.12.17 
4,200

Cash at Bank 2,000 Discount 
received 

60



S–7370 

  

  5

  RÌUPõq® ÷£÷μmk C¸¨¦ {ø»°À 31.12.2017 À 
Â¯õ£õμ »õ£ |mhU P/S u¯õ›UP. 

 ¹.  ¹. 

öPõÒ•uÀ 11,870 ÁõhøP 360

ÂØ£øÚ 14,690 Â¯õ£õμ ö\»Ä 300

ö\zxa^mk 1,350 PhÚõÎPÒ 7,580

ö£ÖuÀ ^mk 3,200 PhÜ¢÷uõº 1,250

öPõÒ•uÀ 
v¸¨£® 

350 ÁÇ[P¨£mh 
uÒÐ£i 

40

EÒ v¸¨£® 450 Gk¨¦ 1,200

\®£Í® 850 öμõUP C¸¨¦ 600

ÁμõUPhß  100 C¸¨¦ 31.12.17 4,200

Á[Q C¸¨¦ 2,000 ö£Ó¨£mh uÒÐ£i 60

Or 

 (b) Explain the treatment of following items: 

  (i) Life Membership Fees. 

  (ii) Donations. 

  (iii) Legacy. 

  ¤ßÁ¸ÁÚÁØÔß PnURmk  •øÓPøÍ ÂÁ›. 

  (i) B²m \¢uõ ©ØÖ® 

  (ii) uõÚ® ©ØÖ® 

  (iii) E°À ‰»® |ßöPõøh 

15.  (a) What are the methods used for calculating the 
interest in account current? 

  PnUS |h¨¤À Ámi PnURmk •øÓPÒ ¯õøÁ? 

Or 
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 (b) Ram purchased goods from Hari, the due dates 
payment in cash being as follows: 

  March 15 Rs. 400 due 18th April 

  April 21 Rs. 300 due 24th May 

  April 27 Rs. 200 due 30th June 

  May 15 Rs. 250 due 18th July 

  Find out the average due date. 

  í›°hª¸¢x \μUS öPõÒ•uÀ, ö\´¯¨£mhx, 
μõ•ÁõÀ ¤ßÁ¸® •øÓPÎÀ £Ú® ö\¾zx® 
uÁøn |õÒ EÒÍx 

  ©õºa 15 ¹ 400 uÁøn |õÒ H¨μÀ 18 

  H¨μÀ 21 ¹ 300 uÁøn |õÒ ÷© 24 

  H¨μÀ 27 ¹ 200  uÁøn |õÒ áüß 30 

  ÷© 15 ¹ 250 uÁøn |õÒ áüø» 18 

  \μõ\› ö\¾zx |õøÍ Psk¤iUPÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. The following information you are required to prepare 
Trial Balance. 

 Rs.  Rs. 

Cash in hand 4,800 Furniture 60,000

Purchases 4,80,000 Bills receivable 80,000

Opening stock 1,40,000 Salaries 80,000

Creditors 96,800 Capital  4,00,000

Machinery 2,40,000 Bills payable 88,000

Wages 64,000 Debtors 2,00,000

Sales 8,04,000 Rent 40,000
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 RÌPõq® ÂÁμ[PøÍU öPõsk C¸¨£õ´Ä u¯õ›UPÄ®. 

 ¹.  ¹. 

øP°¸¨¦ 
öμõUP® 

4,800 AøÓP»ß 60,000

öPõÒ•uÀ 4,80,000 ö£ÖuÀ S›¯ 
©õØÖa^mk 

80,000

öuõhUPa 
\μUQ¸¨¦ 

1,40,000 \®£Í® 80,000

PhÜ¢÷uõº 96,800 •uÀ  4,00,000

C¯¢vμ® 2,40,000 ö\¾zxuØS›¯ 
©õØÖa^mk 

88,000

T¼ 64,000 PhÚõÎPÒ 2,00,000

ÂØ£øÚ 8,04,000 ÁõhøP 40,000

17. Find out the balance as per Pass Book from the following 

particulars: 

 (a) Bank overdraft as per cash Book on 30th April 2022 - 

Rs. 2,000 

 (b) Cheques issued but not presented for payment  

Rs. 1,350 

 (c) Cheques deposited but not yet collected by the 

banker Rs. 560 

 (d) Bank charges Rs. 80 made by the Bank not yet 

entered in the cash book 

 (e) Interest on  investment collected by the banker and 

credited in that pass book amounted to Rs. 905. 
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 ¤ßÁ¸® ÂÁμ[PÎß £i ö\À÷»mk C¸¨ø£ PnUQkP. 

 (A) 30.4.22 AßÖ Á[Q ÷©ÀÁøμ¨£ØÖ ¹. 2,000 

 (B) Põ÷\õø» öPõkUP¨£mk £n©õUP¨£hÂÀø»  
¹. 2,350 

 (C) Põ÷\õø» Á`À ö\´¯¨£hÂÀø» ¹. 560 

 (D) Á[Q Pmhn® ¹ 80 Á[Q°À ö\¾zu¨ ö£ØÓx 

 (E) ¹. 905 •u½miß «x Ámi Á[Q¯º Á`À 
ö\´xÒÍõº.   

18. Explain the various methods of computing depreciation. 

 ÷u´©õÚ® PshÔ²® £À÷ÁÖ •øÓPøÍ ÂÁ›. 

19. From the following details, prepare final accounts for the 
year ended 3 1-3-2021 

Debit Rs Credit Rs. 

Salaries 5,500 Creditors 9,500

Rent 1,300 Sales 32,000

Cash 1,000 Capital 30,000

Debtors 40,000 Loans 10,000

Sundry expenses 600  

Purchases 25,000  

Buildings 2,500  

Bank balance 5,600  

 81,500  81,500

 Adjustments: 

  (a) Closing stock Rs. 9,000 

  (b) Salary outstanding amounted to Rs. 1,100 

  (c) Rent paid in advance Rs. 100 

  (d) Provide 5% for doubtful debt against debtors. 
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 RÌPõq® Â£μ[PøÍU öPõsk 31&3&21 ÷uvUS›¯ 
CÖvU PnUQøÚ u¯õº ö\´P. 

£ØÖ ¹. ÁμÄ ¹. 

\®£Í® 5,500 PhÜ¢÷uõº 9,500

ÁõhøP 1,300 ÂØ£øÚ 32,000

öμõUP® 1,000 •uÀ 30,000

PhÚõÎPÒ 40,000 Phß 10,000

£Ø£»a ö\»ÄPÒ 600  

öPõÒ•uÀ 25,000  

Pmih®  2,500  

Á[Q°¸¨¦ 5,600  

 81,500  81,500

 \›PmkuÀ 

 (A) CÖv \μUQ¸¨¦ ¹. 9,000 

 (B) öPõk£h ÷Ási¯ \®£Í® ¹. 1,100 

 (C) •ßTmi ö\¾zv¯ ÁõhøP ¹. 100 

 (D) I¯¨£õmk Phß PhÚõÎPÒ «x 5% HØ£kzxP. 

20. On 1st October 2016 X owes Y - Rs. 20,000. 

 On 1st December, 2016 X pays cash Rs. 6,000 

 On 1st January, 2017 X purchases goods from Y  

Rs. 12,000 

 On 1st February, 2017 X pays cash Rs. 18,000 

 Prepare account current rendered by Y to X for the half 

year ending of 31 March 2017. Calculate interest at 10% 

p.n. 
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 AU÷hõ£õº 1. 2016 À X Gß£Áº Y US uμ ÷Ási¯ 
öuõøP ¹. 20,000 

 i\®£º 1,2016 À X öPõkzu öμõUP® ¹. 6,000 

 áÚÁ› 1, 2017 À X, Y  °h® ö\´¯ öPõÒ•uÀ  
¹. 12,000 

 ¤¨μÁ› 1,2017 X öPõkzu öμõUP® ¹. 18,0000 

 31.3.2017 ® |õ÷Íõk •iÁøh²® Aøμ BsiØS 10% 
BskÁmi öPõsk, PnUQmk Y Gß£Áº X Gß£Á¸US 
AÎUS® |øh•øÓU PnUøPz u¯õ›UPÄ®. 

  
———————— 
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B.Com. DEGREE EXAMINATION, APRIL 2025 

First Semester 

Commerce 

BUSINESS ORGANISATION 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is the primary purpose of a business? 

 J¸ ÁoPzvß •ußø© ÷|õUP® GßÚ? 

2. What are the two main types of trade? 

 ÁºzuPzvß Cμsk •UQ¯ ÁøPPÒ ¯õøÁ? 

3. List two demerits of sole proprietorship. 

 uÛ E›ø©¯õÍ›ß Cμsk SøÓ£õkPøÍ £mi¯¼kP. 

4. What is a co-operative society? 

 TmkÓÄ \[P® GßÓõÀ GßÚ? 

5. What factors determine the size of a business firm? 

 J¸ ÁoP {ÖÁÚzvß AÍøÁ GßÚ PõμoPÒ 
wº©õÛUQßÓÚ? 

6. What is meant by the optimum size of a business firm? 

 J¸ ÁoP {ÖÁÚzvß EP¢u AÍÄ GßÓõÀ GßÚ? 

Sub. Code 
22BCO1C2 
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7. What is name clause? 

 ö£¯º Âv GßÓõÀ GßÚ? 

8. What is Privatization? 

 uÛ¯õº©¯©õUPÀ GßÓõÀ GßÚ? 

9. Define: Price Policy. 

 Áøμ¯ÖUPÄ® Âø»U öPõÒøP. 

10. Public Utilities - Explain. 

 ö£õx £¯ß£õkPÒ – ÂÍUPÄ®. 

 Part B  (5 × 5 = 25) 

Answer all questions. choosing either (a) or (b) 

11. (a) How does the nature of business impact its 
operations? 

  ÁoPzvß ußø© Auß ö\¯À£õkPøÍ GÆÁõÖ 
£õvUQÓx? 

Or 

 (b) What is the difference between manufacturing and 
service. 

  EØ£zv ©ØÖ® ÷\øÁ öuõÈÀPÐUS GßÚ 
Âzv¯õ\®? 

12. (a) Distinguish between a general partnership and a 
limited partnership. 

  ö£õxÁõÚ Tmhõsø© ©ØÖ® Áøμ¯ÖUP¨£mh 
Tmhõsø© BQ¯ÁØøÓ ÷ÁÖ£kzxP. 

Or 

 (b) Why sole proprietorship is considered the simplest 
form of business organization? 

  ÁoP Aø©¨¤ß GÎ¯ ÁiÁ©õP Hß uÛ 
E›ø©¯õÍº P¸u¨£kQÓx? 
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13. (a) How does a representative firm differ from other 
firms in the industry? 

  J¸ ¤μv{v {ÖÁÚ® öuõÈÀxøÓ°À EÒÍ ©ØÓ 
{ÖÁÚ[PÎ¼¸¢x GÆÁõÖ ÷ÁÖ£kQÓx? 

Or 

 (b) How can big businesses negatively impact 
competition and consumers? 

  ö£›¯ ÁoP[PÒ ÷£õmi ©ØÖ® ~Pº÷Áõøμ 
GÆÁõÖ Gvº©øÓ¯õP £õvUP»õ®? 

14. (a) What is the role of shareholders in company 
management? 

  {ÖÁÚ {ºÁõPzvÀ £[SuõμºPÎß £[S GßÚ? 

Or 

 (b) What are the key powers and duties of the Board of 
Directors? 

  C¯US|ºPÒ SÊÂß •UQ¯ AvPõμ[PÒ ©ØÖ® 
Phø©PÒ GßÚ? 

15.  (a) What are the main forms of government regulation 
in business? 

  ÁoPzvÀ Aμ\õ[P JÊ[S•øÓ°ß •UQ¯ 
ÁiÁ[PÒ ¯õøÁ? 

Or 

 (b) What is the significance of industrial policy in 
India? 

  C¢v¯õÂÀ öuõÈÀ öPõÒøP°ß •UQ¯zxÁ® 
GßÚ? 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Evaluate the role of domestic and international trade in 
the economic development of a country. 

 J¸ |õmiß ö£õ¸Íõuõμ ÁÍºa]°À EÒ|õmk ©ØÖ® 
\ºÁ÷u\ ÁºzuPzvß £[øP ©v¨¤k[PÒ. 

17. Evaluate the effectiveness of co-operative societies in 
different industries. 

 £À÷ÁÖ öuõÈÀPÎÀ TmkÓÄ \[P[PÎß ö\¯ÀvÓøÚ 
©v¨¥k ö\´uÀ. 

18. Discuss how external factors, such as government 
regulations, economic conditions, and competition, can 
impact the optimum size of a business firm. 

 Aμ\õ[P Âv•øÓPÒ, ö£õ¸Íõuõμ {ø»ø©PÒ ©ØÖ® 
÷£õmi ÷£õßÓ öÁÎ¨¦Ó PõμoPÒ ÁoP {ÖÁÚzvß 
EP¢u AÍøÁ GÆÁõÖ £õvUP»õ® Gß£øu¨ £ØÔ 
ÂÁõvUP. 

19. Analyze the different types of organizational structures. 

 £À÷ÁÖ ÁøP¯õÚ {ÖÁÚ Pmhø©¨¦PøÍ £S¨£õ´Ä 
ö\´P. 

20. Evaluate the impact of industrial policy reforms on 
economic development in India. 

 C¢v¯õÂß ö£õ¸Íõuõμ ÁÍºa]°À öuõÈÀ öPõÒøP 
^ºv¸zu[PÎß uõUPzøu ©v¨¤kP. 

———————— 
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Allied – FINANCIAL ACCOUNTING– I 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define accounting. 

 PnUQ¯ø» Áøμ¯Ö. 

2. What is meant by journalising? 

 SÔ¨÷£miÀ £vÄ ö\´uÀ Gß£uß ö£õ¸Ò GßÚ? 

3. Mention four types of subsidiary books. 

 |õßS xøn HkPÎß ÁøPPøÍU SÔ¨¤kP. 

4. Give the meaning of an invoice. 

 Chõ¨¦ GßÓõÀ GßÚ? 

5. What is bank reconciliation statement? 

 Á[Qa \›Pmk® £mi¯À GßÓõÀ GßÚ? 

6. State any two causes of disagreement between the 
balances as per bank column of cash Book and bank 
statement. 

 Á[Q°À öμõUP® ö\¾zx® ÷£õx öμõUP® HmiÀ £ØÖ® 
Á[Q AÔUøP°À ÁμÄ® øÁUP¨£kÁx Hß? ÂÍUSP. 

Sub. Code 
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7. What is meant by error of principle? 

 Âv¨¤øÇ GßÓõÀ GßÚ? 

8. Point out the compensating errors. 

 Dkö\´ ¤øÇPÒ SÔ¨¤kP. 

9. State the meaning of depreciation. 

 ÷u´©õÚ® GßÓõÀ GßÚ? 

10. List out the various methods of depreciation. 

 ÷u´©õÚ® PnUQk® •øÓPÒ ¯õøÁ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Pass journal entries in the books of Sasi Kumar who 
is dealing in automobiles. 

  2022 Oct 

  1  Commenced business with goods Rs. 40,000 

  3  Cash introduced in the business Rs. 60,000 

  4  Purchased goods from Arul on credit  
Rs. 70,000 

  6  Returned goods to Arul Rs. 10,000 

  10  Paid cash to Arul on account Rs. 60,000 

  15  Sold goods to Chandar on credit Rs. 30,000 

  18  Chandar returned goods worth Rs. 6,000 

  20  Received cash from Chandar in full settlement 
Rs. 23,000 

  25  Paid salaries through ECS Rs. 2,000 

  30  Sasi Kumar took for personal use goods worth 
Rs. 10,000. 
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 ÁõPÚ Ev› £õP[PÒ ÂØ£øÚ ö\´²® \]S©õ›ß 
HkPÎÀ ¤ßÁ¸® |hÁiUøPPÐUS SÔ¨÷£mk £vÄ 
u¸P. 

 2020 AU÷hõ£º 

 1  Â¯õ£õμ® öuõh[SÁuØPõP Cmh \μUQß ©v¨¦  
¹. 40,000 

 3 ÁoPzvÀ Cmh öμõUPzvß ©v¨¦ ¹. 60,000 

 4 A¸Îhª¸¢x PhÝUS Áõ[Q¯ \μUQß ©v¨¦  
¹. 70,000 

 6  A¸Îß PnUQÀ \μUQß ©v¨¦ ¹. 10,000 

 10 A¸Îß PnUQÀ ö\¾zv¯ öuõøP ¹. 60,000 

 15  \¢u¸US PhÝUS ÂØÓ \μUQß ©v¨¦ ¹. 30,000 

 18  \¢uº v¸¨¤ AÝ¨¤¯ \μUQß ©v¨¦ ¹. 6,000 

 20 \¢u›hª¸¢x öμõUP® ¹. 23,000 ö£ØÖUöPõsk 
AÁμx PnUS •iUP¨£mhx 

 25 ªßÚÝ £›ÁºzuøÚ ‰»® \®£Í® ÁÇ[Q¯x  
¹. 2,000  

 30 \]S©õº u©x ö\õ¢u £¯ß£õmiØPõP GkzxU 
öPõsh \μUQß ©v¨¦ ¹. 10,000 

Or 

 (b) What is double entry system? State its advantages. 

  Cμmøh¨ £vÄ •øÓ GßÓõÀ GßÚ? Auß 
|ßø©PøÍ GÊxP. 

12. (a) From the following transactions of Hari Home 
Appliances for July, 2020 prepare purchases book 
and ledger accounts connected with this book: 

  2020 July 5 Purchased on credit from Kannan & Co. 

  50 iron boxes @ Rs. 500 each 

  10 grinders @ Rs. 3,000 each 

  July 6 Purchased for cash from Siva and Bros. 

  25 fans @ Rs. 1,250 each 
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  July 10 Purchased from Balan & Co. on credit 

  20 grinders @ Rs. 2,500 each 

  10 mixies @ Rs. 3,000 each 

  Trade discount 10% 

  Delivery charges Rs. 1,000 

  July 20 Purchased on credit, one copier machine 
from Kumar for Rs. 35,000. 

  {ÖÁÚzvß áüø» 2020 UPõÚ öPõÒ•uÀ HmiÀ 
£vÄ ö\´P. AuØS›¯ ÷£÷μmk PnUSPøÍ²® 
u¯õº ö\´¯Ä®. 

  2020 áüø» 5 Psnß {ÖÁÚzvhª¸¢x PhÝUS 
Áõ[Q¯x 

  50 ªß \»øÁ¨ ö£miPÒ JßÖ ¹. 500 Ãu® 

  10 ©õÁøμUS® C¯¢vμ[PÒ JßÖ ¹. 3,000 Ãu® 

  áüø» 6 ]Áõ {ÖÁÚzvhª¸¢x öμõUPzvØS 

Áõ[Q¯x 

  25 ªß Â]ÔPÒ JßÖ ¹. 1,250 Ãu® 

  áüø» 10 £õ»ß ÂØ£øÚ¯Pzvh® PhÝUS 

Áõ[Q¯x 

  20 ©õÁøμUS® C¯¢vμ[PÒ JßÖ ¹. 2,500 Ãu® 

  10 ªßÚ®ªPÒ JßÖ ¹. 3,0000 Ãu® 

  Â¯õ£õμz uÒÐ£i 10%. 

  AÝ¨¦øPa ö\»ÄPÒ ¹. 1,000 

  áüø» 20 S©õ›hª¸¢x PhÝUS Áõ[Q¯ J¸ |PÀ 

GkUS® C¯¢vμ® ¹. 35,000.  

Or 
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 (b) Enter the following transactions in a cash book with 
cash and discount columns: 

  2021 Jan 1 Cash in hand Rs. 11,500 

  Jan 5 Paid to Ramanathan by depositing in cash 
deposit machine Rs. 300, Discount allowed by him 
Rs. 10 

  Jan 8 Purchased goods for cash Rs. 400 

  Jan 10 Cash received from Rajagopal Rs. 980, 
Discount allowed Rs. 20 

  Jan 15 Sold goods for cash Rs. 400 

  Jan 21 Paid cash to Shanthi Rs. 295, Discount 
received Rs. 5. 

  Jan 25 Paid wages by cash Rs. 50 

  Jan 31 Paid to Sanjeev Rs. 390 in full settlement of 
his account Rs. 400. 

  ¤ßÁ¸® |hÁiUøPPøÍ öμõUP® ©ØÖ® uÒÐ£i 
£zvPÐøh¯ öμõUP® HmiÀ £v¯Ä®. 

  2021 áÚÁ› 1 øPöμõUP® ¹. 11,500 

  5 öμõUP® øÁ¨¦ C¯¢vμzvß ‰»® Cμõ©|õuÝUS 
ö\¾zv¯x ¹. 300 

  AÁº AÎzu uÒÍ£i ¹. 10 

  8 öμõUPzvØS \μUS Áõ[Q¯x ¹. 400 

  10 Cμõá÷Põ£õ¼hª¸¢x öμõUP® ö£ØÓx ¹. 980 

  AÁ¸US AÎzu uÒÐ£i ¹. 20 

  15 öμõUPzvØS \μUS ÂØÓx ¹. 400 

  21 \õ¢v Gß£Á¸US öμõUP® ö\¾zv¯x ¹. 295 

  AÁ›h® ö£ØÓ uÒÐ£i ¹. 5 

  25 T¼ öμõUP©õPa ö\¾zv¯x ¹. 50 

  31 \g^Æ Gß£Á¸US ¹. 390 AÎzx PnUøP 
•ÊÁx® wºzxU öPõshx ¹. 400. 
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13. (a) From the following information, prepare bank 
reconciliation statement as on 31st December 2020 
to find out the balance as per bank statement. 

  (i) Balance as per bank statement Rs. 6,000 

  (ii) Cheques deposited on 28th December, 2017 but 
not yet credited Rs. 2,000  

  (iii) Cheques issued for 10,000 on 20th December, 
2017 but not yet presented for payment  
Rs. 3,000 

  (iv) Interest on debentures directly collected by the 
bank not recorded in cash book Rs. 4,000 

  (v) Insurance premium on building directly paid 
by the bank Rs. 1,000  

  (vi)  Amount wrongly credited by bank Rs. 500. 

  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x i\®£º 31, 2020–® 
|õÐUS›¯ Á[Qa \›Pmk® £mi¯ø» u¯õº ö\´x 
Á[Q AÔUøP°ß £i¯õÚ C¸¨ø£U PshÔP. 

  (i) Á[Q AÔUøP°ß £i C¸¨¦ ¹. 6,000 

  (ii) i\®£º 28, 2017 AßÖ Á[Q°À ö\¾zv¯ 
Põ÷\õø» CßÝ® ÁμÄ øÁUP¨£hÂÀø»  
¹. 2,000 

  (iii) i\®£º 20, 2017 AßÖ Âkzu Põ÷\õø» 
CßÝ® ö\¾zxøPUS •ßÛø»¨£kzu 
&£hÂÀø» ¹. 3,000 

  (iv) Á[Q¯õÀ ÷|μi¯õP Á`¼UP¨£mh PhÜmk¨ 
£zvμ® «uõÚ Ámi öμõUP HmiÀ 
£v¯¨£hÂÀø» ¹. 4,000 

  (v) Pmhh® «uõÚ Põ¨¥k •øÚ©® Á[Q¯õÀ 
÷|μi¯õPa ö\¾zu¨£mhx ¹. 1,000. 

  (vi) Á[Q¯õÀ uÁÖu»õP ÁμÄ øÁUP¨£mh 
öuõøP ¹. 500. 

Or 
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 (b) Define the concept “Cheque not yet Presented’’. 

  ‘‘Põ÷\õø» CßÝ® •ßÛø»¨£kzuÂÀø»’’ 
Gß£uß P¸zøu Áøμ¯Ö. 

14. (a) The following errors were detected before the 
preparation of trial balance. Rectify them. 

  (i) Sales book is undercast by Rs. 100 

  (ii) Sales book is overcast by Rs. 200 

  (iii) Purchases book is undercast by Rs. 300 

  (iv) Purchases book is overcast by Rs. 400. 

  RÌUPsh ¤øÇPÒ C¸¨£õ´Ä u¯õ›US® •ß 
PshÔ¯¨£mhÚ AøÁPøÍz v¸zuÄ®. 

  (i) ÂØ£øÚ HmiÀ ¹. 100 SøÓÁõPU 
Tmh¨£mkÒÍx 

  (ii) ÂØ£øÚ HmiÀ ¹. 200 AvP©õPU 
Tmh¨£mkÒÍx 

  (iii) öPõÒ•uÀ HmiÀ ¹. 300 SøÓÁõPU 
Tmh¨£mkÒÍx 

  (iv) öPõÒ•uÀ HmiÀ ¹. 400 AvP©õPU 
Tmh¨£mkÒÍx. 

Or 

 (b) Give journal entries to rectify the following errors 
discovered after the preparation of trial balance. 

  (i) Purchases book was overcast by Rs. 10,000 

  (ii) Repairs to furniture of Rs. 500 was debited to 
furniture account 

  (iii) A credit sale of goods to Akilnilavan for  
Rs. 456 was credited to his account as Rs. 654. 
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  C¸¨£õ´Ä u¯õ›UP¨£mh ¤ß PshÔ¯¨£mh 
¤ßÁ¸® ¤øÇPøÍz v¸zxÁuØPõÚ SÔ¨÷£mk 
£vÄPøÍz uμÄ®.  

  (i) öPõÒ•uÀ HmiÀ ¹. 10,000 AvP©õPU 
Tmh¨£mkÒÍx 

  (ii) AøÓUP»ß £Êx£õº¨¦ ö\»Ä ¹. 500 
AøÓUP»ß PnUQÀ £ØÖ øÁUP¨£mkÒÍx 

  (iii) AQÀ {»ÁÝUS PhÝUS ¹. 456 US \μUS 
ÂØÓx AÁº PnUQÀ ¹. 654 GÚ ÁμÄ 
øÁUP¨£mkÒÍx. 

15.  (a) Calculate the amount of depreciation and 
depreciation rate from the following by using 
Straight line method. Also give journal entries for 
the first two years. The books are closed on 31st  
December every year. 

  January 1, 2021 
  Payment to vendor for purchase of machinery  

Rs. 1,40,000 
  Transportation cost Rs. 1,000 
  Installation cost Rs. 9,000 
  Estimated scrap value at the end of the life  

Rs. 45,000 
  Estimated life 7 years. 
  ÷|ºU÷Põmk •øÓ°À ÷u´©õÚz öuõøP ©ØÖ® 

÷u´©õÚ ÂQu® PõsP. ÷©¾® •uÀ Cμsk 
BskPÐUS SÔ¨÷£mk¨ £vÄPÒ u¸P. JÆöÁõ¸ 
Bsk® PnUSPÒ i\®£º 31 À •iUP¨£kQßÓÚ. 

  áÚÁ› 1, 2021 
  C¯¢vμ® Áõ[Q¯uØPõÚ ö\¾zv¯x ¹. 1,40,000 
  C¯¢vμ® öPõsk Á¸ÁuØS ÷£õUSÁμzx ö\»Ä 

¹. 1,000 
  {ÖÁÚa ö\»ÄPÒ ¹. 9,000 
  CÖv ©v¨¦ ¹. 45,000 
  Gvº÷|õUS® £¯ÚÎ¨¦ Põ»® 7 BskPÒ. 

Or 
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 (b) From the following information, prepare profit and 
loss account for the year ended 31st December 2021. 

Particulars Rs. Particulars Rs. 
Gross profit b/d 60,000 Interest received 2,100
Freight outward 15,000 Financial charge 4,000
Packing charges (on sales) 12,000 Repairs on vehicles 8,000
Salesman commission paid 1,300 used in office 
Promotional expenses 10,200 Depreciation on 
Office telephone expenses 22,400 vehicles used in 
Bad debts recovered 4,000 office 3,000
 Interest paid 900
 Rent received 7,000
 Carriage inwards 4,000

  RÌUPõq® uPÁÀPÎ¼¸¢x 2021 i\®£º 31 B® 
|õ÷Íõk •iÁøh²® BsiØS›¯ C»õ£ |mhU 
PnUS u¯õ›UPÄ®. 
Â£μ® ¹. Â£μ® ¹. 

ö©õzu C»õ£® R/öPõ 60,000 ö£ØÓ Ámi 2,100
öÁÎ HØÔaö\À ö\»Ä 15,000 {v\õº ö\»ÄPÒ 4,000
ÂØ£øÚ «uõÚ  A¾Á»P ÁõPÚ[PÒ «uõÚ 

Pmk©a ö\»ÄPÒ 12,000 £Êx£õº¨¦a ö\»ÄPÒ 8,000
ÂØ£õsø©¯º PÈÄ 1,300 A¾Á»P ÁõPÚ[PÒ  

÷©®£õmka ö\»ÄPÒ 10,200 «x ÷u´©õÚ® 3,000
A¾Á»P öuõø»÷£] ö\¾zv¯ Ámi 900
Pmhn® 22,400 ö£ØÓ ÁõhøP  7,000
ÁõμõUPhß Á`¼zux 4,000 EØHØÔa ö\À ö\»Ä 4,000

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Enter the following transactions in the books of Ramu 
and prepare Journal, post into ledger and balance them. 

 2022 Oct  1  Started business with cash Rs. 25,000 

   5  Deposited into bank Rs. 12,500 

   10  Purchased furniture and payment by 
 cheque Rs. 2,000 
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   15  Goods purchased for cash Rs. 5,000 

   19  Sold goods to Vasu on credit Rs. 4,000 

   22  Goods worth Rs. 500 taken for personal 
use. 

 ¤ßÁ¸® |hÁiUøPPÒ μõ• Gß£Áμx HkPÎÀ 
SÔ¨÷£mk¨ £vÄPÒ, ÷£÷μmkU PnUSPÒ ©ØÖ® 
C¸¨£õ´Ä u¯õ›UPÄ®. 

 2022 AU 1 öuõÈÀ öμõUPzxhß öuõh[Q¯x ¹. 25,000 

 5 Á[Q°À öμõUP® ö\¾zv¯x ¹. 12,500 

 10 AøÓP»ß Áõ[Q Põ÷\õø» öPõkzux ¹. 2,000 

 15 öμõUPzvØS \μUS Áõ[Q¯x ¹. 5,000 

 19 Áõ_ Gß£Á¸US PhÝUS \μUS ÂØÓx ¹. 4,000 

 22 ö\õ¢u¨ £¯ÝUPõP \μUSPÒ GkzxUöPõshx ¹.500. 

17. Explain the various kinds of Subsidiary books. 

 £À÷ÁÖ ÁøP¯õÚ xøn HkPøÍ £ØÔ ÂÍUSP. 

18. From the following particulars of Raheem traders, 
prepare a bank reconciliation statement as on 31st  
March, 2021. 

 (a) Overdraft as per cash book Rs. 2,500. On the same 
day the balance as per bank statement is  
Rs. 1,99,000 

 (b) Interest on debentures of Rs. 700 was received by 
the bank directly. 

 (c) Amount received by bank through RTGS amounting 
to Rs. 2,00,000, omitted in the cashbook. 

 (d)  Two cheques issued for Rs. 1,800 and Rs. 2,000 on 
29th March 2021. Only the second cheque is 
presented for payment. 

 (e) Insurance premium on car for Rs. 1,000 paid by the 
bank as per standing instruction not recorded in the 
cash book. 
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 R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎ¼¸¢x μï® 
{ÖÁÚzvß 2021 ©õºa 31 ® |õÐUS›¯ Á[Qa \›Pmk® 
£mi¯ø»z u¯õº ö\´P. 

 (A) öμõUP Hmiß £i ÷©À Áøμ¨£ØÖ ¹. 2,500 A÷u 
|õÎÀ Á[Q AÔUøP°ß £i C¸¨¦ ¹. 1,99,000 

 (B) Á[Q¯õÀ ÷|μi¯õP ö£Ó¨£mh Phß £zvμ® «uõÚ 
Ámi ¹. 700 

 (C) {PÌ ÷|μ ö©õzu wºÁP® (RTGS) ÁÈ¯õP Á[Q°À 
ö£Ó¨£mh öuõøP  ¹. 2,00,000 öμõUP HmiÀ 
£v¯¨£hÂÀø» 

 (D) 2021 ©õºa 29 AßÖ Âkzu C¸ Põ÷\õø»PÒ  
¹. 1,800 ©ØÖ® ¹. 2,000 CÀ CμshõÁx Põ÷\õø» 
©mk÷© ö\¾zxøPUS •ßÛø»¨£kzu¨£mhx 

 (E) {ø» AÔÄÖzu¼ß £i Á[Q ö\¾zv¯ ]ØÖ¢x 
«uõÚ Põ¨¥mk •øÚ©® ¹. 1,000 öμõUP HmiÀ 
£v¯¨£hÂÀø». 

19. Enumerate the various Classifications of Errors. 

 PnUQß £À÷ÁÖ ¤øÇPøÍ ÁøP¨£kzv Â›ÁõP 
GÊxP. 

20. From the following details, prepare final accounts for the 
year ended 31-3-2021. 

Debit Rs. Credit Rs. 

Salaries 5,500 Creditors 10,000

Rent 1,300 Sales 32,000

Cash 1,000 Capital 30,000

Debtors 40,000 Loans 9,500

Sundry expenses 600  

Purchases 25,000  

Buildings 2,500  

Bank balance 5,600  

Total 81,500  81,500
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 Adjustments: 

 (a) Closing stock Rs. 9,000 

 (b) Rent paid to advance Rs. 100 

 (c) Salary outstanding amounted to Rs. 1,100 

 (d)  Provide 5% for doubtful debt against debtors. 

 RÌUPõq® Â£μ[PøÍU öPõsk 31–3–16 ÷uvUS›¯ 
CÖvU PnUQøÚ u¯õº ö\´P. 

£ØÖ ¹. ÁμÄ ¹. 
\®£Í® 5,500 PhÜ¢÷uõº 10,000
ÁõhøP 1,300 ÂØ£øÚ 32,000
öμõUP® 1,000 •uÀ 30,000
PhÚõÎPÒ 40,000 Phß 9,500
£Ø£»a ö\»ÄPÒ 600  
öPõÒ•uÀ 25,000  
Pmih® 2,500  
Á[Q°¸¨¦ 5,600  
ö©õzu® 81,500  81,500

 \›PmkuÀPÒ. 

 (A) CÖv \μUQ¸¨¦ ¹. 9,000 

 (B) •ßTmi ö\¾zv¯ ÁõhøP ¹. 100 

 (C) öPõk£h ÷Ási¯ \®£Í® ¹. 1,100 

 (D) I¯¨£õmk Phß PhÚõÎPÒ «x 5% HØ£kzxP. 

  
———————— 
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ADVANCED ACCOUNTANCY – II 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define promissory note. 

 EÖvö©õÈ SÔ¨¦PøÍ Áøμ¯ÖUPÄ®. 

2. Write any two essentials of cheques. 

 Põ÷\õø»PÎÀ H÷uÝ® Cμsk Azv¯õÁ]¯[PøÍ 
GÊuÄ®. 

3. Who is an insured? 

 Põ¨¥k ö\´uÁº ¯õº? 

4. State the different parties for an Insurance Policy. 

 Põ¨¥mkU öPõÒøPPUPõÚ öÁÆ÷ÁÖ uμ¨¤ÚøμU 
SÔ¨¤hÄ®. 

5. What is account sales? 

 PnUS ÂØ£øÚ GßÓõÀ GßÚ? 

6. Write any two direct expenses. 

 H÷uÝ® Cμsk ÷|μi ö\»ÄPøÍ GÊuÄ®. 

Sub. Code 
22BCO2C1 
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7. What is joint venture? 

 Tmk •¯Ø] GßÓõÀ GßÚ? 

8. Who is co-ventures? 

 Cøn •¯Ø]PÒ ¯õº? 

9. Mention the types of sales. 

 ÂØ£øÚ ÁøPPøÍU SÔ¨¤hÄ®. 

10. What do you know about memorandum of trading 
account? 

 ÁºzuP PnUS SÔ¨¦ £ØÔ E[PÐUS GßÚ öu›²®? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Classify the bills of exchange. 

  £›©õØÓ μ^xPøÍ ÁøP¨£kzuÄ®. 

Or 

 (b) A owes to B Rs. 1,000. On 1st January, 2017, A 
accepts a three months bill for Rs. 975 in full 
settlement. At the due date the Bill is dishnoured. 
Make journal entries in the books on both A and B. 

  A, B US ¹. 1,000 Phß£mkÒÍx. áÚÁ› 1, 2017 

AßÖ, A ‰ßÖ ©õu μ^x ¹. 975 US 
HØÖUöPõÒQÓx. {¾øÁz ÷uv°À μ^x 

{μõP›UP¨£kQÓx. A ©ØÖ® B Cμsi¾® 
¦zuP[PÎÀ SÔ¨÷£k EÒÏkPøÍU ö\´¯Ä®. 

12. (a) What is Average Clause? When is it applicable? 

  \μõ\› ¤›Ä GßÓõÀ GßÚ? Ax G¨÷£õx 
ö£õ¸¢x®? 

Or 
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 (b) Find out the actual claim in the following case: 

  Value of stock on the date of fire Rs. 25,000 

  Value of stock saved from fire Rs. 5,000 

  Value of the Insurance Policy Rs. 20,000 

  There is an average clause in the policy 

  ¤ßÁ¸® ÁÇUQÀ Esø©¯õÚ E›ø©÷Põμø»U 
PshÔ¯Ä®. 

  w Â£zx HØ£mh |õÎÀ C¸¨¦ ©v¨¦ ¹. 25,000 

  w°À ]UQ¯ \μUS ©v¨¦ ¹. 5,000 

  Põ¨¥mkU öPõÒøP°ß ©v¨¦ ¹. 20,000 

  £õ¼]°À \μõ\› ¤›Ä EÒÍx. 

13. (a) Analyse the three accounts maintained by a 
consignor. 

  J¸ AÝ¨¦|μõÀ £μõ©›UP¨£k® ‰ßÖ PnUSPøÍ 
£S¨£õ´Ä ö\´¯Ä®. 

Or 

 (b) On the basis of data given below, pass the Journal 
entries and prepare the necessary accounts in the 
books of the Consignee. A & Co. of Kolkata sent on 
consignment account goods to B & Co. of Mumbai at 
an invoice price of Rs. 29,675 and paid for freight 
Rs. 762, cartage Rs. 232 and insurance Rs. 700. Half 
the goods were sold by agents for Rs. 17,500, subject 
to the agent’s commission of Rs. 875, storage 
expenses of Rs. 200 and other selling expenses of  
Rs. 350. One-fourth of the consignment was lost by 
fire and a claim of Rs. 5,000 was recovered. 
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  R÷Ç öPõkUP¨£mkÒÍ uμÄPÎß Ai¨£øh°À, 
SÔ¨÷£k EÒÏkPøÍ AÝ¨£Ä® ©ØÖ® 
\μUSuõμ›ß ¦zuP[PÎÀ ÷uøÁ¯õÚ PnUSPøÍ 
u¯õº ö\´¯Ä®. öPõÀPzuõøÁa ÷\º¢u H&÷Põ, 
•®ø£°ß ¤ & ÷Põ {ÖÁÚzvØS \μUSU PnUS¨ 
ö£õ¸mPøÍ ¹. 29,675 CßÁõ´ì Âø»°À 
AÝ¨¤¯x. ©ØÖ® \μUS Pmhn® ¹. 762, Ási  
¹. 232 ©ØÖ® Põ¨¥k ¹. 700. £õv ö£õ¸mPÒ 
•PÁºPÒ ‰»® ¹. 17,500, •PÁ›ß Pªåß  
¹. 875, ÷\ª¨¦ ö\»ÄPÒ ¹.200 ©ØÖ® Cuμ 
ÂØ£øÚ ö\»ÄPÒ ¹. 350. \μUSPÎÀ |õßQÀ J¸ 
£[S w°ÚõÀ CÇ¢ux ©ØÖ® ¹. 5,000 «mP¨£mhx. 

14. (a) Differentiate between joint venture and accounting. 
  Tmk •¯Ø] ©ØÖ® PnUQ¯ø» ÷ÁÖ£kzx[PÒ. 

Or 

 (b) X and Y entered into a joint venture of underwriting 
the subscription at par of the entire share capital of 
Copper Mines Limited consisting of 10,000 shares of 
Rs. 10 each and to pay all expenses up to allotment. 
They were to share profits in the ratio of 3 : 2 
respectively. The consideration in return for the 
guarantee was 1,200 other shares of Rs. 10 each 
fully paid to be issued to them. 

  X provided the funds for registration fees Rs. 1,200; 
advertising Rs. 1,100 and printing stationery  
Rs. 950. Y contributed towards payment of office 
rent Rs. 300; legal charges Rs. 1,550 and staff 
salaries Rs. 900. 

  The prospectus was issued and the applications fell 
short of the full issue by 1,500 shares. X took these 
over on joint account and paid for the same in full. 
They received the 1,200 fully paid shares as 
underwriting commission. They sold their entire 
holding at Rs. 12 per share. The proceeds were 
received by X for 1,500 shares and by Y for 1,200 
shares. 

  Write up the necessary accounts in the books of both 
the parties showing the final adjustment. 
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  X ©ØÖ® Y BÚx Põ¨£º ø©ßì ¼ªöhm 

{ÖÁÚzvß 10,000 £[SPøÍ u»õ ¹. 10 
EÒÍhUQ¯ ö©õzu £[S ‰»uÚzvØS Cøn¯õP 
\¢uõøÁ GÊzxÖv ö\´²® Tmk •¯Ø]°À 
CÓ[Q¯x. ©ØÖ® JxURk Áøμ AøÚzx 

ö\»ÄPøÍ²® ö\¾zu ÷Ásk®. AÁºPÒ •øÓ÷¯ 
3 : 2 GßÓ ÂQuzvÀ »õ£zøu¨ £Qº¢x öPõÒÍ 
÷Ásk®. EzuμÁõuzvØS DhõP 1,200 ©ØÓ 
£[SPÒ u»õ ¹. 10 •Êø©¯õÚ AÁºPÐUS 

ÁÇ[P¨£k®. 

X £vÄU PmhnzvØPõÚ {vø¯ ÁÇ[Q¯x  

¹. 1,200; ÂÍ®£μ® ¹. 1,100 ©ØÖ® Aa]kuÀ 

©ØÖ® GÊxö£õ¸mPÒ ¹. 950. Y A¾Á»P ÁõhøP 

¹. 300; \mhU Pmhn® ¹. 1,550 ©ØÖ® 
FÈ¯ºPÎß \®£Í® ¹. 900. 

  Âå¯z öuõS¨¦ öÁÎ°h¨£mhx ©ØÖ® 

Âsn¨£[PÒ 1,500 £[SPÒ ‰»® •Ê 

öÁÎ±miØS® SøÓÁõP C¸¢uÚ. X CÁØøÓ 

TmkU PnUQÀ GkzxUöPõsk, AuØS 
•Êø©¯õPa ö\¾zv¯x. •Êø©¯õP ö\¾zu¨£mh 
1,200 £[SPøÍ GÊzxÖv uμSUPõP¨ ö£ØÓÚº. 

AÁºPÒ u[PÎh® C¸¢u ö©õzu¨ £nzøu²® J¸ 

£[SUS ¹. 12. Á¸Áõø¯ X-1,500 £[SPÐUS 

©ØÖ® Y-1,200 £[SPÐUS ö£ØÓx. 

CÖv \›ö\´uø»U Põmk® C¸ uμ¨¤Ú›ß 
¦zuP[PÎ¾® ÷uøÁ¯õÚ PnUSPøÍ GÊx[PÒ. 

15.  (a) Mention the salient features of single entry system. 

  JØøÓ ~øÇÄ Aø©¨¤ß •UQ¯ A®\[PøÍU 
SÔ¨¤hÄ®. 

Or 
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 (b) From the following information, find out the Credit 
Sales: 

 Rs. 

Balance of Debtors on 1.1.2017 12,000

Bills Receivable from customers 17,000

Returns Inward 5,000

Bad Debts 1,500

Cash received from customers 45,000

Bills Receivable Dishonoured 3,500

Discount allowed to them 3,000

Debtors on 31.12.2017 10,000

¤ßÁ¸® uPÁ¼¼¸¢x, Phß ÂØ£øÚø¯U 
PshÔ¯Ä®. 

 ¹. 

1.1.2017 AßÖ PhÚõÎPß C¸¨¦ 12,000

ÁõiUøP¯õÍºPÎh® C¸¢x ö£Ó ÷Ási¯ ©õØÖa^mkPÒ 17,000
EÒ÷|õUQ v¸®¦® 5,000
ÁõμõU PhßPÒ 1,500
ÁõiUøP¯õÍºPÎhª¸¢x ö£Ó¨£mh £n® 45,000
ö£ÓzuUP ©õØÖa^mkPÒ ©v¨¤Ç¢u  3,500
AÁºPÐUS AÝ©vUP¨£mh uÒÐ£i 3,000

31.12.2017 AßÖ PhÚõÎPÒ 10,000

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Sujesh owed money to Brijesh and hence accepted two 
bills each of Rs. 5,000 at three months duration drawn on 
him by the latter on 1st January, 2017. Brijesh discounted 
one of the bills with his bank for net proceeds of Rs. 4,800 
and endorsed the other in favour of Mukesh to whom he 
owed a like sum, on the same date. 
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 Sujesh paid the bill held by Mukesh on the due date, but 
failed to meet the bill presented by the bank. The bank 
debited Brijesh’s account on 4th April, 2017 inclusive of 
bank charges of Rs. 10. Sujesh paid the amount inclusive 
of charges to Brijesh on 10th April, 2017, 

 Show the Journal entries in respect of the above in the 
books of Sujesh and Brijesh. 

 _÷áè, ¤›÷áåûUS Phß£mi¸¢uõÀ, u»õ ¹. 5,000 
Cμsk ©õØÖa^mkPøÍ HØÖUöPõshõº. áÚÁ› 1, 2017 
AßÖ AÁ¸US ‰ßÖ ©õu Põ» AÍÂÀ Áøμ¯¨£mhx. 
¤›÷áè uÚx Á[Q°À ©õØÖa^mkPÎÀ JßøÓ 
uÒÐ£i ö\´x {Pμ Á¸©õÚ©õP ¹. 4,800 ©ØÖ® A÷u 
÷uv°À AÁº A÷u öuõøPø¯ ö\¾zu ÷Ási¯ 
•÷PåúUS BuμÁõP ©ØÓÁ¸US J¨¦uÀ AÎzuõº. 

_÷áè, •÷Pè øÁzv¸¢u ©õØÖa^mk öuõøPø¯ E›¯ 
÷uv°À ö\¾zvÚõº, BÚõÀ Á[Q ÁÇ[Q¯ 
¤Àø»aö\¾zu •i¯ÂÀø». H¨μÀ 4, 2017 AßÖ 
¤›÷áæß PnUQÀ Á[QU Pmhn® ¹. 10. H¨μÀ 10, 
2017 AßÖ ¤›÷áåúUS Pmhn[PÒ Em£h öuõøPø¯ 
_÷áè ö\¾zvÚõº. 

 _÷áè ©ØÖ® ¤›÷áè ¦zuP[PÎÀ ÷©ØTÔ¯ÁØøÓ¨ 
£ØÔ¯ SÔ¨÷£k EÒÏkPøÍU Põmk. 

17. Mr. Ashok sells goods at a profit of 20% on sales, on 
9.9.2015, a fire destroyed the entire stock. Sales and 
purchases to the date of fire were Rs. 58,100 and  
Rs. 48,000 respectively, unsold stock as on 31.12.2014 
being Rs. 16,000. 

 During 2015, Purchase price had declined by 25%; 15% of 
the amount of benefit being passed on to the customers by 
revising downwards the sale price. 

 Accordingly, with effect from 1.1.2015, all sales during 
2015 were effected at the revised prices only. Including 
sales in respect of stock of goods as on 31.12.2014, such 
sales being Rs. 9,700. Ascertain the Loss of Stock. 
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 v¸. A÷\õU ö£õ¸mPøÍ ÂØ£øÚ°À 20% »õ£zvÀ 
ÂØQÓõº. 9.9.2015 AßÖ w Â£zx •ÊÁx® G›¢x 
|õ\©õÚx. w Â£zx HØ£mh |õÒ Áøμ ÂØ£øÚ ©ØÖ® 
öPõÒ•uÀ ¹. 58,100 ©ØÖ® ¹. 48,000 •øÓ÷¯, 
31.12.2014 AßÖ ÂØ£øÚ¯õPõu \μUS ¹. 16,000. 

2015 CÀ, öPõÒ•uÀ Âø» 25% SøÓ¢xÒÍx; ÂØ£øÚ 
Âø»ø¯ SøÓ¨£uß ‰»® ÁõiUøP¯õÍºPÐUS 
ÁÇ[P¨£k® |ßø©°ß AÍÄ 15%. 

 Auß£i, 1.1.2015 •uÀ, 2015 B® Bsiß AøÚzx 
ÂØ£øÚPÐ® v¸zu¨£mh Âø»°À ©mk÷© 
ö\¯À£kzu¨£mhÚ. 31.12.2014 AßÖ EÒÍ 
ö£õ¸mPÎß C¸¨¦ öuõhº£õÚ ÂØ£øÚø¯ ÷\ºzx, 
AzuøP¯ ÂØ£øÚ ¹. 9,700. £[S CÇ¨ø£U 
PshÔ¯Ä®. 

18. 1,000 toys consigned by Roy & Co. of Calcutta to T.Nu of 
Rangoon at an invoice cost of Rs. 150 each. Roy & Co. 
paid freight Rs 10,000 and insurance Rs 1,500. During 
the voyage 100 toys were totally damaged by fire and had 
to be thrown overboard. T.Nu took delivery of the 
remaining toys and paid Rs 14,400 as customs duty.  

 T.Nu sent a bank draft to Roy & Co. for Rs. 50,000 as 
advance payment and later sent an account sales showing 
that 800 toys had been sold at Rs. 220 each. Expenses 
incurred by T. Nu on godown rent and advertisement, 
etc., amounted to Rs. 2,000 T.Nu was entitled to 
commission of 5 per cent. One of the credit customers 
could not pay for 5 toys. Prepare the Consignment 
Account. T.Nu’s account and Profit and Loss Account in 
the books of Roy & Co., assuming that nothing has been 
recovered from the insurers due to a defect in the policy. 
T.Nu settled his account immediately. 
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 1,000 ö£õ®ø©PÒ PÀPzuõøÁa ÷\º¢u μõ´ & ÷Põ. 
μ[TøÚa ÷\º¢u T.Nu USz u»õ ¹. 150 Âø»¨£mi¯¼À 
AÝ¨£¨£mhx. μõ´ Asm ÷Põ \μUS ¹. 10,000 ©ØÖ® 
Põ¨¥k ¹. 1,500 ö\¾zv¯x. £¯nzvß ÷£õx 100 
ö£õ®ø©PÒ w°ÚõÀ •ØÔ¾® ÷\u©øh¢x Ph¼À yUQ 
GÔ¯¨£mhx. T.Nu «u•ÒÍ ö£õ®ø©PøÍ Â{÷¯õP® 
ö\´x, _[P Á›¯õP ¹. 14,400 ö\¾zvÚõº. 

 T.Nu μõ´ & ÷Põ. {ÖÁÚzvØS •ß£n©õP 50,000 
¹£õ´US Á[Q Áøμ÷Áõø» AÝ¨¤Úõº, ¤ßÚº 800 
ö£õ®ø©PÒ JÆöÁõßÖ® 220 ¹£õ´US ÂØP¨£mhuõPU 
PnUS ÂØ£øÚUS AÝ¨¤Úõº. S÷hõß ÁõhøP ©ØÖ® 
ÂÍ®£μ® ÷£õßÓÁØÔÀ T.Nu ö\´u ö\»ÄPÒ ¹. 2,000 
T.Nu US 5 \uÃu® uμS QøhUS®. Phß 
ÁõiUøP¯õÍºPÎÀ J¸ÁμõÀ 5 ö£õ®ø©PÐUS £n® 
ö\¾zu •i¯ÂÀø». £õ¼]°À EÒÍ SøÓ£õk 
Põμn©õP Põ¨¥mhõÍºPÎhª¸¢x \μUSU PnUS, T.Nu 
Âß PnUS ©ØÖ® »õ£® ©ØÖ® CÇ¨¦U PnUS 
BQ¯ÁØøÓz u¯õ›UPÄ®. T.Nu EhÚi¯õP uÚx 
PnUøP wºzxU öPõshõº. 

19. Banerjee and Mukherjee agree to import Russian timber 
into India. On 1st July. 2016 they opened a joint bank 
account with Rs. 25,000 towards which Banerjee 
contributed Rs. 15,000 and Mukherjee contributed  
Rs. 10,000. They agree to share profits and losses in 
proportion to their cash contributions. 

 They remitted to their agent in Russia Rs. 20,000 to pay 
for timber purchased, and later Rs. 2,100 in settlement of 
his account. Freight, insurance and dock charges 
amounted to Rs. 3,900. On Dec. 31, 2016 the sales 
amounted to Rs. 28,740 which enabled them to repay 
themselves with cost originally advanced, (no account to 
be taken of interest). They then decided to close the 
venture and Mukherjee agreed to take over the timber 
unsold for Rs. 1,260, which is to be deducted from his 
share of profit. 
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 Prepare the necessary accounts showing the amount of 
cash available for division by way of profits and how the 
same is divisible between Banerjee and Mukherjee. 

 £õÚºâ²® •Pºâ²® μè¯ ©μ[PøÍ C¢v¯õÂÀ 
CÓUS©v ö\´¯ J¨¦UöPõshÚº. áüø» 1, 2016 AßÖ 
AÁºPÒ J¸ Tmk Á[QU PnUøP ¹. 25,000, AuØS 
£õÚºâ ¹. 15,000 ©ØÖ® •Pºâ ¹. 10,000. AÁºPÒ 
u[PÒ £n¨ £[PÎ¨¦PÎß ÂQuzvÀ »õ£® ©ØÖ® 
CÇ¨¦PøÍ¨ £Qº¢x öPõÒÍ J¨¦UöPõÒQÓõºPÒ. 

AÁºPÒ μè¯õÂÀ EÒÍ u[PÒ •PÁ¸US ¹. 20,000 
Áõ[P¨£mh ©μzvØSa ö\¾zu ÷Ásk®, ¤ßÚº  
¹. 2,100 AÁμx PnUQß wºÁõP \μUS, Põ¨¥k ©ØÖ® 
P¨£ÀxøÓ Pmhn[PÒ ¹. 3,900. i\®£º 31, 2016 AßÖ 
ÂØ£øÚ ¹. 28,740, Cx AÁºPÒ •u¼À ÷©®£mh 
Âø»²hß u[PøÍz uõ[P÷Í v¸¨¤a ö\¾zu EuÂ¯x, 
(PnUQÀ Ámi GkUP¨£hõx). ¤ßÚº AÁºPÒ •¯Ø]ø¯ 
‰h •iÄ ö\´uÚº, ÷©¾® •Pºâ ÂØP¨£hõu ©μ[PøÍ 
¹. 1,260, Cx AÁμx »õ£zvÀ C¸¢x PÈUP¨£k®. 

 £õÚºâUS® •PºâUS® Cøh°À G¨£i¨ 
¤›UP¨£kQÓx Gß£øu²®, »õ£zvß ‰»® ¤›¨£uØSU 
QøhUS® £nzvß AÍøÁU Põmk® ÷uøÁ¯õÚ 
PnUSPøÍz u¯õ›UPÄ®. 

20. Suneel commenced business as a cloth merchant on 
1.1.2017, with a capital of Rs. 10,000. On the same day, 
he purchased furniture and fittings for cash Rs. 3,000. 
From the following particulars obtained from his books 
kept by single entry, you are asked to prepare a Trading 
and Profit and Loss Account for the year ending  
31st December, 2017 and a Balance Sheet as on the date. 

 Sales (inclusive of cash Rs. 7,000) Rs. 17,000  

 Purchases (inclusive of cash Rs. 4,000) Rs. 15,000  

 Suneel’s drawings Rs. 1,200 

 Salaries to staff Rs. 2,000  

 Bad Debts written off Rs. 500  

 Business expenses Rs. 700 
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 Suneel took cloth worth Rs. 300 from the private shop for 
Rs. 500 use and paid Rs. 200 to his son, but omitted to 
record these transactions in his books. On 31st December 
2017, his sundry debtors were Rs. 5,200 and sundry 
creditors Rs. 3,600. Stock in hand on 31st December, 2017, 
was Rs. 6,500. 

 _ÜÀ 1.1.2017 AßÖ xo Â¯õ£õ›¯õP öuõÈø»z 
öuõh[QÚõº, Auß ‰»uÚ® ¹. 10,000 A÷u |õÎÀ, 
AÁº £ºÛa\º ©ØÖ® ö£õ¸zxuÀPøÍ öμõUP©õP ¹. 
3,000. AÁμx ¦zuP[PÎÀ C¸¢x ö£Ó¨£mh ¤ßÁ¸® 
ÂÁμ[PÎ¼¸¢x, i\®£º 31, 2017 CÀ •iÁøh²® 
BsiØPõÚ ÁºzuP® ©ØÖ® »õ£® ©ØÖ® |èhU PnUS 
©ØÖ® ÷uv°ß £i C¸¨¦{ø»U SÔ¨ø£z u¯õ›US® 
£i ÷PmP¨£kQÕºPÒ. 

 ÂØ£øÚ (£n® ¹. 7,000 Em£h) ¹. 17,000  

 öPõÒ•uÀ (£n® ¹.4,000 Em£h) ¹.15,000  

 _Ü¼ß Gk¨¦PÒ ¹. 1,200 

 FÈ¯ºPÐUS \®£Í® ¹. 2,000  

 ÁõμõU PhßPÒ uÒÐ£i ö\´¯¨£mhx ¹. 500  

 ÁoP ö\»ÄPÒ ¹. 700 

 _ÜÀ ¹. 300 ©v¨¦ÒÍ xoø¯ Gkzuõº. uÛ¯õ¸US 
Pøh°À C¸¢x ¹. 500 ö\¾zv ¹. 200 AÁμx ©PÝUS, 
BÚõÀ C¢u £›ÁºzuøÚPøÍ AÁμx ¦zuP[PÎÀ £vÄ 
ö\´¯õ©À ÂmkÂmhõº. i\®£º 31, 2017 AßÖ, AÁμx 
£» PhÚõÎPÒ ¹. 5,200 ©ØÖ® £À÷ÁÖ PhÜ¢÷uõº  
¹. 3,600. i\®£º 31, 2017 AßÖ øP°À C¸¢u \μUS  
¹. 6,500. 

  
———————— 
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B.Com. DEGREE EXAMINATION, APRIL 2025 

Second Semester 

Commerce 

PRINCIPLES OF MANAGEMENT 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is the definition of management? 

 {ºÁõPzvß Áøμ¯øÓ GßÚ? 

2. What is scientific Management? 

 AÔÂ¯À ÷©»õsø© GßÓõÀ GßÚ? 

3. Define planning. 

 vmhªhø» Áøμ¯ÖUP. 

4. What are the objectives of planning? 

 vmhªh¼ß ÷|õUP[PÒ GßÚ? 

5. Define organizing. 

 Aø©¨¦ Áøμ¯ÖUP. 

6. Define the term “Scalar Chain.” 

 “ì÷P»õº ö\°ß” GßÓ ö\õÀø» Áø¯μÖUP. 

Sub. Code 
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7. Define multiplicity of roles. 

 £õzvμ[PÎß £ß•Pzußø©ø¯ Áøμ¯ÖUP. 

8. What is job enrichment? 

 ÷Áø» ö\ÔÅmhÀ GßÓõÀ GßÚ? 

9. Write any Two characteristics of control? 

 Pmk¨£õmiß H÷uÝ® Cμsk £s¦PøÍ GÊx[PÒ? 

10. Define control. 

 Pmk¨£õmøh Áøμ¯ÖUP. 

 Part B  (5 × 5 = 25) 

Answer all questions choosing either (a) or (b). 

11. (a) What are Douglas McGregor’s Theory X and Theory 
Y in management? 

  {ºÁõPzvÀ hUÍì ö©U›÷Põ›ß v¯› GUì ©ØÖ® 
v¯› J´ GßÓõÀ GßÚ? 

Or 

 (b) How does planning differ from organizing in 
management? 

  {ºÁõPzvÀ JÊ[Pø©¨£vÀ C¸¢x vmhªhÀ 
GÆÁõÖ ÷ÁÖ£kQÓx? 

12. (a) What is the decision-making process in planning? 

  vmhªh¼À •iöÁkUS® ö\¯À•øÓ GßÚ? 

Or 

 (b) What guidelines can help ensure effective planning? 

  £¯ÝÒÍ vmhªhø» EÖv¨£kzu GßÚ 
ÂÇPõmkuÀPÒ EuÄ®? 
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13. (a) State the advantages of organization. 

  Aø©¨¤ß |ßø©PøÍU SÔ¨¤hÄ®. 

Or 

 (b) What are the steps involved in MBO? Mention its 
benefits 

  MBO CÀ EÒÍ £iPÒ GßÚ? Auß £»ßPøÍU 
SÔ¨¤hÄ®. 

14. (a) Mention the importance of motivation. 

  FUPzvß •UQ¯zxÁzøuU SÔ¨¤hÄ®. 

Or 

 (b) List out the basic needs in a hierarchy. 

  J¸ £i{ø»°À Ai¨£øh ÷uøÁPøÍ £mi¯¼kP. 

15. (a) What are the modern techniques of control? 

  |ÃÚ Pmk¨£õmk ~m£[PÒ GßÚ? 

Or 

 (b) What are the disadvantages of control? 

  Pmk¨£õmiß wø©PÒ GßÚ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. How did Elton Mayo’s Hawthorne Studies influence 
management practices? 

 GÀhß ÷©÷¯õÂß íõÆ÷uõºß B´ÄPÒ ÷©»õsø© 
|øh•øÓPøÍ GÆÁõÖ £õvzuÚ? 
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17. Outline the steps involved in the planning process. 

 vmhªhÀ ö\¯À£õmiÀ EÒÍ £iPøÍ ÷PõimkU 
Põmk[PÒ. 

18. Explain any four methods of performance appraisal. 

 ö\¯ÀvÓß ©v¨¥miß H÷uÝ® |õßS •øÓPøÍ 
ÂÍUSP. 

19. Explain porter and Lawler theory of motivation and 
Adam’s equity theory of motivation. 

 ÷£õºmhº ©ØÖ® »õ»º E¢xu¼ß ÷Põm£õk ©ØÖ® 
Buõªß DUÂmi v¯› BL¨ FUPzvß BQ¯ÁØøÓ 
ÂÍUS[PÒ. 

20. Explain any four non-budgetary control techniques with 
suitable examples. 

 H÷uÝ® |õßS £möám AÀ»õu Pmk¨£õmk ~m£[PøÍ 
ö£õ¸zu©õÚ GkzxUPõmkPÐhß ÂÍUPÄ®. 

——————— 
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U.G. DEGREE EXAMINATION, APRIL 2025. 

Commerce 

Allied – FINANCIAL ACCOUNTING – II 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Rosy sales items on three months credit to Daisy on 26th 
October 2018. Calculate its due date. 

 AU÷hõ£º 26, 2018 AßÖ öh´]US ‰ßÖ ©õu 
QöμimiÀ ÷μõê ÂØ£øÚ ö£õ¸mPÒ ÂØ£øÚ ö\´uõº. 
Auß {¾øÁz ÷uvø¯U PnUQk[PÒ. 

2. What is account current? 

 PnUS |h¨¦ GßÓõÀ GßÚ? 

3. What is legacy? 

 ©μ¦ GßÓõÀ GßÚ? 

4. What are the types of donations? 

 |ßöPõøhPÎß ÁøPPÒ ¯õøÁ? 

5. What is sales ledger? 

 ÂØ£øÚ¨ ÷£÷μk GßÓõÀ GßÚ? 

6. What is general ledger? 

 ö£õx¨ ÷£÷μõk GßÓõÀ GßÚ? 

Sub. Code 
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7. What is statement of affairs? 

 ÂÁPõμ AÔUøP GßÓõÀ GßÚ? 

8. Write any two limitations of single entry system. 

 JØøÓ ~øÇÄ •øÓ°ß H÷uÝ® Cμsk Áμ®¦PøÍ 
GÊuÄ®. 

9. List is causes for providing depreciation. 

 ÷u´©õÚzøu ÁÇ[SÁuØPõÚ Põμn[PÒ £mi¯À 
¯õøÁ? 

10. What is straight line method? 

 ÷|º÷Põmk •øÓ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions. Choosing either (a) or (b). 

11. (a) Kannan purchased goods from Raman, the due 
dates for payment in cash being as follows: 

  Mar. 15 –  Rs. 1,000 Due 18th  April 
  Apr. 21 –  Rs. 1,500 Due 24th  May 
  Apr. 27 –  Rs. 500 Due 30th  June 
  May 15 –  Rs. 600 Due 18th  July 

  Raman agreed to draw a bill for the total amount 
due on the average due date. Ascertain the date. 

  Psnß μõ©Ûhª¸¢x ö£õ¸mPøÍ Áõ[QÚõº, 
£n©õP ö\¾zxÁuØPõÚ {¾øÁz ÷uvPÒ 
¤ßÁ¸©õÖ: 

  ©õºa. 15 –  ¹. 1,000 H¨μÀ 18 AßÖ ö\¾zu 
÷Ásk® 

  H¨. 21 –  ¹. 1,500 ÷© 24  AßÖ ö\¾zu 
÷Ásk® 

  H¨. 27 –  ¹. 500 áüß 30  AßÖ ö\¾zu 
÷Ásk® 
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  ÷© 15 –  ¹. 600 áüø» 18  AßÖ 
ö\¾zu ÷Ásk® 

  \μõ\› {¾øÁz ÷uv°À ö\¾zu ÷Ási¯ ö©õzuz 
öuõøPUPõÚ ¤À GkUP μõ©ß J¨¦UöPõshõº. 
÷uvø¯U PshÔ¯Ä®. 

Or 

 (b) State the process of Average Due Date Calculation. 

  \μõ\› {¾øÁz ÷uv PnURk ö\¯À•øÓø¯ 
SÔ¨¤hÄ®. 

12. (a) What will be the amount of subscription to be 
entered in the income and expenditure account? 

  Subscription received during the year 2003-2004  
Rs. 25,000/- 

  Subscription outstanding on 01/0412003 Rs. 5,000/- 

  Subscription outstanding on 31/03/2004 Rs. 10,000/- 

  Subscription received in advance on 01/04/2003  
Rs. 7,500/- 

  Subscription received in advance on 31/03/2004  
Rs. 5,000/-. 

  Á¸©õÚ® ©ØÖ® ö\»ÄU PnUQÀ EÒÎh ÷Ási¯ 
\¢uõ öuõøP GßÚÁõP C¸US®. 

  2003&2004 B® BsiÀö£Ó¨£mh \¢uõ ¹. 25,000/- 

  01/0412003 AßÖ {¾øÁ°À EÒÍ \¢uõ  
¹. 5,000/- 

  31/03/2004 AßÖ {¾øÁ°À EÒÍ \¢uõ ¹. 10,000/- 

  01/04/2003 AßÖ •ßTmi÷¯ ö£Ó¨£mh \¢uõ  
¹. 7,500/- 

  31/03/2004 AßÖ •ßTmi÷¯ ö£Ó¨£mh \¢uõ  
¹. 5,000/-. 

Or 
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 (b) State the objectives of preparing Receipt and 
Payment account. 

  μ^x ©ØÖ® PmhnU PnUøPz u¯õ›¨£uß 
÷|õUP[PøÍU SÔ¨¤hÄ®. 

13. (a) From the following information available from the 
books of a trader from 1st January to 31st March, you 
are required to draw up the Debtors Ledger 
Adjustment Account in the General Ledger 

  (i) Total Sales amounted to Rs. 1,80,000 including 
the sale of old Xerox machine for  
Rs. 4,800 (Book Value Rs. 8,000). Total Cash 
Sales were 80% less than the Total Credit 
Sales. 

  (ii)  Cash collections from debtors amounted to 
70% of the aggregate of the opening debtors 
and credit sales for the period. Debtors were 
allowed a cash discount of Rs. 20,000. 

  (iii)  Bills Receivable drawn during the three 
months totaled Rs. 30,000 of which bills 
amounting to Rs. 10,000 were endorsed in 
favor of suppliers. Out of the endorsed bills, 
one bill for Rs. 6,000 was dishonored for 
nonpayment as the party became insolvent, 
his estate realized nothing. 

  (iv)  Cheque received from customers Rs. 8,000 
were dishonored, a sum of Rs. 2,000 was 
irrecoverable. Bad Debts written off in the 
earlier years realized Rs. 11,000. 

  (v)  Sundry Debtors as on 1st January stood at  
Rs. 50,000. 

  áÚÁ› 1 •uÀ ©õºa 31 Áøμ J¸ ÁºzuP›ß 
¦zuP[PÎÀ C¸¢x QøhUS® ¤ßÁ¸® 
uPÁÀPÎ¼¸¢x, }[PÒ ö£õx¨ ÷£÷μmiÀ 
PhÚõÎPÒ ÷£÷μk \›ö\´uÀ PnUøP Áøμ¯ 
÷Ásk®. 

  (i) ö©õzu® ÂØ£øÚ ¹. 1,80,000 Em£h £øÇ¯ 
öáμõUì C¯¢vμ® ¹. 4,800 (¦zuP ©v¨¦  
¹. 8,000). ö©õzu £n ÂØ£øÚ ö©õzu Phß 
ÂØ£øÚø¯ Âh 80% SøÓÁõP C¸¢ux.  
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  (ii)  PhÚõÎPÎhª¸¢x öμõUP ÷\P›¨¦PÒ 
öuõhUP PhÚõÎPÎß ö©õzu öuõøP°À 70% 
©ØÖ® A¢uU Põ»zvØPõÚ Phß ÂØ£øÚ. 
PhÚõÎPÐUS ¹. 20,000 öμõUP uÒÍ£i 
AÝ©vUP¨£mhx. 

  (iii)  ‰ßÖ ©õu[PÎÀ ö£Ó¨£mh ÁμÄPÒ 
ö©õzu©õP ¹. 30,000 CvÀ ¤ÀPÒ ¹. 10,000 
\¨øÍ¯ºPÐUS BuμÁõP A[RP›UP¨£mhx. 
A[RP›UP¨£mh ¤ÀPÎÀ, J¸ ¤À ¹. 6,000 
vÁõ»õÚuõÀ £n® ö\¾zuõuuØPõP 
©v¨¤ÇUP¨£mhx, AÁ¸øh¯ Gì÷hm 
JßÖªÀø». 

  (iv)  ÁõiUøP¯õÍºPÎhª¸¢x ö£Ó¨£mh 
Põ÷\õø» ¹. 8,000 ©v¨¤Ç¢x, ¹. 2,000 
v¸®£¨ ö£Ó •i¯õux, •¢øu¯ BskPÎÀ 
uÒÐ£i ö\´¯¨£mh ÁõμõU PhßPÒ  
¹. 11,000. 

  (v)  áÚÁ› 1&B® ÷uv {»Áμ¨£i £À÷ÁÖ 
PhÚõÎPÒ ¹. 50,000. 

Or 

 (b) Provide proforma entries for the rectification of 
errors under the self balancing ledger. 

  _¯ \©{ø» ÷£÷μk RÌ ¤øÇPøÍ \›ö\´ÁuØPõÚ 
Kº Aø©¨¤ß £i EÒÏkPøÍ ÁÇ[PÄ®. 

14. (a) Write the difference between single entry and 
double entry system. 

  JØøÓ ~øÇÄ ©ØÖ® Cμsk ~øÇÄ •øÓUS 
Cøh÷¯ EÒÍ Âzv¯õ\zøu GÊx[PÒ. 

Or 

 (b) The following information extracted from the 
records of Ms. Sheetu  

  Capital at the beginning of year, i.e. April 01, 2016 
Rs. 1,20,000 

  Capital at the end of year, i.e. on March 31, 2017  
Rs. 2,00,000 
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  Capital brought in by the proprietor during the year 
Rs. 50,000 

  Withdrawals by the proprietor during the year  
Rs. 30,000. 

  Calculate the profit for the year. 

  v¸©v çxÂß £v÷ÁmiÀ C¸¢x GkUP¨£mh 
¤ßÁ¸® uPÁÀPÒ: 

  Bsiß öuõhUPzvÀ ‰»uÚ®, AuõÁx H¨μÀ 01, 
2016 AßÖ ¹. 1,20,000. 

  Bsk CÖv°À ‰»uÚ®, AuõÁx ©õºa 31, 2017 
AßÖ ¹. 2,00,000. 

  Bsk E›ø©¯õÍμõÀ öPõshÁμ¨£mh ‰»uÚ® 
¹. 50,000 

  Bsk •ÊÁx® E›ø©¯õÍº v¸®£¨ ö£ÖuÀ  
¹. 30,000. 

  BskUPõÚ »õ£zøuU PnUQk[PÒ. 

15.  (a) Identify the merits of Diminishing Balance Method. 

  SøÓ²® C¸¨¦ •øÓ°ß uSvPøÍ Aøh¯õÍ® 
PõnÄ®. 

Or 

 (b) A machine was purchased on January 1, 2011 for 
Rs. 1,00,000 and its useful life is 10 years. After 
completing its useful life, the machine will be 
scraped and nothing will be realized from it. It is 
decided to charge depreciation of this machine @ 
10% p. a. on Straight Line Method. Calculate 
amount of depreciation for each year during the 
useful life of this machine. 

  J¸ C¯¢vμ® áÚÁ› 1, 2011 AßÖ ¹. 1,00,000 
©ØÖ® Auß £¯ÝÒÍ ÁõÌUøP 10 BskPÒ. 
Auß £¯ÝÒÍ ÁõÌøPøPø¯ •izu ¤ÓS, 
C¯¢vμ® xøhUP¨£k®. Av¼¸¢x GxÄ® 
Enμ¨£hõx. C¢u C¯¢vμzvÀ ÷u´©õÚ® @ 10% 
p.a.  ÷|μõP Á› •øÓ°À C¢u C¯¢vμzvß 
£¯ÝÒÍ ÁõÌ|õÎÀ JÆöÁõ¸ Bsk® 
÷u´©õÚzvß AÍøÁU PnUQk[PÒ. 



S–7375 

  

  7

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Mani has accepted the following bills drawn by Sharma 
 On 8.3.94  Rs. 8,000 for 4 months 
 On 16.3.94  Rs. 10,000 for 3 months 
 On 7.4.94  Rs. 12,000 for 5 months 
 On 17.5.94  Rs. 10,000 for 3 months 

 He wants to pay all the bills on a single day. Find out this 
date. Interest is charged at 18% pa. and Mani wants to 
save Rs. 300 by way of interest. Find out the date on 
which he has to effect the payment to save interest of  
Rs. 300. 

 åº©õÁõÀ Áøμ¯¨£mh ¤ßÁ¸® ©÷\õuõUPøÍ ©o 
HØÖUöPõshõº. 

 8.3.94 AßÖ ¹. 8,000 4 ©õu[PÐUS 
 16.3.94 AßÖ ¹. 10,000 3 ©õu[PÐUS 
 7.4.94 AßÖ ¹. 12,000 5 ©õu[PÐUS 
 17.5.94 AßÖ ¹. 10,000 3 ©õu[PÐUS 

 AÁº J÷μ |õÎÀ AøÚzx Pmhn[PøÍ²® ö\¾zu 
Â¸®¦QÓõº. C¢u ÷uvø¯U PshÔ¯Ä®. Ámi 18% p.a. 
©ØÖ® ©o Ámi ‰»® ¹. 300 ÷\ªUP Â¸®¦QÓõº.  
¹. 300 Ámiø¯a ÷\ªUP AÁº G¢uz ÷uv°À £n® 
ö\¾zu ÷Ásk® Gß£øuU PshÔ¯Ä®. 

17. Convert the following receipts and payments account of 
the KODAGU charity Hospital for the year ended 30th 
2008 in to an Income and Expenditure A/c. 

Receipts and Payments a/c for the year ended 30th 2008 

Dr.     Cr.

 Receipts Rs. Payments Rs.  

 To balance b/d 
(1.07.07) 

2010 Salaries of nurses 656  

 To Subscriptions 1,115 By Board, laundry 
and domestic help 

380  
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Dr.     Cr.

 Receipts Rs. Payments Rs.  

 To fees from non-
members 

270 By Rent, rate and 
taxes 

200  

 To municipal grant 1,000 By Cost of car 2,000  

 To donation for 
building fund 

1,560 By expenses of car 840  

 To interest 38 By drugs and 
incidental expenses 

670  

  By balance c/d 1,247  

  5,993  5,993  

 A donation of Rs. 100 received for building fund was 
wrongly included in subscription account a bill of 
medicines purchased during the year amounting to  
Rs. 128 was outstanding. 

2008 B® Bsk 30 ÷uv •iÁøh¢u BsiØPõÚ 
öPõhS AÓUPmhøÍ ©¸zxÁ©øÚ°ß ¤ßÁ¸® μ^xPÒ 
©ØÖ® PmhnU PnUøP Á¸©õÚ® ©ØÖ® ö\»ÂÚ 
H/]¯õP ©õØÓÄ®. 

2008 CÀ •iÁøh¢u BsiØPõÚ μ^xPÒ ©ØÖ® 
öPõk¨£ÚÄPÒ 

Dr.     Cr.

 μ^xPÒ ¹. öPõk¨£ÚÄPÒ ¹.  

 \©{ø» b/d (1.07.07) 2010 ö\Â¼¯ºPÎß 
\®£ÍzuõÀ 

656  

 \¢uõUPÐUS 1,115 Áõ›¯®, \»øÁ 
©ØÓ® Ãmk 
EuÂ ‰»® 

380  

 EÖ¨¤ÚºPÒ 
AÀ»õuÁºPÎhª¸¢x 
Pmhn® 

270 ÁõhøP ÂQu® 
©ØÖ® Á› 
‰»® 

200  

 |Pμõm] ©õÛ¯zvØS 1,000 Põ›ß Âø» 2,000  
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Dr.     Cr.

 μ^xPÒ ¹. öPõk¨£ÚÄPÒ ¹.  

 Pmih {vUPõÚ 
|ßöPõøh 

1,560 Põº ö\»ÄPÒ 
‰»® 

840  

 Ámi 38 ©¸¢xUPÒ 
©ØÖ® 
uØö\¯»õÚ 
ö\»ÄPÒ ‰»®

670  

  \©{ø» c/d 
‰»® 

1,247  

  5,993  5,993  

 |ßöPõøh¯õP ¹. 100 Pmih {vUPõP ö£Ó¨£mh \¢uõ 
PnUQÀ uÁÓõP ÷\ºUP¨£mk A¢u BsiÀ Áõ[Q¯ 
©¸¢xPÎß ¤À ¹. 128 {¾øÁ°À C¸¢ux. 

18. From the following particulars prepare the Creditors 
Ledger Adjustment Account as would appear in the 
General Ledger of Mr. Sathish for the month of March 
2014. 

Date Particulars 

1 Purchase from Mr. Akash Rs. 7,500 

3 Paid Rs. 3,000 after adjusting the initial advance in 
full to Mr. Akash. 

10 Paid Rs. 2,500 to Mr. Dev towards the purchases 
made in February in full. 

12 Paid advance to Mr. Giridhar Its. 6,000 14 purchased 
goods from Mr. Akash Rs. 6,200 

20 Returned goods worth Rs. 1,000 to Mr. Akash 

24 Settled the balance due to Mr. Akash at a discount of 
5%. 

26 Goods purchased from Mr. Giridhar against the 
advance paid already  

29 Purchased from Mr. Nathan Rs. 3,500 

30 Goods retuned to Mr. Prem Rs. 1,200. 

 The goods were originally purchased for cash in the 
month of February 2014. 
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 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x, ©õºa 2014 ©õuzvØPõÚ v¸. 
\wæß ö£õx¨ ÷£÷μmiÀ ÷uõßÖ® Qöμimhºì 
÷£÷μmiÀ \› ö\´uÀ PnUøPz u¯õ›UPÄ®.   

÷uv ÂÁμ[PÒ 

1 v¸. BPõæhª¸¢x Áõ[SuÀ ¹. 7,500 

3 ö\¾zv¯ ¹. 3,000 v¸. BPõåûUP Bμ®£ 
•ß£nzøu •Êø©¯õP \› ö\´u ¤ÓS. 

10 ö\¾zv¯ v¸. 2,500 v¸. ÷uÄUS ¤¨μÁ›°À 
•Êø©¯õP Áõ[Q¯ öuõøPUS 

12 v¸.Q›u¸US •ß£n® ö\¾zu¨£mhx ¹. 6,000 

20 v¸. BPõæh® C¸¢x Áõ[Q¯ ö£õ¸mPÒ ¹. 6,200 

24 ªìhº. BPõæØS 5% uÒÐ£i°À {¾øÁz 
öuõøPø¯z wºzux. HØPÚ÷Á ö\¾zu¨£mh 
•ß£nzvØS GvμõP  v¸. Q›uõ›hª¸¢x 26 
ö£õ¸mPÒ Áõ[P¨£mhÚ 

29 v¸. |õuÛhª¸¢x Áõ[P¨£mhx ¹. 3,500 

30 ö£õ¸mPÒ v¸. ¤÷μªh® v¸®£¨ ö£Ó¨£mhx 
¹. 1,200  

 ö£õ¸mPÒ •u¼À ¤¨μÁ› 2014 CÀ £nzvØS 
Áõ[P¨£mhÚ. 

19. A and B are in Partnership. Their Capitals on 1st April 
2010 were Rs 30.000 each. The assets and liabilities as on 
31st March 2011 were as follows. 

 Cash in hand  Rs. 2,400 
 Cash at Bank  Rs. 16,000 
 Bill Receivable  Rs. 4,000 
 Debtors   Rs. 28,600 
 Stock   Rs. 26,000 
 Machinery   Rs. 14,000 
 Furniture   Rs. 8,000 
 Bills Payable  Rs. 3,000 
 Sundry creditors Rs. 6,000 
 Outstanding salary Rs. 800 



S–7375 

  

  11

 Additional Information: 

 (a) Provide Rs 600 as Bad Debts and 5% R.D.D. 

 (b) Depreciate furniture @ 5% pa. and Machinery @ 
10% pa. 

 (c) Stock is found undervalued by Rs 2,000. 

 (d) Sundry creditors are found overvalued by Rs 1,000. 

 (e) Prepaid Insurance Rs 2,000. 

 (f) Additional capital introduced by partners Rs 4,000 
each. 

 (g) Drawings of ‘A’ Rs 3,000 and ‘B’ Rs 2,000 calculate 
the profit for the year ended 31st March 2011. 

 H ©ØÖ® ¤ Tmhõsø©°À EÒÍÚ. H¨μÀ 1, 2010 AßÖ 
AÁºPÎß ‰»uÚ® u»õ ¹. 30,000 31, ©õºa 2011 CÀ 
EÒÍ ö\õzxUPÒ ©ØÖ® ö£õÖ¨¦PÒ ¤ßÁ¸©õÖ. 

 øP°À öμõUP®    ¹. 2,400 

 Á[Q°À öμõUP®   ¹. 16,000 

 ö£ÖuØS›¯ ©õØÖa^mkPÒ  ¹. 4,000 

 PhÚõÎPÒ    ¹. 28,600 

 \μUS      ¹. 26,000 

 C¯¢vμ[PÒ    ¹. 14,000 

 ©μa\õ©õßPÒ    ¹. 8,000 

 ö\¾zu ÷Ási¯ ©õØÖa^mkPÒ ¹. 3,000 

 £À÷ÁÖ Phß ÁÇ[S£ÁºPÒ  ¹. 6,000 

 {¾øÁ \®£Í®    ¹. 800 

 TkuÀ uPÁÀ: 

 (A) ÁõμõU PhßPÍõP ¹. 600 ÁÇ[PÄ® ©ØÖ® 5% 
Bº.i.i. 

 (B) ©μa\õ©õßPÒ ©v¨¤ÇUP @ 5% p.a. ©ØÖ® 
C¯¢vμ[PÒ @ 10% 
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 (C) £[S ¹. 2,000 SøÓÁõP ©v¨¤h¨£mhkÒÍx. 

 (D) £À÷ÁÖ Phß ÁÇ[S£ÁºPÒ ¹. 1,000 AvP©õP 
©v¨¤h¨£mkÒÍÚº. 

 (E) •ß ö\¾zv¯ Põ¨¥k ¹. 2,000. 

 (F) TmhõÍºPÍõÀ AÔ•P¨£kzu¨£mh TkuÀ 
‰»uÚ® JÆöÁõßÖ® ¹. 4,000. 

 (G) Gk¨¦ ‘A’ ¹. 3,000 ©ØÖ® ‘B’ ¹. 2,000 ©õºa 31, 2011 
CÀ •iÁøh¢u BsiØPõÚ »õ£zøuU 
PnUQkQßÓÚ. 

20. On 1st January 2013, a limited company purchased 
machinery for Rs. 12,000 and on 30th June 2014 it 
acquired additional machinery at a cost of Rs. 2,000. On 
31st March 2015 one of the original machines which had 
cost of Rs. 500 was found to have become obsolete and 
was sold as scrap for Rs. 50. It was replaced on that date 
by a new machine costing Rs. 800. 

 Depreciation to be provided at the rate of 15% per annum 
on the WDV. Show the machinery account for the first 
three years. 

 áÚÁ› 1, 2013 AßÖ, J¸ Áøμ¯ÖUP¨£mh {ÖÁÚ®  
¹. 12,000 US C¯¢vμ[PøÍ Áõ[Q¯x ©ØÖ® 30 áüß 
2014 AßÖ TkuÀ C¯¢vμ[PøÍ ¹. 2,000. 31 ©õºa 
2015 AßÖ A\À C¯¢vμ® JßÖ ¹. 500 ÁÇ[PØÖ¨ 
÷£õÚx Psk¤iUP¨£mk xsk ¹. 50. A¢uz ÷uv°À 
AuØS¨ £v»õP ¦v¯ C¯¢vμ® ¹. 800.  

SøÓ¢x ö\À ©v¨¦ •øÓ°À Á¸hzvØS 15% GßÓ 
ÂQuzvÀ ÷u´©õÚ® ÁÇ[P¨£k®. •uÀ ‰ßÖ 
BskPÐUPõÚ C¯¢vμU PnUøPU Põmk. 

 
———————— 
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B.Com. DEGREE EXAMINATION, APRIL 2025 

Third Semester 

Commerce 

ADVANCED ACCOUNTANCY – III 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is partnership deed? 

 Tmhõsø© J¨£õÁn® GßÓõÀ GßÚ? 

2. Why is Profit and loss appropriation account prepared? 

 C»õ£|mh¨ £QºÄ PnUS Hß u¯õ›UP¨£mh ÷Ásk®? 

3. What is meant by revaluation of assets and liabilities? 

 ö\õzxUPÒ ©ØÖ® ö£õÖ¨¦PøÍ ©Ö©v¨¥k ö\´uÀ 
GßÓõÀ GßÚ? 

4. Write a short note on accounting treatment of goodwill. 

 |Øö£¯¸UPõÚ PnUQ¯À ö\¯À•øÓ SÔzx ]Ö SÔ¨¦ 
uμÄ®. 

5. What is the purpose of calculating gaining ratio? 

 Buõ¯ ÂQu® PnUQkÁuß ÷|õUP® GßÚ? 

6. What is meant by retirement of a partner? 

 TmhõÎ Â»PÀ GßÓõÀ GßÚ? 

Sub. Code 
22BCO3C1 



S–7376 

  

  2

7. What do you understand by Dissolution of Partnership? 

 Tmhõsø© Pø»¨¦ ‰»® }[PÒ GßÚ 
¦›¢xöPõÒQÕºPÒ? 

8. State the meaning of insolvency of a partner. 

 TmhõÎ°ß vÁõÀußø©°hß ö£õ¸øÍU TÖ[PÒ. 

9. What is purchase consideration? 

 öPõÒ•uÀ £›^»øÚ GßÓõÀ GßÚ? 

10. What do you know about the maximum loss method of 
distribution? 

 AvP£m\ CÇ¨¦ •øÓ Â{÷¯õP® £ØÔ E[PÐUS GßÚ 
öu›²®? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) A and B contribute Rs.4,00,000 and Rs. 2,00,000 
respectively as capital. Their respective share of 
profit is 3:2 and the profit before interest on capital 
for the year is Rs. 27,000. Compute the amount of 
interest on capital in each of the following 
situations: 

  (i)  if the partnership deed is silent as to the 
interest on capital 

  (ii)  If interest on capital @ 3% is allowed as per 
the partnership deed  

  (iii) if the partnership deed allows interest on 
capital @ 5% pa 
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  A ©ØÖ® B ÁÇ[Q¯ •uÀ •øÓ÷¯ ¹ 4,00,000 
©ØÖ® ¹ 2,00,000 AÁºPÎß C»õ£¨ £QºÄ  

ÂQu® 3:2 AÆÁõsiß •uÀ «x Ámi 
PnUQkÁuØS •ßÚº C»õ£® ¹ 27,000 ¤ßÁ¸® 
{ø»PÎÀ •uÀ «uõÚ Ámiz öuõøPø¯U 
PnUQhÄ®. 

  (i) •uÀ «x Ámi SÔzx Tmhõsø© 
J¨£õÁnzvÀ Gx® SÔ¨¤hõu ÷£õx  

  (ii) Tmhõsø© J¨£õÁnzvß £i •uÀ «x 
Ámi BskUS 3% AÝ©vUP¨£k® ÷£õx 

  (iii) Tmhõsø© J¨£õÁnzvß £i •uÀ «x 
Ámi BskUS 5% AÝ©vUS® ÷£õx 

Or 

 (b) State the differences between fixed capital method 
and fluctuating capital method. 

  {ø»•uÀ •øÓUS® ©õÖ£k® •uÀ •øÓUS® 
Cøh÷¯¯õÚ ÷ÁÖ£õkPøÍz uμÄ®. 

12. (a) What are the adjustments required at the time of 
admission of a partner? 

  TmhõÎ ÷\º¨¤ß ÷£õx ÷©ØöPõÒÍ ÷Ási¯ 
\›PmkuÀPÒ ¯õøÁ? 

Or 

 (b) Anbu and Raju are partners, sharing profits in the 
ratio of 3:2. Akshai is admitted as a partner. The 
new profit sharing ratio among Anbu, Raju and 
Akshai is 5:3:2. Find out the sacrificing ratio. 

  Aß¦ ©ØÖ® Cμõáú GßÓ C¸ TmhõÎPÒ 3:2 GßÓ 
C»õ£ ÂQuzvÀ C»õ£zøu¨ £Qº¢x Á¢uÚº.  
AUå´ Gß£Áøμ TmhõÎ¯õPa ÷\ºzuÚº. Aß¦, 
Cμõáú ©ØÖ® AU å´ AÁºPÎß ¦v¯ C»õ£¨ 
£[S 5:3:2 v¯õP ÂQuzøuU PnUQhÄ®. 
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13. (a) Ramya, Sara and Thara are partners sharing profits 
and losses in the ratio of 5:3:2.. On  1st april 2018, 
Thara retires and on retirement, the following 
adjustments are agreed upon: 

  (i) Increase the value of premises by Rs. 40,000 

  (ii) Depreciate stock by Rs. 3,000 and machinery 
by Rs. 6,500 

  (iii) Provide an outstanding liability of Rs. 500 

  Pass Journal entries and prepare revaluation 
account. 

  μ®¯õ, \õμõ ©ØÖ® uõμõ GßÓ TmhõÎPÒ •øÓ÷¯ 
5:3:2 GÝ® ÂQuzvÀ C»õ£ |mh® £Qº¢x Á¢uÚº. 
2018 H¨μÀ 1 AßÖ uõμõ Tmhõsø©°¼μ¢x 
Â»QÚõº. 

¤ßÁ¸® \›PmkuÀPÒ ÷©ØöPõÒÍ¨£h ÷Ásk® 

  (i) ÁÍõPzvß ©v¨ø£ ¹ 40,000 E¯ºzu 
÷Ásk® 

  (ii) \μUQ¸¨¦ ¹ 3,000 C¯¢vμ® ¹ 6,500 ©v¨¦ 
SøÓUP ÷Ásk® 

  (iii) öPõk£hõa ö\»ÄPÒ ¹ 500 JxUS E¸ÁõUP 
÷Ásk® 

  SÔ¨÷£mk¨ £vÄPÒ u¢x ©ØÖ® ©v¨¥mkU 
PnUS u¯õ›UPÄ®. 

Or 

 (b) What are the ways in which the final amount due to 
an outgoing partner can be settled? 

  öÁÎaö\À¾® TmhõÎUSa ö\¾zu ÷Ási¯ 
öuõøP°øÚ GÆÁõÖ wºÄ ö\´¯»õ®? 
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14. (a) Explain the value in Garner Vs Murray. 

  PõºÚº Vs •º÷μ°À EÒÍ ©v¨ø£ ÂÍUSP. 

Or 

 (b) The balance sheet of X Y and Z were sharing profits 
in the ratio of 3:1:1 stood as follows on 31.12.2000 
i.e., the date of dissolution. 

Liabilities Rs. Asset Rs.

Sundry liabilities 1,05,000 Cash 1,000

X’s capital 15,000 Debtors 29,000

Y’s capital 10,000 Stock 40,000

 Plant 30,000

 Goodwill 10,000

 Z’s capital 20,000

 1,30,000  1,30,000

 Asset realized Rs. 79,750. Realisation expenses are  
Rs. 2,000. Prepare realisation account. 

 31.12.2000 AßÖ {ÖÁÚ® Pø»UP¨£mh÷£õx  X Y 
©ØÖ® Z Cß C¸¨¦{ø» SÔ¨¤À 3:1:1 GßÓ ÂQuzvÀ 
»õ£zøu¨ £Qº¢x öPõshx. 

ö£õÖ¨¦PÒ ¹ ö\õzxUPÒ ¹

£Ø£» ö£õÖ¨¦PÒ 1,05,000 öμõUP® 1,000

X  ‰»uÚ® 15,000 PhÚõÎPÒ 29,000

Y ‰»uÚ® 10,000 \μUQ¸¨¦ 40,000

 ö£õÔ 30,000

 |Øö£¯º 10,000

 Z ‰»uÚ® 20,000

 1,30,000  1,30,000

 ö\õzxUPUPÒ ÂØÓx ¹ 79,750 wºÄ ö\»ÄPÒ ¹ 2,000 
wºÄ. 
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15. (a) From the following distribute cash under 
proportionate capital method: 

  Capital of Partners: 

  Amir — Rs. 20,000 

  Balan—Rs. 10,000 

  Profits sharing ratio — 3:2 

  First installment (cash) — Rs. 5,000 

  Second installment (cash) — Rs. 4,000 

  Third installment (cash) — Rs. 2,000 

  ÂQuõa\õμ ‰»uÚ •øÓ°ß RÌ ¤ßÁ¸® 
öμõUPzv¼¸¢x GÆÁõÖ £Qº¢uÎ¨£õ´: 

 
   TmhõÎPÎß •uÀ: 

  A«º  –  ¹.  öμõUPzv¼¸¢x 20,000 

  £õ»ß – ¹. 10,000 

  »õ£¨ £QºÄ ÂQu® – 3:2 

  •uÀ uÁøn (öμõUP®) – ¹ 500 

  CμshõÁx uÁøn (öμõUP®)– ¹ 4,000 

  ‰ßÓõÁx uÁøn (öμõUP®) – ¹ 2,000 

Or 

 (b) How will you distribute the purchase price among 
the partners? 

  TmhõÎPÎøh÷¯ öPõÒ•uÀ Âø»°øÚ GÆÁõÖ 
£Qº¢uÎ¨£õ´? 
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 Part C  (3 × 10 = 30) 

Answer any THREE questions. 

16. Arulappan and Nallasamy are partners in a firm sharing 
profits and losses in the ratio of 4:1. On 1st January 2018, 
their capitals were Rs. 20,000 and Rs. 10,000 
respectively. The partnership deed specifies the following:  

 (a)  Interest on capital is to be allowed at 5% per 
annum. 

 (b)  Interest on drawings charged to Arulappan and 
Nallasamy are Rs.200 and Rs. 300 respectively. 

 (c)  The net profit of the firm before considering interest  
on capital and interest on drawings amounted to 
Rs.18.000. 

 Give necessary journal entries and prepare Profit and 
loss appropriation account for the year ending 31st 
December 2018. Assume that the capitals are fluctuating. 

A¸Í¨£ß ©ØÖ® |À»\õª C¸Á¸® J¸ Tmhõsø© 
{ÖÁÚzvß TmhõÎPÒ. AÁºPÒ u[PÒ C»õ£ 
|mh[PøÍ 4:1 GßÓ ÂQuzvÀ £Qº¢x Á¸QßÓÚº. 2018 
áÚÁ› 1 AßÖ AÁºPÐøh¯ •uÀ •øÓ÷¯ ¹ 20,000 
©ØÖ® ¹ 10,000 Tmhõsø© J¨£õÁn® 
¤ßÁ¸ÁÚÁØøÓU SÔ¨¤kQÓx: 

 (A) •uÀ «x Ámi BskUS 5% AÝ©vUP ÷Ásk® 

 (B) A¸Í¨£ß ©ØÖ® |À»\õª C¸Á¸US® Âvzu 
Gk¨¦PÒ «uõÚ Ámi •øÓ÷¯ ¹ 200 ©ØÖ® ¹ 300 
BS®. 

 (C) •uÀ «x Ámi ©ØÖ® Gk¨¦PÒ «uõÚ Ámi 
PÈ¨£uØS •ß EÒÍ {ÖÁÚzvß {Pμ »õ£®  
¹ 18,000. 

 TmhõÎPÐøh¯ •uÀ ©õÖ£k® •uÀ GÚU öPõsk 
÷uøÁ¯õÚ SÔ¨÷£mkU £vÂøÚz uμÄ® ©ØÖ® 2018,, 
i\®£º 31 B® |õøÍ¯ C»õ£|mh¨ £Q›Ä PnUøP²® 
u¯õº ö\´¯Ä®. 
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17. The following is the balance sheet of James and Justina 
as on 1.1.2017. They share the profits and losses equally 

Liabilities Rs. Rs. Assets Rs. 

Capital 
Accounts : 

  Building 70,000 

James 40,000  Stock 30,000 

Justina 50,000 90,000 Debtors 20,000 

Creditors  35,000 Bank 15,000 

Reserve Fund  15,000 Prepaid 
Insurance 

5,000 

  1,40,000  1,40,000

 On the above date, Balan is admitted as a partner with 
1/5 share in future profits. Following are the terms for his 
admission: 

 (a)  Balan brings Rs.25,000 as capital. 
 (b)  His share of goodwill is Rs.10,000 and he brings 

cash for it. 
 (c) The assets are to be valued as under: 
  Building Rs. 80,000; Debtors Rs.18,000; Stock  
  Rs. 33,000 
 Prepare necessary ledger accounts and the balance sheet 

after admission. 
 C»õ£ |mh[PøÍ \©©õP¨ £Qº¢x öPõÒÐ® ÷á®ì 

©ØÖ® áìiÚõÂß 1.1.2017 ® |õÍßøÓ¯ C¸¨¦ 
{ø»USÔ¨¦ ¤ßÁ¸©õÖ: 

ö£õÖ¨¦PÒ ¹ ¹ ö\õzxUPÒ ¹ 

•uÀ 
PnUSPÒ : 

  Pmhh® 70,000 

÷á®ì 40,000  \μUQ¸¨¦ 30,000 

áìiÚõ 50,000 90,000 PhÚõÎPÒ 20,000 

PhÜ¢÷uõº  35,000 Á[Q öμõUP® 15,000 

Põ¨¦ {v  15,000 •ßTmia 
ö\»zv¯ Põ¨¥k

5,000 

  1,40,000  1,40,000
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 ÷©ØTÔ¯ |õÎÀ £õ»ß Gß£Áøμ GvºPõ» C»õ£zvÀ 
1/5 £[QØS ¤ßÁ¸® ÂÁμ[PÒ Ai¨£øh°À 
TmhõÎ¯õP ÷\ºzuÚº. 

 (A) £õ»ß ¹ 25,000 •uÀ öPõskÁ¢uõº 

 (B) |Øö£¯›À AÁ¸øh¯ £[PõP ¹ 10,000 öμõUP©õP 
öPõskÁ¢uõº 

 (C) ö\õzxUPÒ RÌPshÁõÖ ©v¨¤h¨£mhÚ 

  Pmhh® ¹ 80,000 PhÚõÎPÒ ¹ 18,000 \μUQ¸¨¦ 
¹ 33,000  

  ÷uøÁ¯õÚ ÷£÷μmkU PnUSPøÍ u¯õº ö\´x 
TmhõÎ ÷\º¨¤ØS ¤ßÁ¸® C¸¨¦{ø»U 
SÔ¨¤øÚz u¯õº ö\´¯Ä®. 

18. Sundar, Vivek and Pandian are partners, sharing profits 
in the ratio of 3:2:1. Their balance sheet as on 31st 
December, 2018 is as under: 

 Balance Sheet as on 31st December 2018 

  

Liabilities  Rs Rs Assets Rs

Capital 
accounts : 

Land 80,000

Sundar 50,000 Stock 20,000

Vivek 40,000 Debtors 30,000

Pandian 10,000 1,00,000 Cash at bank 14,000

General 
reserve 

36,000 Profit and Loss 
A/c (Loss) 

6,000

Sundry 
creditors 

14,000  

 1,50,000  1,50,000
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 On 1.1.2019 Pandian died and on his death the following 
arrangements are made: 

 (a) Stock to be depreciated by 10% 

 (b) Land is to be appreciated by Rs. 11,000 

 (c) Reduce the value of debtors by Rs. 3,000 

 (d) The final amount due to Pandian was not paid 

 Prepare revaluation account, partners capital account 
and the balance sheet of the firm after death. 
_¢uº, Â÷ÁU, £õsi¯ß GßÓ TmhõÎPÒ C»õ£ 
|mh[PøÍ 3:2:1 GßÓ ÂQuzvÀ £Qº¢x öPõshÚº. 
AÁºPÎß 2018, i®£º 31 B® |õøÍ¯ C¸¨¦ {ø»U 
SÔ¨¦ ¤ßÁ¸©õÖ : 

 2018 i\®£º 31 B® |õøÍ¯ C¸¨¦{ø»U SÔ¨¦ 

ö£õÖ¨¦PÒ  ¹ ¹ ö\õzxUPÒ ¹ 

•uÀ PnUSPÒ   {»® 80,000 

_¢uº 50,000  \μUQ¸¨¦ 20,000 

Â÷ÁU 40,000  PhÚõÎPÒ 30,000 

£õsi¯ß 10,000 1,00,000 Á[Q öμõUP® 14,000 

ö£õxUPõ¨¦  36,000 C»õ£ |mhU 
P/S 

6,000 

£Ø£» 
PhÜ¢÷uõº 

 14,000 (|mh®)  

  1,50,000  1,50,000

 1.1.2019 AßÖ £õsi¯ß CÓ¢x Âmhõº ©ØÖ® AÁ›ß 
CÓ¨¤ß ¤ßÁ¸® \›UPmkuÀPÒ ö\´¯¨£mhÚ 

 (A) \μUQk¨¤ß ©v¨¦ 10% ÷u´©õÚ® SøÓUP¨£h 
÷Ásk® 

 (B) {»zvß ©v¨¦ ¹ 11,000 AvP›UP¨£h ÷Ásk® 

 (C) PhÚõÎPÒ ©v¨¦ ¹ 3,000 SøÓUP ÷Ásk® 

 (D) £õsi¯ÝUS ö\¾zu ÷Ási¯ SøÓUP¨£h öuõøP 
ö\¾zu¨£hÂÀø» 

 TmhõÎ°ß CÓ¨¤ØS ¤ß {Ö©zvß ©Ö©v¨¥mkU 
PnUS TmhõÎPÒ •uÀ PnUS ©ØÖ® ©v¨¦ SÔ¨¦ 
u¯õ›UPÄ®. 
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19. X, Y and Z are equal partners whose balance sheet on 
December 31, 2020 is as follows: 

Liabilities Rs Assets Rs
Sundry 
Creditors 

5,000 Cash 50

X’s loan 1,000 Stock 800
Capital a/c’s: Debtors 1,000
X-800 Plant and 

machinery 
2,000

Z-500 1,300 Furniture and 
Fittings 

800

 Land and Building 2,000
 Y’s capital 

(overdrawn) 
650

 7,300  7,300

 Due to lack of liquidity and weak financial position of the 
 partners the firm is dissolved X and Z are not able to 
 contribute anything and sum of Rs. 200 is received from 
 Y. All of them are declared insolvent. The assets are 
 realized, stock – Rs. 500, Plant and Machinery –  
 Rs. 1,000, Furniture and Fittings – Rs. 200, Land and 
 Buildings – Rs. 800 and Debtors – Rs. 550 only. 
 Realisation expenses amounted to Rs. 50. You are 
 required to close the firm’s  books. 

 X, Y ©ØÖ® Z BQ¯øÁ i\®£º 31, 2020 CÀ EÒÍ 
C¸¨¦{ø»U PnUS ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ ¹ ö\õzxUPÒ ¹
£Ø£» 
PhÜ¢÷uõº 

5,000 öμõUP® 50

GUì Phß 1,000 \μUQ¸¨¦ 800
‰»uÚ® P/S PhÚõÎPÒ 1,000

X - -800 Bø» ©ØÖ® 
C¯¢vμ[PÒ  

 
2,000

Z-500 1,300 AøÓP»ß ö£õ¸zxPÒ 800

 {»® ©ØÖ® Pmih® 2,000
 Y Cß ‰»uÚ® ; 

(÷©ÀÁøμ¨£ØÖ) 

650

 7,300  7,300
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 £n¨¦ÇUP® ©ØÖ® £[SuõμºPÎß £»ÃÚ©õÚ {v {ø» 
Põμn©õP {ÖÁÚ® Pø»UP¨£mhx, GUì ©ØÖ® C\m 
GxÄ® £[PÎUP •i¯õx Y °hª¸¢x ©mk® ; ¹ 200 
ö£Ó¨£kQÓx, AøÚÁ¸® vÁõ»õÚuõP 
AÔÂUP¨£mkÒÍÚº. ö\õzxUPÒ ©v¨¦ ¤ßÁ¸©õÖ :  
\μUQ¸¨¦ ¹ 500, Bø» ©ØÖ® C¯¢vμ[PÒ ¹ 1,000 
AøÓP»ß ö£õ¸zxPÒ – ¹ 200, {»® ©ØÖ® Pmih[PÒ  
– ¹. 800 ©ØÖ® PhÚõÎPÒ – ¹ 550 ©mk÷©. 
©Ö©v¨¥k ö\»Ä ¹ 50  ÷uøÁ¯õÚ {ÖÁÚ PnUSPøÍ 
•iUPÄ®., 

20. What do you understand by ‘Piecemeal distribution’? 
Explain the different methods of making such 
distribution. 

£Sv Â{÷¯õP® Gß£uß ‰»® }[PÒ GßÚ 
¦›¢xöPõÒRÕºPÒ? Â{÷¯õPzvß £À÷ÁÖ •øÓPøÍ   
ÂÍUSP. 

 
 

———————— 
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BUSINESS STATISTICS 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is an array? 

 Á›ø\ Gß£x GßÚ? 

2. Define classification of data. 

 ÁøP¨£kzxuø» Áøμ¯ÖUP. 

3. The mean marks of 100 students were found to 40. Later 
it was discovered that a score of 53 was misread as 83. 
Find the corrected mean corresponding to the Corrected 
score. 

 100 ©õnÁºPÎß ©v¨ö£s \μõ\› 40 ¤ÓS 53 GßÓ 
©v¨ö£soØS¨ £v»õP 83 GßÖ 
GkzxUöPõÒÍ¨£mhõÀ v¸zu¨£mh \μõ\›ø¯U PõsP. 

4. In a moderately asymmetrical distribution the values of 
mode and mean are 32.1 at 35.4 respectively. Find the 
median value. 

 \©a^μØÓ £μÁ¼À •Pk ©ØÖ® \μõ\› •øÓ÷¯ 32.1 
©ØÖ® 35.4 GÛÀ, Cøh{ø» AÍÄ PõsP. 

Sub. Code 
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5. Write the definition of correlation by A.M. Tuttle. 

 H.G®. hmiÀ Cß JmkÓÄ £ØÔ¯ Áøμ¯øÓ GÊxP.  

6. Find the standard deviation of Y given that ( )XV  is 36,  

5.0,8.0 == xyxy rb . 

 ( )XV Cß ©õÖ£õk 36,  5.0,8.0 == xyxy rb  GÛÀ Y ß 

vmh Â»UP® PõsP. 

7. Define base period. 

 Ai¨£øh Bsøh Áøμ¯Ö. 

8. State the types of Index numbers. 

 SÔ±mk GsPÎß ÁøPPøÍU TÖP. 

9. What are the components of a time series? 

 Põ»z öuõhº Á›ø\°ß ¤›ÄPÒ ¯õøÁ? 

10. Write short notes on irregular variation. 

 JÊ[PØÓ ©õÖ£õkPÒ SÔzx ]Ö SÔ¨¦ ÁøμP. 

 Part B  (5 × 5 = 25) 

Answer all questions. Choosing either (a) or (b). 

11. (a) State the objectives of classification. 

  ÁøP¨£kzxu¼ß ÷|õ[P[PÒ ¯õøÁ. 

Or 

 (b) Give an illustration for a simple table. 

  Kº GÎ¯ AmhÁønUP GkzxUPõmk u¸P. 
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12. (a) Calculate 9D  from the following frequency 
distribution. 

x: 58 59 60 61 62 63 64 65 66

f: 2 3 6 15 10 5 4 3 2 

  ¤ßÁ¸® ÂÁμ[PÐUS 9D  PõsP. 

x: 58 59 60 61 62 63 64 65 66

f: 2 3 6 15 10 5 4 3 2 

Or 

 (b) Find the mean and median: 

Wages (Rs.): 60-70 50-60 40-50 30-40 20-30

No. of labourers: 5 10 20 5 3 

  \μõ\›, Cøh{ø» AÍÄ PõsP. 

T¼ (¹.) : 60-70 50-60 40-50 30-40 20-30

öuõ›»õÍºPÎß 
GsoUøP : 

5 10 20 5 3 

13. (a) Given that ( ) 6.18,cov =yx , variance of 2.20=x  
variance of 7.23=y . Find r . 

  ( ) 6.18,cov =yx  x Cß  ©õÖ£õk 2.20=x  y ß 

7.23=y  ©õÖ£õk GÛÀ r  Cß ©v¨¦ PõsP. 

Or 

 (b) Given the following lines of regression 
066108 =+− yx  and 2141840 =− yx . Find the 

mean value of X and Y. 

  066108 =+− yx , 2141840 =− yx  GßÓ Ehß 

öuõhº¦ ÷PõmiØS X ©ØÖ® Y Cß \μõ\›PøÍ 
PnUQkP. 
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14. (a) Calculate Fisher’s ideal index method for the 
following data. 

2000 2001 
Commodity

Price Quantity Price Quantity

A 2 7 3 5 

B 5 11 6 10 

C 3 14 5 11 

D 4 16 4 18 

  RÌPsh uμÄPÐUS ¤å›ß ÂÊª¯ SÔ±mk 
Gsøn PnUQkP. 

2000 2001 
ö£õ¸mPÒ 

Âø» AÍÄ  Âø» AÍÄ 

A 2 7 3 5 

B 5 11 6 10 

C 3 14 5 11 

D 4 16 4 18 

Or 

 (b) Calculate index number from the following data by 
simple aggregate method taking prices of 2015 as 
base. 

Price per kg
Commodity Units 

2015 2016

Wheat Quintal 200 250 

Rice Quintal 300 400 

Pulses Quintal 400 500 

Milk Litre 2 3 

Clothing Meter 3 5 
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  2015 B® Bsøh Ai¨£øh BshõP öPõsk 
RÌUPsh uμÄPÐUS GÎ¯ ö©õzu •øÓ°À 
SÔ±mk GsønU PnUQkP. 

Âø» Q/Q
ö£õ¸mPÒ  A»SPÒ  

2015 2016
÷Põxø© SÂshõÀ  200 250 
A›] SÂshõÀ 300 400 
£¸¨¦ ÁøPPÒ SÂshõÀ 400 500 
£õÀ ¼mhº 2 3 
xo ©oPÒ «mhº 3 5 

15.  (a) Draw a time service graph relating to the following 
data and show the trend by free hand method.  

Year: 1996 1997 1998 1999 2000 2001 2002 2003

Production in  
million tonnes :  

40 44 42 48 51 54 50 56 

  RÌPõq® ÂÁμzvØS Põ»zöuõhº Á›ø\ Áøμ£h® 
Áøμ¢x ÷£õUQøÚU PõsP. 

Bsk : 1996 1997 1998 1999 2000 2001 2002 2003

EØ£zv 
(ªÀ¼¯ß hß) :  

40 44 42 48 51 54 50 56 

Or 

 (b) Yield of ground nut in Kharif season in India for the 
years 2003-04 to 2009-10 are given below. Calculate 
3-year moving averages. 

Year 2003-04 2004-05 2005-06 2006-07 2007-08 2008-09 2009-10

Yield 
(kg/hectare) 

1320 909 1097 689 1386 1063 835 

  J¸ Põ›¨£¸ÁzvÀ C¢v¯õÂÀ {»UPhø» 
ÂøÍa\À ¤ßÁ¸©õÖ Auß 3 Á¸h |P¸® 
\μõ\›ø¯U PnUQkP. 

Á¸h® 2003-
04 

2004-
05 

2005-
06 

2006-
07 

2007-
08 

2008-
09 

2009-
10 

ÂøÍa\À 
(QQ/öíU÷hº) 

1320 909 1097 689 1386 1063 835 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. What are the precautions to be considered for tabulation 
of data? 

 uμÄPøÍ AmhÁøn¨£kzx® ÷£õx PÁÛUP ÷Ási¯ 
•ßöÚa\›UøPPÒ ¯õøÁ? 

17. Find the standard deviation for the distribution given 
below:  

x : 1 2 3 4 5 6 7

Frequency : 10 20 30 35 14 10 2

 R÷Ç öPõkUP¨£mh ÂÁμ[PÐUSz vmhÂ»UP® Põs. 

x : 1 2 3 4 5 6 7

{PÌöÁs : 10 20 30 35 14 10 2

18. Given the following data, estimate the marks in statistics 
obtained by a student who has scored 60 marks in 
English. 

 Mean of marks in statistics = 80, Mean of marks in 
English = 50, S.D. of marks in statistics = 15, S.D. of 
marks in English = 10 and coefficient of correlation = 0.4. 

 ¦ÒÎ°¯¼ß \μõ\› ©v¨ö£s 80, B[Q»zvß \μõ\› 
©v¨ö£s 50, ¦ÒÎ°¯¼ß vmh Â»UP ©v¨ö£s 15 
B[Q»zvß vmh Â»UP ©v¨ö£s 10 ©ØÖ® JmkÓÄU 
öPÊ 0.4 GÚ öPõkUP¨£mkÒÍx. B[Q»zvÀ 60 
©v¨ö£s ö£Ö® ©õnÁß ¦ÒÎ°¯¼À ö£Ö® 
©v¨ö£sønU PõsP. 
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19. Construct the consumer price index number of 2015 on 
the from the following data using (a) the average 
expenditure method and (b) the family budget method. 

Commodity Quantity consumed in 2014 Price in 2014 Price in 2015
A 6 quintal 5 6 
B 6 quintal 6 7 
C 1 quintal 5 6 
D 6 quintal 6 7 
E 4 kg 7 8 
F 6 kg 8 9 

 RÌUPsh uμÂ¼¸¢x 2015 B® BskUPõÚ ~Pº÷Áõº 
Âø» SÔ±mk Gsøn (A) \μõ\› ö\»ÂÚ •øÓ  
(B) Sk®£ ÁμÄ&ö\»Ä vmh •øÓ¨£i PõsP. 

ö£õ¸mPÒ 2014 B® Áõ[P¨£mh AÍÄ Âø» 2014 Âø» 2015

A 6 SÂshõÀ 5 6 
B 6 SÂshõÀ 6 7 
C 1 SÂshõÀ 5 6 
D 6 SÂshõÀ 6 7 
E 4 QQ 7 8 
F 6 QQ 8 9 

20. Following data gives the yield of food grains in India for 
the years 2000-01 to 2009-10. Find the trend values using 
4 years moving averages. 

Year 2000-01 2001-02 2002-03 2003-04 2004-05 2005-06
Yield (kg/hectare) 1626 1734 1535 1727 1652 1715 

       
Year 2006-07 2007-08 2008-09 2009-10   

Yield (kg/hectare) 1756 1860 1909 1798   

 2001&01 •uÀ 2009&10 Áøμ°»õÚ C¢v¯õÂß EnÄ 
EØ£zv ÂÁμ® R÷Ç öPõkUP¨£mkÒÍx. 4 Á¸h  |P¸® 
\μõ\›ø¯¨ £¯ß£kzv ÷£õUS ©v¨¦PÒ PõsP. 

Á¸h® 2000-01 2001-02 2002-03 2003-04 2004-05 2005-06
ÂøÍa\À (QQ/öíU÷hº) 1626 1734 1535 1727 1652 1715 
       
Á¸h® 2006-07 2007-08 2008-09 2009-10   
ÂøÍa\À (QQ/öíU÷hº) 1756 1860 1909 1798   

 
———————— 
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U.G. DEGREE EXAMINATION, APRIL 2025 
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Allied – OFFICE MANAGEMENT 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What is the meaning of office? 
 A¾Á»P® Gß£uß Aμzu® GßÚ? 

2. What is communication management? 
 öuõhº¦ ÷©»õsø© GßÓõÀ GßÚ? 

3. Who is the office manager? 
 A¾Á»P ÷©»õÍº ¯õº? 

4. What is office work? 
 A¾Á»P ÷Áø» GßÓõÀ GßÚ? 

5. What is office organization? 
 A¾Á»P Aø©¨¦ GßÓõÀ GßÚ? 

6. What is organizing office? 
 JÊ[Pø©US® A¾Á»P® GßÓõÀ GßÚ? 

7. What is a record? 
 £vÄ GßÓõÀ GßÚ? 

Sub. Code 
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8. What is the office stationery? 
 A¾Á»P ì÷håÚ› GßÓõÀ GßÚ? 

9. What is office layout? 
 A¾Á»P uÍÁø©¨¦ GßÓõÀ GßÚ? 

10. What is office accommodation? 
 A¾Á»P u[Sªh® GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the nature of office management. 
  A¾Á»P {ºÁõPzvß ußø©ø¯ ÂÍUSP. 

Or 

 (b) Explain the office automation. 
  A¾Á»P Bm÷hõ÷©åøÚ ÂÍUSP. 

12. (a) Explain the role of the office manager. 
  A¾Á»P ÷©»õÍ›ß £[øP ÂÍUSP.  

Or 

 (b) Explain the leadership qualities of manager. 
  ÷©»õÍ›ß uø»ø©¨ £s¦PøÍ ÂÍUSP. 

13. (a) Explain the contents of organizational chart. 
  {ÖÁÚ ÂÍUP¨£hzvß EÒÍhUP[PøÍ ÂÍUSP. 

Or 

 (b) Explain the factors care office organization. 
  PõμoPÒ £μõ©›¨¦ A¾Á»P Aø©¨ø£ ÂÍUSP. 

14. (a) Explain the benefits of the office manual. 
  A¾Á»P øP÷¯miß |ßø©PøÍ ÂÍUSP. 

Or 
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 (b) How to prepare the effective manual? 
  £¯ÝÒÍ øP÷¯møh GÆÁõÖ u¯õ›¨£x? 

15.  (a) Explain factors in layout. 
  Aø©¨¤À EÒÍ PõμoPøÍ ÂÍUSP. 

Or 

 (b) Explain the use of office machines and equipment. 
  A¾Á»P C¯¢vμ[PÒ ©ØÖ® E£Pμn[PÎß 

£¯ß£õmøh ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the functions office. 
 ö\¯À£õkPÒ A¾Á»Pzøu ÂÍUSP. 

17. Explain the essential qualities of an efficient office 
manager. 

 vÓø©¯õÚ A¾Á»P ÷©»õÍ›ß Azv¯õÁ]¯ Sn[PøÍ 
ÂÍUSP. 

18. Explain the line and staff organization. 
 Á› ©ØÖ® £o¯õÍº Aø©¨ø£ ÂÍUSP. 

19. Explain the computer based systems in offices. 
 A¾Á»P[PÎÀ PoÛ Ai¨£øh°»õÚ Aø©¨¦PøÍ 

ÂÍUSP. 

20. Explain the Mechanization and office automation. 
 C¯¢vμ©¯©õUPÀ ©ØÖ® A¾Á»P Bm÷hõ÷©åøÚ ÂÍUSP. 

———————— 
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MARKETING  
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define market. 

 \¢øuø¯ Áøμ¯ÖUP. 

2. What is buying motives? 

 Áõ[S® ÷|õUP[PÒ GßÓõÀ GßÚ? 

3. Definition of product. 

 u¯õ›¨¦ Áøμ¯øÓ. 

4. What is meant by customer market?  

 ÁõiUøP¯õÍº \¢øu GßÓõÀ GßÚ? 

5. Define branding. 

 •zvøμ°kuÀ Áøμ¯ÖUP.  

6. What is brand loyalty? 

 ¤μõsm Â_Áõ\® GßÓõÀ GßÚ? 
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7. Briefly explain price sensitivity. 

 Âø» EnºvÓøÚ _¸UP©õP ÂÍUSP. 

8. Explain price. 

 Âø»ø¯ ÂÍUSP. 

9. Write a short note on augmented product. 

 ÷©®£kzu¨£mh u¯õ›¨¦ £ØÔ J¸ ]Ö SÔ¨ø£ 
GÊuÄ®.  

10. Definition of personal selling. 

 uÛ¨£mh ÂØ£øÚ Áøμ¯øÓ. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the approaches to the study of marketing? 

  \¢øu¨£kzu¼ß £i¨¤ØPõÚ AqS•øÓPÒ 
GßÚ? 

Or 

 (b) What is the requirements successful segmentation? 

  öÁØÔPμ©õÚ ¤›Âß ÷uøÁPÒ GßÚ? 

12. (a) What are the stages in product life cycle? Explain. 

  u¯õ›¨¦ ÁõÌUøPa _ÇØ]°ß {ø»PÒ GßÚ? 
ÂÍUPÄ®.  

Or 

 (b) Define the following : Product width, length, depth 
and consistency. 

  ¤ßÁ¸ÁÚÁØøÓ Áøμ¯ÖUPÄ® : u¯õ›¨¦ AP»®, 
}Í®, BÇ® ©ØÖ® {ø»zußø©.  
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13. (a) Explain the key elements of brand equity. 

  ¤μõsm DUÂmi°ß •UQ¯ TÖPøÍ ÂÍUS[PÒ.  

Or 

 (b) What is cost based pricing? Explain different 
methods based on cost. 

  ö\»Ä Ai¨£øh°»õÚ Âø» {ºn¯® GßÓõÀ 
GßÚ? ö\»Âß Ai¨£øh°À öÁÆ÷ÁÖ 
•øÓPøÍ ÂÍUSP. 

14. (a) What are the various kinds of pricing? 

  £À÷ÁÖ ÁøP¯õÚ Âø» {ºn¯® GßÚ? 

Or 

 (b) Describe the factors affecting pricing decisions. 

  Âø» wº©õÚ[PøÍ £õvUS® PõμoPøÍ 
ÂÁ›UPÄ®.  

15. (a) What are the merits and limitation of personal 
selling? 
uÛ¨£mh ÂØ£øÚ°ß uSvPÒ ©ØÖ® Áμ®¦PÒ 
GßÚ?  

Or 

 (b) What are the criticisms of advertising?  

  ÂÍ®£μ® £ØÔ¯ Â©º\Ú[PÒ GßÚ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. What are the factors influencing marketing concept?  

 \¢øu¨£kzu¼ß P¸zøu £õvUS® PõμoPÒ GßÚ? 

17. What are the different features of product differentiation?  

 u¯õ›¨¦ ÷ÁÖ£õmiß öÁÆ÷ÁÖ A®\[PÒ GßÚ? 
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18. What is cost based pricing? Explain different methods 
based on cost. 

 ö\»Ä Ai¨£øh°»õÚ Âø» {ºn¯® GßÓõÀ GßÚ? 
ö\»Âß Ai¨£øh°À öÁÆ÷ÁÖ •øÓPøÍ 
ÂÍUS[PÒ.  

19. Bring out the difference between marketing and selling. 

 ©õºUöPmi[ ©ØÖ® ÂØ£øÚUS® Cøh÷¯ EÒÍ 
Âzv¯õ\zøu öÁÎ¨£kzx[PÒ.  

20. Advertising is wasteful”. Do you agree? Give reasons. 

 ‘‘ÂÍ®£μ® Ãs’’ }[PÒ J¨¦UöPõÒQÕºPÍõ? 
Põμn[PøÍU TÖ[PÒ.  

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What do you mean by present value of bill? 

 uØ÷£õøu¯ ©v¨¦ GßÓõÀ GßÚ? 

2. Write the meaning of depreciation. 

 ÷u´©õÚzvß Aºzuzøu GÊx[PÒ. 

3. What is common logarithm? 

 ö£õxÁõÚ ©hUøP GßÓõÀ GßÚ? 

4. What is product rule of logarithm? 

 ©hUøP°ß u¯õ›¨¦ Âv GßÓõÀ GßÚ? 

5. Write the meaning of universal set. 

 E»PÍõÂ¯ öuõS¨¤ß Aºzuzøu GÊx[PÒ. 

6. What is Venn diagram? 

 öÁß Áøμ£h® GßÓõÀ GßÚ? 
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7. Define expected value. 

 Gvº£õºUP¨£k® ©v¨ø£ Áøμ¯ÖUPÄ®. 

8. State Bayes’ Theorem. 

 ÷£´ì ÷uØÓ®. 

9. Define the binominal distribution. 

 ø£ÚõªÚÀ Â{÷¯õPzøu Áøμ¯ÖUPÄ®. 

10. What is the variance of poisson distribution? 

 Â{÷¯õPzvß ©õÖ£õk GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b) 

11. (a) A man deposits a certain sum of money into bank.  
It amounts to Rs.12,325 in 8 years and amounts  
to Rs. 13,565 in 10 years. Find out the sum invested 
and also the rate of simple interest offered by the 
bank. 

  J¸ ©Ûuß J¸ SÔ¨¤mh öuõøPø¯ Á[Q°À 
öh£õ]m ö\´QÓõß. Cx 8 BskPÎÀ ¹.12,325 
BPÄ®, 10 BskPÎÀ ¹.13,565 BPÄ® C¸US®. 
•u½k ö\´¯¨£mh öuõøP ©ØÖ® Á[Q ÁÇ[S® 
GÎ¯ Ámi ÂQuzøuU PshÔ¯Ä®. 

Or 

 (b) Explain the different types of annuity in detail. 

  £À÷ÁÖ ÁøP¯õÚ Á¸hõ¢vμ[PøÍ Â›ÁõP 
ÂÍUS[PÒ. 

12. (a) Show that ( )[ ] 116logloglog 222 = . 

  A¢u £vÄ2 [£vÄ2 (£vÄ2 16)] = 1 Gß£øuU Põmk. 

Or 
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 (b) Explain the Logarithm rules and properties  
in detail. 

  ©hUøP ÂvPÒ ©ØÖ® £s¦PøÍ Â›ÁõP 
ÂÍUS[PÒ. 

13. (a) State the Demorgan’s law by drawing  
Venn diagram. 

  öÁß Áøμ£hzøu ÁøμÁuß ‰»® öh÷©õºPÛß 
\mhzøuU SÔ¨¤hÄ®. 

Or 

 (b) If { } { }9,7,3,2,5,4,3,1 == BA  are set and 
{ }9,2,1 =X  is the universal set, prove that 

  (i) ( ) ( )BABA ′∩′=′∪  

  (ii) ( ) BABA ′∪′=′∩  

  { } { }9,7,3,2,5,4,3,1 == BA  Aø©UP¨£mk 

{ }9,2,1 =X  Gß£x E»PÍõÂ¯ öuõS¨£õP 
C¸¢uõÀ, Aøu {¹¤UPÄ®. 

  (i) ( ) ( )BABA ′∩′=′∪  

  (ii) ( ) BABA ′∪′=′∩  

14. (a) A box contain 10 pair of shoes. If 8 shoes are 
randomly selected, what is the probability that 
there is  

  (i) no complete pair  

  (ii) exactly one complete pair? 

  J¸ ö£mi°À 10 ÷áõi Põ»oPÒ C¸US®. 8 
åýUPÒ ÷uõμõ¯©õPz ÷uº¢öukUP¨£mhõÀ, 

  (i) •Êø©¯õÚ ÷áõi CÀø»  

  (ii) \›¯õP J¸ •Êø©¯õÚ ÷áõi C¸¨£uØPõÚ 
{PÌuPÄ GßÚ? 

Or 
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 (b) A lot consists of 10 good articles, 4 with minor 
defects and 2 with major defects. Two articles are 
chosen from the lot at random  
(without replacement). Find the probability that  

  (i) both are good,  

  (ii) both have major defects,  

  (iii) at least 1 is good,  

  (iv) at most 1 is good,  

  (v) exactly 1 is good,  

  (vi) neither has major defects and  

  (vii) neither is good. 

  J¸ {øÓ¯ 10 |À» PmkøμPøÍU öPõskÒÍx,  
4 ]Ô¯ SøÓ£õkPÐhß ©ØÖ® 2 ö£›¯ 
SøÓ£õkPÐhß. Cμsk PmkøμPÒ ^μØÓ •øÓ°À 
(©õØÖ CÀ»õ©À) »õmiÀ C¸¢x 
÷uº¢öukUP¨£kQßÓÚ. RÌUPsh {PÌuPÄ PõsP. 

  (i) Cμsk® |À»øÁ,  

  (ii) Cμsk® ö£›¯ SøÓ£õkPøÍU 
÷uº¢öukUP¨£kQßÓÚ, 

  (iii) SøÓ¢u£m\® 1 |À»x,  

  (iv) AvP£m\®,  1 |À»x, 

  (v) \›¯õP 1 |À»x, 

  (vi) GxÄ÷© CÀ»õu {PÌuPøÁU PshÔ¯Ä® 
ö£›¯ SøÓ£õkPÒ ©ØÖ®  

  (vii) Cμsk® |À»uÀ». 

15.  (a) Suppose that weather records show that on an 
average 5 out of 31 days in October are rainy days. 
Assuming a binomial distribution which each day of 
October as an independent trail, then the 
probability that the next October will have at most 
three rainy days is: 
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  AU÷hõ£º ©õuzvÀ \μõ\›¯õP 31 |õmPÎÀ 5 |õmPÒ 
©øÇ |õmPÒ GßÖ ÁõÛø» £vÄPÒ PõmkQßÓÚ 
GßÖ øÁzxUöPõÒ÷Áõ®. AU÷hõ£›À JÆöÁõ¸ 
|õÐ® J¸ _u¢vμ¨ £õøu¯õP C¸ö©õÈ¨ £QºÄ 
GßÖ øÁzxU öPõshõÀ, Akzu AU÷hõ£›À 
AvP£m\® ‰ßÖ ©øÇ |õmPÒ C¸US® {PÌuPÄ: 

Or 

 (b) Find the probability of exactly 4 defective tools in a 
sample of 30 tools chosen at random by a certain 
tool producing firm by using  

  (i) Binomial distribution and  

  (ii) Poisson distribution. The probability of defects 
in each tool is given to be 0.02. 

  J¸ SÔ¨¤mh P¸Â EØ£zv {ÖÁÚzuõÀ ^μØÓ 
•øÓ°À ÷uº¢öukUP¨£mh 30 P¸ÂPÎß 
©õv›°À \›¯õP 4 SøÓ£õkÒÍ P¸ÂPÎß 
{PÌuPøÁ 

  (i) Binomial Â{÷¯õP® ©ØÖ®  

  (ii) Poisson Â{÷¯õP® BQ¯ÁØøÓ¨ £¯ß£kzv 
PshÔ¯Ä®. JÆöÁõ¸ P¸Â°¾® 
SøÓ£õkPÎß {PÌuPÄ 0.02 GÚ 
öPõkUP¨£mkÒÍx. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. A machine costs a company Rs.1,00,000 and its effective 
life is estimated to be 20 years. If the scrap value  
is expected to realize for Rs.5,000 only, find the sum to be 
invested every year at 5% p.a C.I. for 20 years, to replace 
the machine which is expected to cost then 25% more over 
its previous cost. Assume that the proceeds from the sale 
of the scrap would be utilized for meeting the cost of the 
machine. 
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 J¸ C¯¢vμ® J¸ {ÖÁÚzvØS ¹.1,00,000 ö\»ÁõS® 
©ØÖ® Auß £¯ÝÒÍ B²mPõ»® 20 BskPÒ GÚ 
©v¨¤h¨£mkÒÍx. ìQμõ¨ ©v¨¦ ¹.5,000 US ©mk÷© 
QøhUS® GÚ Gvº£õºUP¨£mhõÀ, JÆöÁõ¸ Bsk® 
5% pa CI CÀ 20 BskPÐUS •u½k ö\´¯¨£h 
÷Ási¯ öuõøPø¯U PshÔ¯Ä®, Auß •¢øu¯ 
ö\»øÁ Âh 25% AvP©õP ö\»ÁõS® GßÖ 
Gvº£õºUP¨£k® C¯¢vμzøu ©õØÓÄ®. ìQμõ¨ø£ 
ÂØ£øÚ ö\´Áuß ‰»® QøhUS® Á¸©õÚ® 
C¯¢vμzvß Âø»ø¯a \©õÎUP¨ £¯ß£kzu¨£k® 
GßÖ øÁzxUöPõÒ÷Áõ®. 

17. Prove that 046/55log69/65log33/26log =+− . 

 £vÄ 26/33 – £vÄ 65/69 – £vÄ 55/46 = 0 Gß£øu 
{¹¤UPÄ®. 

18. A class has 175 students. The following is the description 
showing the number of students studying one or more of 
the following subjects in this class. Mathematics 100; 
Physics 70; Chemistry 46; Mathematics and Physics 30; 
Mathematics and Chemistry 28; Physics and Chemistry 
23; Mathematics, Physics and Chemistry 18. 

 Find 

 (a) How many students are enrolled in Mathematics 
alone, Physics alone and Chemistry alone; 

 (b) The number of students who have not offered any of 
these three subjects. 

 J¸ ÁS¨¤À 175 ©õnÁºPÒ EÒÍÚº. C¢u ÁS¨¤À 
¤ßÁ¸® JßÖ AÀ»x AuØS ÷©Ø£mh £õh[PøÍ¨ 
£iUS® ©õnÁºPÎß GsoUøPø¯U Põmk® ÂÍUP® 
R÷Ç EÒÍx. Pou® 100; C¯Ø¤¯À 70; ÷Áv°¯À 46; 
Pou® ©ØÖ® C¯Ø¤¯À 30; Pou® ©ØÖ® ÷Áv°¯À 
28; C¯Ø¤¯À ©ØÖ® ÷Áv°¯À 23; Pou®, C¯Ø¤¯À 
©ØÖ® ÷Áv°¯À 18. 

 (A) Pouzvm» ©mk®, C¯Ø¤¯¼À ©mk® ©ØÖ® 
÷Áv°¯¼À ©mk® GzuøÚ ©õnÁºPÒ 
÷\º¢xÒÍÚº; 

 (B) C¢u ‰ßÖ £õh[PÎÀ Gøu²® ÁÇ[Põu 
©õnÁºPÎß GsoUøP PnUQkP. 
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19. Explain the classical, empirical, and subjective schools of 
thought in probability theory. Discuss their strengths and 
limitations. 

 {PÌuPÄ ÷Põm£õmiÀ QÍõ]UPÀ, AÝ£Á ©ØÖ® 
AP{ø» ]¢uøÚ £ÒÎPøÍ ÂÍUS[PÒ. 

20. Glenn Howell VP of personnel for the Standard Insurance 
Company has developed a new training programme that 
is entirely self-paced. New employees work various stages 
at their own pace, completion occurs when the material  
is learned. Howellis programme has been especially 
effective in speeding up the training process, as an 
employee’s salary, during training, is only 67% of that 
earned upon completion of the programme. In the last 
several years, average completion of the programme has 
been in 44 days. With a standard deviation of 12 days.  

 (a) What is the probability that an employee will finish 
the programme between 33 and 42 days? 

 (b) What is the probability of finishing the programme 
in fewer than 30 days?  

 (c) What is the probability of finishing the programme 
in fewer than 25 or more than 60 days? 

 ìhõshºm Cß`μßì {ÖÁÚzvß £o¯õÍºPÎß 
UöÍß ÷íõöÁÀ VP, •ØÔ¾® _¯&÷ÁP©õÚ J¸ ¦v¯ 
£°Ø]z vmhzøu E¸ÁõUQ²ÒÍx. ¦v¯ FÈ¯ºPÒ 
u[PÒ ö\õ¢u ÷ÁPzvÀ £À÷ÁÖ {ø»PÎÀ ÷Áø» 
ö\´QÓõºPÒ, ö£õ¸Ò PØÖU öPõÒÐ®÷£õx {øÓÄ 
HØ£kQÓx. ÷íõöÁÀ¼ì £°Ø] ö\¯À•øÓø¯ 
ÂøμÄ£kzxÁvÀ C¢u vmh® SÔ¨£õP £¯ÝÒÍuõP 
EÒÍx, HöÚÛÀ J¸ £o¯õÍ›ß \®£Í®, £°Ø]°ß 
÷£õx, vmh® •i¢ux® \®£õvzuvÀ 67% ©mk÷©. Ph¢u 
£» Á¸h[PÎÀ, \μõ\›¯õP 44 |õmPÎÀ Czvmh® {øÓÄ 
ö\´¯¨£mkÒÍx. 12 |õmPÒ {ø»¯õÚ Â»P¾hß. 

 (A) J¸ £o¯õÍº 33 ©ØÖ® 42 |õmPÐUSÒ vmhzøu 
•i¨£uØPõÚ {PÌuPÄ GßÚ? 

 (B) 30 |õmPÐUSÒ vmhzøu •i¨£uØPõÚ {PÌuPÄ 
GßÚ? 

 (C) 25 AÀ»x 60 |õmPÐUS ÷©À {μø» •i¨£uØPõÚ 
{PÌuPÄ GßÚ? 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is ‘Double Insurance’? 

 ‘Cμmøh Põ¨¥k’ GßÓõÀ GßÚ? 

2. Define ‘Peril’. 

 ‘÷£μÈÄ’ Áøμ¯Ö. 

3. What do you mean by ‘Endowment Policy’? 

 ‘SÔ¨¤mh Põ» £õ¼]’ GßÓõÀ GßÚ? 

4. Define ‘Annuity Contract’. 

 ‘Á¸hõ¢vμ J¨£¢u®’ Áøμ¯Ö. 

5. State the need for medical examination in life policy. 

 B²Ò Põ¨¥mk £õ¼]°À ©¸zxÁ £›÷\õuøÚ°ß 
AÁ]¯zøu TÖP. 

6. What is ‘Past History’ in taking life policy? 

 B²Ò Põ¨¥mk £õ¼]°À ‘Ph¢u Põ» Áμ»õÖ’ GßÓõÀ 
GßÚ? 
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7. What do you mean by ‘Revival of Policy’? 

 ‘£õ¼]ø¯ ¦x¨¤zuÀ’ GßÓõÀ GßÚ? 

8. Define ‘Assignment’. 

 ‘J¨£øhzuÀ’ Áøμ¯Ö. 

9. What is ‘Marine Insurance’? 

 ‘PhÀ Põ¨¥k’ GßÓõÀ GßÚ? 

10. Indicate the conditions of marine losses. 

 PhÀ Põ¨¥mk |mh[PÎß {£¢uøÚPøÍ SÔ¨¤kP. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) State the classification of Insurance. 

  Põ¨¥miß ÁøPPøÍ TÖP. 

Or 

 (b) Indicate the principles of Insurance. 

  Põ¨¥miß ÷Põm£õkPøÍ SÔ¨¤kP. 

12. (a) Point out the types of life insurance policies. 

  B²Ò Põ¨¥mk £õ¼]°ß ÁøPPøÍ SÔ¨¤kP. 

Or 

 (b) How surplus will be distributed? 

  E£› GÆÁõÖ £Qμ¨£kQßÓx? 

13. (a) Mention the procedure for taking a life policy. 

  B²Ò Põ¨¥mk £õ¼] Gk¨£vÀ EÒÍ 
£i{ø»PøÍ SÔ¨¤kP. 

Or 

 (b) Explain the role of agent’s report in life policy. 

  B²Ò Põ¨¥miÀ •PÁ›ß AÔUøP°ß £[QøÚ 
ÂÍUSP. 
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14. (a) State the different policy conditions. 

  £À÷ÁÖ £õ¼] {£¢uøÚPøÍ TÖP. 

Or 

 (b) Write a note on ‘Surrender Value’. 

  ‘Âk©v¨¦’ £ØÔ SÔ¨¦ ÁøμP. 

15. (a) Explain ‘Reinsurance’. 

  ‘©ÖPõ¨¥k’ ÂÍUSP. 

Or 

 (b) Enumerate the emerging trends in Insurance. 

  Põ¨¥miÀ uØ÷£õøu¯ ÷£õUQøÚ ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. What are the essentials of a sound insurance plan? 

 ]Ó¢u Põ¨¥mk vmhzvß CßÔ¯ø©¯õU TÖPÒ ¯õøÁ? 

17. Discuss the fundamentals of life insurance contract. 

 B²Ò Põ¨¥mk J¨£¢uzvß Ai¨£øhU TÖPøÍ ÂÁ›. 

18. Explain the various hazards in taking a life policy. 

 B²Ò Põ¨¥mk £õ¼] Gk¨£vÀ EÒÍ B£zxUPøÍ 
ÂÍUSP. 

19. Compare ‘Assignment’ with ‘Nomination’. 

 J¨£øhzuÀ, {¯ªzuÀ ÷ÁÖ£kzxP. 

20. List out the different types of Marine Insurance Policies. 

 PhÀ Põ¨¥mk £õ¼]°ß £À÷ÁÖ ÁøPPøÍ £mi¯¼kP. 

———————— 


